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Answer any five parts
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(in)

(ii1)
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(V)

(vi)

What is the difference between A posipi
e Waten,

a normative statement ? Explain g,
B Cxap,
Pl

Does reduction in the price of a £00d jne
Teases
g

surplus 7 Explain why or why not

Why are irtdifTerEncé curves bowed iNwarg |
‘L‘f’hat is natural monopoly ? Explain wig, the 1,
an example.

Explain why the average and marginal revenye .
are horizontal for a firm in the perfectly compe:
market 7 -y

What is the difference bEtWElEﬂ the purchase pric::

the rental price of a factor ?
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Suppose QF = 2P and Q7 = 300 - P (Q° is quantity
supplied, Q7 is quantity demanded and P is the price
in R:upees of the commodity). Then -

(@) Find equilibrium price and quantity,

(5) If a tax of Rs, 30 Per unit is imposed on buyer,
find the price paid by buyer, price received by

seller and the Quantity sold,

(€)  Calculate deadweight |oss.
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Calculate cross price elasticity

between wheat and rice
using  midpoint methog from the

following
nformation ¢

4
Lime Period '
|

b

(in Rs, per kg.)

20
()uanlil}r of rice (in kg )

24

200 240
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If the government implements an effective rent control
o city, what will be its economic imptications: inshort
m s i

cun and the long run ? Explain using suitable

6
diagrams.
taxation lead to deadweight loss 7 What

v does the
3+2

are the determinants of deadweight loss 7

W wE (T w fee) 20
E‘Iﬁﬁﬁqﬁifﬁfﬁﬁ'ﬂmrﬁ-.} 200 240
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If Any? i
Nus marginal rate of substitution of X for Y is §

(A Y AX =
X = 5) and PEr umit price of X is Rs. 9 and

of Y is g '
5. 2. Is she Oplimizing her consumption ? If

- PT.Q,
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ves. then explain how. if not, then what chang, in
consimption bundle do you suggest for her 1o MAXIMiz,

her satisfaction 7 ,

(it Uxplain income effect and substitution effect 7 If Shy,.
divides his income between consumption and Saving

what will be the impact of increase in rate of interes;

on his savings 7 Explain with the help of income a4

substitution effects. 5

(##)  Why two indifference curves cannot intersect each other o

Explain using diagram. 3
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Why an economist’s and an accountant’s profit are
likely to be different 7 Mr. Harry decides to open his
restaurant. For this he has to leave his job where he
is eaming Rs. 60,000 per year. The other yearly expenses
are Rs. 40,000 on rent, Rs. 70,000 on raw material and
Rs. 50,000 on salary. Find Mr. Harry’s economic cost

and accounting cost for opening the restaurant. 5

Explain and show the relationship between short run

marginal cost and average variable cost curves. Can

marginal cost increase when the average variable cost

is declining ? Why or why not ? 5

Explain using diagram why a perfectly tnmpetitive firm,

.|ncurr|ng loss on fixed cost, will continue to produce
in short run.

5
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6. (i) Derive the upx-rard ﬂnpi_ng long run supply cury -
of a perfectly competitive market. Why might it
be upward sloping ? 4+

(i) What are the sources of monopoly 7 Explain and
show the deadweight loss created by a monopoly
firm when it is chargi:ng uniform price from all the
consumers. How will the deadweight loss change
if the firm slarts practicing perfect price

discrimination 7 Explain using diagrams, 2+4+3
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Consider a market in which the demand and supply

functions are :

P= 100 - 0.2 QP =40+ 0.1 Q° respectively, where
P is price, Q¥ is quantity demanded and the Qs is
quantity supplied.

[.}etenhine the price elasticity of supply at equilibrium
price | s
Derive the demand cyrve for labour when there is perfect

Competition in commodity and factor markets. 5

Explain how the increase in supply of capital will change

the equilibrium eamning of. other factor labour. 5

PT.O.
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Vi question paper contains B+3 printed pages and 6 Tables attached)
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(Write your Roll No. on the top immediately on receipt of this question paper,)
All questions within each section are to he. answered in a
continuous manner on the answer sheet. Start each question on a
* new page and all subparts of a question should follow one after

the other. .
Use of siﬁp[e calculator is permitted.
Required statistical tables are attached with ﬁ1¢ question paper.

This paper contains four sections. Attempt all sections, !

Section-1

Do any o out of Q. No. 1, Q. No. 2 and Q. No. 3.

e e
-

Given below is the distribution of marks of 100 students in

an examination.

T —

PTO. :



Do

L

Marks Obtained N,ml
Less than 10 T‘\h,
Less than 20 _\ﬁ_\‘\:
Less than 30 34_-‘*"“‘_
Less than 40 45_“*‘“
Less than 50 67 _—-ﬁ!
~Less than 60 86 =
Less than 70 EIS_ F
Less than Eﬂf %9
Less than 90 100
()  Make a histogram for the data above.
(ii) If possible, comment on the total area under the
histogram. 4
(a) ;‘?,huw that for given (n + ) numbers’
f{m;l}: (ne X, +K’ﬁ1—}:
(b)

If the average monthly spending by 21 women in a kitty
Eroup was Rs. 240, What is the new average spending

if another member is added whose average monthly

spending is 290 ? Use the formula above.

243
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i,

in a factory the monthly wages of 200 workers were noted

and they were found 1o be positively skewed. Draw 3

Led #/

representative frequency curve to show this skewness. The

Fa

leader of the workers argued with the management that

J = caverage’ wages are low. The owner of the firm did not agree
3

with the workers’ leader and suggested that ‘average ‘wages

quoted are wrong and are actually much higher. Can you justify

both the views, using your diagram ? Which view do vou

agree with and why ? . 5
Section-1I

Do any fwo out of Q. No. 4, Q. No. 5 and Q No. 6
* :

4 (@) A box of 9 socks containg 2 green and 7 red socks.

.[.z'} If 2 socks are selected at random from the box
without replacement, what is the probability that
both are red ? What would be the probability if
socks are selected with replacement ?

(if) If 3 socks are selected at random from the box

without replacement, what is the probability that
all are green ?

PT.O.
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(a)

(b)

(i) All 10 keys are tried.

L

The pmhahirity that both the events A and B &

cimultancously is 1/ and the probability of “""-Wfrcﬁf'

of neither of them 1s 4/15. Find the probabilities P

and P(B) on the assumption that the events ,

independent.

Show that if for any WO events E and F P(EF) > pj

then it is also true that P(E/F) = P(F). )

A real estate agent has a set of 10 keys. one of which

will open the front door of an apartment he wanis i

chow to a potential buyer. If the 10 keys are tried in

ely random u_rdcr',' find the probability that :

T

a complet

() The first key opens the door.

A box contains four dice out of which three aré fair

1nd the fourth is loaded-in such @ Way that the face

marked 5 appears in 60% of the tosses. A die is selected |

at random from the box and tossed. If it shows 5, whal |

is the probability that it was 8 loaded die ?
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{a)

()

(c)

UR2
Let E. F and G be evemts with probabilities 1/2, 1/3
and b, respectively, compute the probability that neither

of these three events occur assuming that the events

are mutually ndependent. 443+3

Six friends play a game in which they toss a coin one
by one. The game is won by the player who first throws

tail, Find the probability that the game is won by the
fourth player.

Two machines X and Y are to be marketed. The
probability that a salesman can sell machine X is 60%
while that of selling machine Y is 40%. Sale of ons
machine is independent of the other. Given that the

salesman is able to sell at least one machine, what is

the probability that machine ‘X has been sold ?

In a village of 1000 inhabitants, there are 630 who own

a television, 400 who own a mobile phone and 150 who

own both of these. If a person is selected from this

village at ranﬂqrn, what is the probability that he owns




Section-1N

Q. No. 7 is Compulsory. Do any two Guestions .
"

No. 8 . No. 9 and ), No, 10,

()

()

(a)

Find the probability distribution of total e, ol
oblained in four tosses of a balanced coin
If profit of a shopkeeper is looked upon as 2 CONtiny,

random variable having the probability densis,

f(x) = { li.“:n:+1,'l,—1-1:.-:r-r:5

1
J 0, elsewhere

Where the units are in Rs. 1000
()  What is his expected profit 7

(i) What is the variance and standard deviation o

the profit 7 24

1
If X has the discrete uniform distribution fx) = 7 %

x =12 ...k show that -

k+1
() Its mean is p = =g

k-1
" ) a. ﬂz - 3
(ify  Its variance is 13
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o
In & cenam oity, the primany cause of 70% of divorce
cases 1w found 1o be mcompatibility. Find the provhabili,
that five of the next six divorce cases filed in this city
will claim ncompatibility as the reason of divorce. Also

find the mean and variance of the divorce case filed.

Scores of a GRE examination are known to be normally
distributed with mean 420 and standard deviation 80

'h For a randomly chosen person taking this test.

what is the probability of a score between 400
and 480 7

(i) “Tmiaﬂtminimmnscmﬁneedﬂdhmﬂermht

in the top 10% of all people taking the test 7
tui)  Two people taking the test are chosen at random.
What is the probability. that at least one of them

scored more than 500 points 7 3+3
A teacher is supposed 1o meet stude;ts during regular
office hours, Times spa:nt with students follow an
exponential distribution with mean 10 minutes. Find the
probability that a given student spends less Ihar‘i 20
minutes with the teacher. How is exponential distribution

related 1o the Poisson distribution ?

PT.O.
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The number of days between billing and pay
mfl!!

electricity bills is normally distributed with Mean |
3 an |
"

standard deviation s

() How many days will have elapseq before |
I

of all bills are paid 7

() Afer how many days will 25% of all bills pagy,

unpaid ?

On an average, 2.5 telephone calls Per minute g
received at the Domino’s delivery counter. If distribygy
of calls is Poisson, find the probability that in any givg

minute there will be more than 3 calls, Il

Delhi university printing division received complaints fir
problems with printers of which 8 were laser prineTs
and 12 were inkjet printers, A sample of 5 complains
is to be included in a customer satisfaction surves
Suppose all 5 complaints are selected in a random
fashion so that each one has an equally likely chanc
of being selected. Find the probability that exactly ]

of the complaints were for inkjet printers.
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() It the probability is 0.40 that a child exposed to a certain
contagious disease will caich it, what is the probability

that the tenth child exposed to the disease will be

the third to catch it ?

(¢} If the probability is 0.20 that a certain bank will refuse

a loan application, then :

()  Find the probability th31 the bank will refuse at
_least 3 of the 10 apﬁlicatiuns_r&céive&

(i)  1f however the bank receives Iarée amount of

applications, say 225, then find the approximate

probability that the bank will refuse at most 40

of the 225 loan applications. Justify your approach

in calculating the desired probability, 3+3+4

Section-1V
MEmpt any two questions out of Q.'No. 11, Q. No. 12 and Q. No. 13
1.

Given any fo random variables X and Y.

() Show that plaX+b, cY+d) = ab*p(X,Y)/|(ab)

PTO
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v How are the concepts of correlation, Covariang,
i h

. - “wwo variables related ¢

Inl_—h-.]ﬂq,"'l'lﬂt nce of Twi 0 each ““]'ﬂ' 1
«plain in detail.

Exp 5".

You are given the following bivariate probability distrib,m“

table
y :
0 25 A 13
: C 0.02 0.10
2 0.1
e - 0.08 B

W) Fer what value of A, B and C the above table valid

a5 & probability distribution if P (X=0)=0.45. p (Y=2)
=0.35 9

(i) Find E(xry = N

(dif)

(v} Le

~ sum of
g o8 X and Y. Derive the probability *
Stribution gy, 7 '

2x5=10
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ts of a firm be defined by P = 5R = 2C where

C is cost

R and C are 4 and 9 (in thousands), respectively.

The variances of R and C are equal at 3.

(1)
(i)

(i)

()

(v)

(vi)

(i)

What is expected profit ?

What is variance of this profit ?

If E (RC) = 30, what will be -:uva'rli_ance (RC) and
correlation (RC) ? =,

What can you say about the relation between revenues

and costs 7

If new fixed costs of Rs. 3,000 are incurred now, what

are new expected profits 7
Define Z. = 2R + 3C, what is variance of Z ?

Are R and C independent ? - 10

" o
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tive Binomial Probabilities :
Table A.1 cumulati Buas i, py = biv: 6,
an=25%
__P
il 0.0k o1 020 025 030 040 050 060 070 075 080 0.9 095 0099
a 95 74 90 0 328 3T J16E . 078 0% AnD o2 oDy 00l 00D W D00
i R0 RTT S 737633 5280 337 L1BR 087 031 0le 0OT 000 D00 00D
£ & 100D D00 oD 242 mos L REIT7T  .6H3 SO0 317 163 .14 D38 009 1 Oh0
S B L R v B ) R PA4 909 913 RI2 643 AT 36T U263 0wy 023 o
4 1000 1000 1000 1.000 999 995 990 060 922 £32 J83 672 410 226 49
b.n=10 v
P
Do1 005 010 020 025 030 _{I.-M ﬂ.!’n_ﬂ 060 0.70 075 080 0.9 095 099
0 S 599 349 107 056 028 006 001 000 000 000 000 000 000 000
1 996 914 738 376 244 (149 46 011 002 000 000 000 000 000 000
1K) ORE a0 678 Sda XE3 JB7 055 012 002 000 000 000 UKD 000
3 1000 999 987 479 (776 650 382 172 055 011 004 001 00O OO0 000
4 1000 1000 998 967 922 850 633 377 166 04T 020 006 .0UO OO0 LK)
' S LODD LODO 1O0OD 994 980 953 B34 623 36T L1500 OTE 033 002 000 000
6 1.000 1000 1000 999 996 O8O 045 K2R 618 350 224 (121 013 001 000
7 1000 1000 1000 1000 1000 998 9BR 945 833 617 474 322 070 012 000
g 1000 1.000° 100D 1000 1000 1000 998 989 954 851 756 624 264 0BG .MM
‘g 1000 1000 L1000 1000 1000 1000 1008 999 994 972 O44 893 651 401 .09
c. n=15
F
001 005 010 020 025 030 040 050 060 070 075 080 0.9 095 0.99
0 B60 463 206 035 013 005 .000 000 000 000 000 000 000 000 000
1 990 829 549 167 080 035 005 000 000 000 000 00D .000. .000 0G0
2 1000 964 BI6 398 236 127 027 004 000 000 000 000 000 00 000
3 1000 995 044 648 461 297 09F DIE 002 000 000 000 000 000 000
4 1000 999 OR7' 336 6B 515 217 059 009 001 000 000 000 000 000
5 |000 1000 998 939 BS2 722 402 (151 034 004 001 000 000 000 000
6 1000 1000 LO0OO 982 943 860 610 304 095 015 004 001 000 000 000
¢ 7 1000 1000 1000 996 983 850 (TEY 500 213 050 017 004 000 K0 000
g 100D 1.000 LOOO 999 99 985 905 696 390 131 057 018 000 000 000
g 000 1.000 LOOO 1000 999 996 966 .B49 397 278 148 .061. .002 000 .000
10 1000 1000 1.000 LOOO 1.000 999 991 941 783 485 314 .164° 013 001 .000
i1 1000 1000 1000 LODO 1000 1000 998 9E2 909 703 539 352 056 005 000
(21000 1000 1000 1000 LOO0 1OO0 1000 99 973 K73 764 602 )B4 036 (KN
13 1000 1.000 1.000 1000 LOOO 1000 1OOO 1000 D95 0635 020 833 45 71 010
4 1000 1000 1000 1.000 1000 1.000 1ODD 1000 1000 995 SE7 965 704 537 140
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Table A.1 Cumulative Binomial Probabilities (cont.) : TR EH gs i, 1)

o
C 001 005 010 020 035 030 040 050 060 070 075 080 090 055 .99

RI® 358 =

122 012 003 001 000 000 600 000 000 000 Ay THKD LEHD
983 736 392 069 024 DO 001 000 D00 0D 00D 000 DOU D00 00
990 025 677 206 091 - 035 004 000 ODO 000 00 600 000 000 e
L000 984 867 A1l 225 107 016 001 000 000 000 000 000 oD D00
1000 997 957 630 415 238 051 006 000 000 000 000 000 DG 000

1000 1.000 989 804 617 416 (126 021 002 000 000 000 000 000
1000 1000 998 913 786 608 250 058 006 000 00O DU 000000
1.000 1000 1000 968 898 272 416 132 021 001 D00 000 000 A0
0G0 1000 1000 990 959 887 .59 - 252 05T 005 001 000 000 000
000 1.000 1000 997 086 952 755 412 128 O 004 001 000 000

10 1000 1000 1000 999 996 983 &N SR8 245 (48 .014 .003 000 .000
11 1000 1000 1000 1000 999 995 943 748 A4 113 041 010 000 KK
17 1000 1000 1000 1000 LDOO 999 . 979 868 .584 228 102 032 000 .000
13 1000 1000 1000 1000 LOOO 1000 954 942 750 392 214 087 002 000 .
14 1000 1000 1000 1000 1000 1000 998 979 874 5R4 383 196 .011 .000

15 1000 1000 1000 1000 LOOO LOOD LOOG 994 .49 J&2 S8R5 370 D43 003 000
6 1000 1.000 1.000 LODO 1.000 LOOD  1.000 990 084 893 775 589 .133 016 000
17 1000 1000 1000 1000 1LOOD 1000 1000 1.000 996 065 -.009 794 323 075 01
18 1.000 1000 1000 1000 LOOD 1000 1000 1.000 909 992 076 931 608 264 017
19 1000 1000 1000 1000 LOGD 1.000 LOGO 1000 1DDD 099 997 988 8T8 642 182

D OB =d % Ln T

§88ggggEs

{eantimwed )



Table A.1 Cumulative Binomial Probabilities (cont.)

383

Bix; o, p) = E By m, 2

]

v
e n =25
= _ : i
) 001 0.05 000 020 025 030 040 050 0.60 070 0.75 080 090 085 0.99
0 778 277 072 004 001 000 000 00D 000 000 00D 000 000 000 00O
! 974 642 271 027 007 002 000 00D .DOD D00 000 000 00O 000000
; 998 873 537 098 032 .009 000 QO0. 000 000 000 00D OO0 000000
2 LOD0 966 764 234 096 033 .00z oo 000 000 000 000 000 000 000
1000 993 " 902 "421 214 090 000 000 -0 ooo 000 000 000 00 l:u]]
5 1000 999 967 617 378 .93 029 002 000 000 DD 000 000 000 OO
6 1000 1.000 991 780 561 341 074 007 000 000 000 000 000 000 (000
7 1000 1000 998 891 727 512 154 022 001 000 000 .000 .ODO 000 OOV
8 LO00 1.000 1.000 953 .85] 677 274 054 004 000 000 000 00D 000 00O
9 LO00 1000 1000 983 920 811 425 115 013 000 00D 000 000 000 000
10 1000 1.000 1000 994 970 S02 586 212 .03 002 000 000 00D 000000
11 1000 1000 LOO0 998 980 9% 732 345 078 006 001 000 D00 000 000
12 1.000 1.000 1.000 1.000 997 983 846 .S00 154 017 003 000 000 000 000
13 1000 1000 1000 1.000 - 999 994 932 655 268 044 020 D02 0 000 OOU
14 1000 1000, 1.000 1000 1000 998 966 J88 414 098 030 K6 00000 000
15 1000 LOOO 1000 1000 1000 1000 987 B85S 575 189 071 017 .000 00O (KKY
16 1000 100D 1000 1000 100D 1000 996 946 726 323 149 (47 000 000 000
17 1000 1000 1000 1.000 100D 1000 999 978 B46  4ER 273 109 002 000 000
18 1000 1000 1000 1000 1000 1000 1ODD 993 926 659 439 220 009 OO0 000
19 1000 1000 1000 1000 1000 1000 LODD 998 971 RO7 622 3R3 033 000 (KK
a0 1000 LO0D. 1.000 1000 1000 100D 1000 JO00 991 910 786 579 09K OU7 LKK)
51 LOD0D LOOD 100G L1000 100D 100D LODD 1000 998 UA7T 904 J66 236 034 U0
29 1000 1000 1000 100D 100D 1000 LODOD 1000 1000 991 968 S02 463 (127 (KR
33 1000 1000 LOGO 1000 1ODD 100D LO00 100D 1000 998 993 973 729 A58 016
44 1000 1000 LOOD 100D 1000 100D LOOD LOOO LOODO 100D 999 996 928 723 312
Table A.2 ‘Cumulative Poisson Probabilities T
! FlirA) = E e A
i =i _T!
A
1 .o - 4 5 6 7 5 4 L0
0 ans B9 T41 B70 BT 549 497 449 407 168
| 895 OR2 63 938 810 878 B44 R0 T72 736
2 1.000 999 996 992 986 977 D66 053 9317 @20
4 1 - LOO0 1000 999 LTS 007 904 991 87 B8]
4 LODD L0000 D QT T 006
5 1.ODD 1000 1.0 G
e i IE— 77 S———



Table A.2 Cumulative Posson Probabulities {cont.) Fioerd E
. } - 1= .1' !
A
e 2.0 in 4.4 5.0 6.0) 7.0 R0 9.0 g 150 200
0 135 L1500 g 07 i o1 o 00 000 KL R
| 'jm R ‘ﬂgz ":L-IU .ﬂ'l? _m-? .D:H .ml Iﬂ]] ﬂ[ﬂ -m]]
2 677 423 238 125 062 030 014, 006 D03 LMD A0
3 857 B4 7 A33 65 151 (K2 W2 A2l AND L) M0
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Table A.3 Standard Normal Curve Areas
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There are six questions in all.
All questions are compulsory.
Use of simple calculator is allowed.

All parts of a question should be answered together.
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. Answer any fwo of the following :

(a)

(b)

W fo) = e

%,

Find the domain of the following functions -

¥

(i) )= v +2v-8

There are 56 students in a class. 30 of them op
Mal't:l.El'-I‘iElli(:E‘ 20 opt for Economics and 21 opt)
Geography. 13 of them opt for both Mathematics i
Economics, 12 of them opt for both Mathematics !
Geography, 11 of them opt for both Geoaraphy ¢
Economics, and 4 of them opt for Mathematics !

GEﬂngh}' U"!}"- Find the number of grudents who

opted for :
(f) Mathematics, Economics and Geography
(if) Only one of these three subjects

(#ii) None of these 3 subjects



(39 O%3

(Y Foreach of the follow mg propositions " and (), determine
whether ' is a necessary condition, or a sufficient

condition. or both necessary and sufficient for ¢ to be

%

trae 7
L Pog-x -8 — 16 <0)and Q:{_\:-} 0)
(i) Pilx+2(7T-»}=0and Q:(x=-20ry=T)

fr=ifes 4 8 f5dl @ & sm difw .
(%) M=iEfEd werl % WA (domain) F1d HIFAT

X

M T
(i7) )= Jv2+2v-8§

(@) wF *e1 | 56 fagandt & fod & 30 7o =1, 20

AV H A 21 PiEr F 9w E TEd Y
13 TG TS swdeme e, 12 i @ s
ﬁ%ﬁl,ll‘ﬂﬁﬂﬂﬁm-ﬁ?ﬂ.ﬂ4ﬁﬁﬂ
Wﬂwwwmﬁ{ﬁﬁ{qﬁﬁaﬁ
" T Fitw R fE Frefatan w e w0
o ' '

(i) Tﬁm,aﬁ?muﬁtg?m
Gy T ol A daw

(iii) _?T‘Tﬂ’i v # & wE A PT.O.
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(my frefafoa w9, Al H W YSE 7 sl
A 5

fF @ 1.0 % B W T SURE 4

L
i

IR G R E T EE § .
(i) P v — 8- Iﬂﬂu}ﬁm {_}{IJH
| )

(i) F'.[x+2}{?—_tr}=ﬂﬁmg;{x=_1qy

Answer any four of the following : | ki

(@) Graph » = (3 - x)* using the graph of y = ¥,

(&)

(<)

Show that the function flx) = x? + 2 defined on ¢
has an inverse function g. Find g. Show graphicallyf

fx) and g(x) are symmetric about the line y = ©

A manufacturer can produce economics textbooks at

of ¥ 20 per book. The text currently sells for T 40,1

at this price 20 books get sold each day. The manufac?

figures that each time the price of the textbook is drofi

by 5, he manages to sell 5 additional copies. Delenut

' I
the profit maximizing number of copies and suggest

. | | A
the manufacturer should change his pricing of the text

to maximize his profits.
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Solve the following euations for y

aagl
() ROwE 1)

(i) N2 08 I x=p 25
Given the implicit function defined for all v # 0 as -
Fry- e

Find the equation of the tangent to the function. which

is parallel to the y-axis, Specify the additional restriction(s)

that need to be placed on values of x and y (if any),

ﬁm’%ﬂﬁmﬁﬁfﬁmaﬁﬂ:a‘lﬁq:

(F) ¥= 0% i@ B W A - 5 - o = st

E)mﬁ r?ﬂ?qﬁwtﬁﬂﬁt

TR

¥+ 2 &

() Wﬁﬁﬁhﬂmﬁq@mﬁ?mﬁ

: 1-,
Waﬁwﬁﬂmmﬁiﬁﬁqﬁﬁ%m |
?mﬁfﬁu—rﬁﬁﬁmmﬁqﬁmﬁfﬁzngﬁﬁ?

PT.O.
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farwat €1 fﬁmﬂm?ﬁﬁﬂiﬁﬁ
mmqﬁﬁmﬂﬁzﬁﬂm% ®

Wﬂuﬁﬂﬁﬂmhuﬁﬁaﬁ-ﬁ%
mﬁm?ﬁfﬁmﬂﬂﬂ ARTFTH T AW Ffan
1 oy ® AETH FE B T
Ty Epsiio Afa # fBFE TR A F g
@ wt § g

(%) Frefafan wdFE@l # o« ¥ T R

256011

= 10

(ii) n¥?-05mhx=1In25

(T) x207%h Hvﬂmﬁi%ﬁy_aﬂxﬁa T FE (implic
.Functinn}ﬁ?fﬂ?ﬂxi+g~—f=lﬂi-’lﬂﬁﬂﬁﬁﬁ:
< 1 TE FeE % A oA FHA W
Y & T @ F 1 d p S A WA
T T st s (aft w & @) @
Je@ FIAC |

Answer any three of the following : x5 =

(@) Examine the convergence of the following series and IY
the sums when they exist :

| |
. y .
1+x  (l+x)°

(1) 1+




{ 79) Y83

(FY  Evaluate the following limis -

 xi39.3
(0 lim =77

v+ X

ST L AR
' Iim t— t —

-0y oyl

W Locate the pomnt(s) of dismntinuity of the following

tunction

x+1

b

Can the function be redefined such that it becomes

continuous for all v & R ?

i
d (1) Show that fix) = - 3'+ ~ has at least one root.

(if) Verify if the mean value theorem holds for

y‘—‘,,‘x—.}ifnrxlri(— DD,'[II'_L
Feffan 4 3 fed 99 & sw dfw .

(%) ﬁ-’lﬂfr‘-fﬁga ”I@ﬁ]’aﬁ Ea \'-‘Hﬁmw -(::unufrgente} %ﬁ
S #if & el 3 e fomm & =% 9w

(i) RN
l+x (14+x)? i

.. = | 1+

(

? E]:SH—Z}

RT.O.
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Answer any three of the following :

(er)

v &9
{1 lirm i
i
X L4
{iN him - |
\ | i

() mﬁ'ﬁ?ﬂ,ﬂ=u3+—_ FHAHT

(1) rei—r,ﬂ]ﬁﬁ:{y=|1_3 %ﬁ:"lf
HA YHY (Mean Value Theorem) 17 el

TAF] HAfud Fifa |

3xj -

Suppose an amount of T P is invested at rate of intr

r100% for m years and interest 15 compounded # Ll

a year,



L

(e}

tr"}

(i)

(#1)

(£}

(i)

Suppose you own a parcel of land
from now is 1) = 300
is 10%

advantageous time to sell the

(") 083

Find the amount after m vears.

Find the annoal rate B 100% which uives the same

amount as i () i interest is compounded

continuously,

Is R100% greater than r100% ? Why or why not ?

J
Wy = — where v = w(t) and v = vi1) where ¢
=%

is time, express the rate of growth of y (r,) in
terms of the rate of growth of u (r,) and rate

of growth of v (r,).

If puplﬂatliun grows according to the function

P = Py(2)" and consumption by function

C = Coe". find the rate of growth of per capita

consumption,

whose value 1 vears

. Ifthe prevailing rate of interest

compounded continuously, when will be the most

land. Interpret the first order

and second order conditions for maxima,

(i)

i)

d | xY1x-14
Evaluate ; —| 2 =71

del (1+x29
' - 48y
Ifx* + 34 = 16, prove that - y" = T

BT.O.
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+) wr sif f @2 ® T Trfi‘T F r100% F 5,
=z, o f gfeed p AW THIE AR T Gy,
S @ ol ¥y frAfom # ST E

4.

!

(1 m_ﬁ'tﬁmﬂﬁmm|

treft anfii =S T R100% T TIUAT 3y
St fr st @ ufen TRl <@ R fm
fiF TR WM () H WE W E, AR ey
F T THGG FUR T G S L

(i)

Giy T ORI00% B r100% TB & 2 F A F
T ?

(@ () Wy= = T =), v =) T
%r T‘ﬂyﬁﬁ' Tﬁ 4 {r_r,'la'?f uﬁt_'{fz'?'
(r,) 4 1*@?@3’{'{r1,]ﬁ?‘qﬁﬁﬁﬂﬁfﬁﬁﬂ

iy  afs FEET H gfy, wed po- P2yt
IR et & qE 39 | wer ¢ = O
% AR, o Wi st sedm # g6C
s



(1) | 983

(M #E W9 s 9% U pavs et wid
S R T WA () = 3000 Bl Afy wafem
= T 0% IR wm wwefs s w S
SR, R I Y@ S w1 e e
T wH-W AT ? 3w ¥ w3 gfadm
FH ®H VA R TSN it

d | x37x-14 | 3
(EF} (1) IL {l+.‘l‘1}'l' ]EET':[F[ E"-ﬂ |

- —48x?
@) ARy = 16 T g i R -

W

Answer any three of the fol lowing : 3x5 =15

(@)  Find the absolute maximum and minimum values of

J) =2 — 156 + 24x + 2 on [0, 2] and determine-where
these values occur,

(h) () If *a” and *p’ are positive numbers, find the

maximum gnd minimurm valye of flx) = xa(1 — xy
in [0, 1].
(i)

- Show that the curye Y =ax' + byl + ex has the

inflection point at it stationary point if b2 = 3gc.

Does the function change from concaye 10 convex

or convex tq concave ?

PT.O.
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T

() Find the ahsolute maximum and minimum for the (01l
i

funetion. Does the Extreme Value Theorem (EVT) app
¥

Graph fix).

() Find the intervals on which function is concave apg
. 0

convex for the following functions :
(i) Yrxl+x+]

(if) {_-;3.*3 . ]}3
frfafag & 4 feel @9 &% S EiNT - 6.
(F) flx) =26 — 152 + 24x + 2 % [0, 2] H Ty T
5 ferm wA # 9 S g 3 99w W
o & fifa i) |
(=) ﬂﬁaabﬂﬂmm@%ﬁ‘r[ﬂn
flx) = x(1 — x) & IoAOH & A AT
Fifera |
(if) mﬁﬁ'ﬁﬁj—ﬂ_ﬂ+bﬂlkcr'ﬁﬁg

ﬁiﬁﬁ%ﬁﬁﬂmwﬁb—ﬂm'”
FoH oA | 39 AW & @ I

amrﬂ?
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(M i e 3 Aoy a3 fers Tm

FINAT| TN AA W ] AW 7 ) H

citee e CiEnl
l p X <2
)= l—.TJ+3J' x=2
re -1, 4]

() Tr=fafen werl ¥ 9 o m Wi Hifo et A

A AW 9 -

(7) Vel ax+]

@) @@=y

Answer all the questions :

(a)

(b)

263 =6

(/) Find antiderivative of | 27 - 4 |,

2
(i) Compute derivative of Gilx) = ]‘I'T (2 =3¢) i

Or

Calculate the area bounded by the curves fix) = 2 — 42

and g(x) = x, .
Find the solution(s) of the following difference equations.
If equilibrium EXists,

and Erscillamr:-,rfnun-us:illatury ;

PT.O.

is the time path qﬂnv'ergentfdivergem_
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i LT R A L Ao s
(i dx, - 16 = 4x, | Xy
(h

Suppose v, denotes fish population in a pond g fin
If the dvnamic behaviour of the fish population is E0ven
by the difference equation :

Vo= @ - + 10

Find the steady state number of fish »* and sketch a g

of v, for @ = 0.5, where the initial value y; < 3*.

Tt 3vH % IW cIfAU

(F) () |24 | Uid-aHes @ 0

(i) Glx)= ji': (2 —31) di T THES T FIA

-9 A{YEh W svad qen e
e & 2

A
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| Arempt sny five parts

i

.

vi.

jii.

As o tnx grows larger its deadweight loss grows larger too. Is this » m.ﬂm
normative statement? Explain. ™
When Neha and Malini go shopping, Neha always huys apples for 5
Malini always buys 4kg apples. What is the price elasticity of demang .,m;:
Malini snd Why?
Ashok derives equal marginal utility from consuming ice-cream and wppje, v
mecessarily maximizing his wtility il he consumes only these two goods |
Al the current level of output a firm's average variable cost, AVC = 11,
cost, AFC=20 and marginal cost MC=1 |0, Is the firm operating at mﬂ:.:l
Explain why or why not. i
A perfectly price discriminating monopolist is maximizing his profits, Show g,
surplus and producer surplus in this market.
Why s the demand for factors such as labor a derived demand? E.'n;p-igin_

mnmm!ﬂﬁmmhﬂzmﬁmnmﬂrtrwwwm
T Priwess? wrmm #ifam
mmmmmtﬁmﬂtﬁmﬂmmmmﬂrnﬂumm.
T 4 B 9 e #) G ol afed @ win A P we &

T W AEE 00 T F ST A O W A awdie we oeh 8 o v
= Tl W 0 S W e f o 7w o ¢ s e e g
mthmﬂﬁﬂ_ﬁﬂnﬁﬂmmﬁvﬂ-lm.hmm~
AFC=20 wen i @vm MC=110 & == o %7 wR o orare s w8 07 o s
ﬁimhnimﬂrWMﬁmmmm#rnmimhu
wrew anfren TvigY |

W 9 e o wi aEe St e 87 s e

Explain how a production possibility frontier highlights the ideas of scarcity, 1
and efficiency.

Explain using examples why demand for some products is likely to be more e
long-run than in the short run.

mmmm:mwmmwmmmw'”
b y
=5 wrm T i o W o @ v W e ey g el At @0
wiforg fis 7wt ww, off @ o o Rawed @ wn vy o
wen B wer W uen Wi My wdt ape weore o i dndere 4 e 0
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Civen the followng demand and supply curves

Q.- 00 5P (Where (0, is the quantity demanded and I is the price]

Q.= 5P 1 { Where 0, is the quantity supplied)

At of Rs 10 per unit bought is imposed on buyers. Find the change in the (a) price paid
b+ the buver (b) price received by the seller and (c) quantity traded, i)

Exnisin how the invisible hand of the marketplace leads buyers and sellers to alloeate

rescuroes efficienty (4)

Suppose that the govemment imposes  binding price floor in the wheat market. What
woukd be the effect of this policy on the quantity of wheal bought and sold? Would the
toial revenue of the farmers increase or decrease? Explain. (5)

for o o g s 2 oo R

Qe = 500 - 5P (met Qg wim ot srm o Py £)

Q= 5P - 100 (et Q, Y o 7= B

whees T 0 et of T m M T e ¢ o g e A oftwds @ v @) o
g et md o () Rt g o of e o () a4 A

e iy o wone # v agr w B W i v fmm @ dr e ) g e
finfn w= o B

o= A % wew tE # wow § aw S S o e #) e i w g o addh mn
i w w e e s fee 9 ogE el ol m wh? amn A

‘Income elasticity of demand for a product is - 1. 17 the price of the product falls, the
consumer will always buy less of this product.” Do you agree with the statement? Why or
why not? Explain. {5}
Arjun spends his entire pocket money of Rs 1200 on purchase of rwo goods, chocolate
and Pepsi. His optimal consumption is 10 units of each, when the price of a chocolate is
Rs 40) and the price of Pepsi is Rs B0 per bottle. Draw his budget constraint and using
indifference curve, show his optimal consumption bundle. Draw his new budget
constrainl if the price of a chocolate increases to Rs 80 and that of a Pepsi bottle

decreases to Fs 40, Can he still afford the same bundie? IT so, would he buy the same
bundle at equilibrium? Explain. (6)
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1.

il

4

How do economies and diseconomics of scale affect the shape of long run verag,
curve? Draw a long run average cost curve where the producer faces constan; oy,
<cale over & range of outpul and also draw his marginal cost curve.

— R L !qﬂmﬂquﬁ‘l#ﬂ'ﬂﬁmﬁtﬁ‘!aﬂmmh
mmmmmrmmmt?ﬂmﬂﬂmmmmn -
ﬁqmtmmﬂﬂﬁmmﬂﬂﬁﬁﬁtmﬂﬁ.ﬂﬂgﬁﬂﬁﬁmhmﬁh
amin o T A mxﬂtmﬂlﬂEﬂﬂnmﬂﬁmmmmmmn
g1mﬂmmwmmmﬁwﬂmm§qmmmmm
aﬁmmmuﬁﬂﬂfﬂMWMﬂiﬂmﬁtmﬂnm“t'I
mvﬂﬁﬁiﬁl‘lmﬁtlmuaﬂlﬂlmﬂuﬂmﬁmmmhmﬂm

wmmmmmﬂwmmmmﬁmm
mpmmmwwmwwmﬂ@mﬂmi.

Explain how the shape of marginal cost curve of 8 product is related to the shape of;

marginal product curve of labour, if the labour is the only variable factor of prodwt:
I

|t was observed that when the interest rate declined from 10% to T%, Ela started i

E?

- 4 oH o8 W

mare. Justify her response to the change in the interest rate using indifference cune

analysis,

Each of 100 firms in a perfectly competitive industry has an average variable cost{}
function AVIC = 20 where Q represents output produced. If the price of the produt:
R<.100 find the total quantity supplied in the market when (a) total fixed costis Rs.
10,000 and (b) total fixed cost is Rs. 20,000. '

muﬁm%ﬂmmﬂﬁﬂmﬂmﬁﬂmﬁﬂg#mwm#ﬁ
aft s TS aiEe e

wqﬁmmmwﬁmﬁmmmwmmmﬂt
tﬁmﬁ{;maﬁﬂm!mﬂmﬁﬂmimmﬂtﬂmﬁﬂﬁaﬂwﬂ
mwﬁmﬂmin.mm!mmﬁawmwmmg.

Using marginal revenue and marginal cost curves under monopoly show the outp!
that maximize (a) total revenue and (b) total profit respectively. Are these tWO o
levels equal? Explain why or why nol.
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Explain how governments can respond to inefTiciency of monopoly by regulating the

price that the monopoly charges. Discuss any problems that may arise in this context, {6)
Explsin why a monopoly does not have a supply curve (1)

o e men i STTR TR W) geTE a0 EU 9red f 9@ W om) oenign @t (a) me
s mn ) w= A = FRwes v T e @ A o wr o #) arsn @ o
m = e ,
e difer @ vr veied od o smem a4 weew P wem @ Praee W
wed £ vn wed 4 oy = wawn oem wh & 0 wwe ) e SR

wrmn W o v veiverd el W of ow w8 e

Arn increase in the retirement age of workers leads to an increase in the supply of labor.
Diiscuss its impact on the (a) equilibrium wage rate (b) employment and (c) value of
marging! product. '

Dhstinguish between the purchase price and the rental price of land. How is the rental
price of land determined? Doss an increase in the supply of labour alter the equilibrium
rental price of land? (8)
ol ® dmiagit # W wmE | A O oo o 2 T o W ) e o
{b) W men o) Hiwm SeEs ® g W wmem e

g7 W w e w feeg @ e @ fe e v W) g W B ) dem B9
e 87w s o o A gfe i @ e @ e A B ofieds S0

(7)

3100 .
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Attempt any three questions in Part A,

Attempt any two questions in Part’ B.

Simple calculator may be used,
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Part-AAMTIT-37)

Jay spends all his income on two types of ““'"”‘Iﬂdium

% and clothing, x,.

His utility function is U':I”Ig}:"FFIEE

Suppose the prices are p!. = 10 and p, = 2 angq ey

m = 60 :

(@) Find n-‘r-lativ.el price of a car in terms: uf_-:lmhing (N
Give economic interpretation of the relative |:|-r]l|:¢

(&) | Jay now receives .I'ﬂ..cluthes als; birthday gift. Shoy
his budget constraint will thange. In the following ;
ignore the gift from point {b)

(c)  Find the value .{:-f' MRS Elt. the consumption
(3, 1),

(@ Which of “."’. t';""ﬂ E.nu;ds IS more precious 10 L
Ihis.'hundie ? |

. (e)

Find the equation of the income offer curve.



{ 1) U8

() Write the equation of the Engel curve for v, and draw

the diagram.

wh s x; a normal or inferior good ? Why ?

th)  Are Jay's preferences homothetic ? Explain, |5

mmﬁt{ﬂimiﬁmaﬁa@aﬁmm_m

% - 1'|-‘$H L Xy I

ta}m@(myﬁmﬁwmmw-w
Y W e s Frdern A
b TR 0 I TR D TR o wy

IR UL T O S
ﬁwml |

ﬁ”ﬁf@ﬁﬁﬁaﬁﬁﬁ?m}ﬁqﬁﬁqm
mﬁm—ﬂ%ﬂmﬁﬁm
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Aruna is i budding cricketer. She is aspiring to gqu
for the Indian Cricket league, The Board of Cricket ¢
every player two  opportunities to show their tl
While making ity final decision the board considers
highest  scored runs of e pj‘uyur in the two g¢
she plays, Aruna wants (o maximize her run seore

Yiound x, be her score in the first and second ¥

respectively,



[1]1

L)

)

(d)

- matches,

984

Which combination of scores would Aruna

prefer : x, = 50, ¥y = 80, x, = 70, xy = 70:

tl. e E.q'.. .Tl - zﬂ ?

Find a representative wtility function that captures

the above scenario,

Draw an indifference curve showing all
combinations of run scores that Aruna likes exactly

as much as her most preferred score derived in

part {a) above,

Are Aruna’s preferences over the above

combinations convex 9 Explain your answer.

Suppose the board changes its selection criteria

and considers the aggregate score in the two

Would Aruna's preferences, most-

preferred bundle, indifference curve and utility

function change 7 How 9

PTO.
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(i) Using Hicksian approach, show (hy ﬁ""milur

H

is always negative. Also depict di;.gri,mnm“_q”
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Twenty years ago, Smriti consumed bread which cost

her Rs. 10 a loaf and potatoes which cost her Rs.13

a sack. With her income of 266, she bought 11 loaves

P.T.O.
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¢ pread and 1= sacks of potatoes. Todyy 5}
iy . o - 1': L

Bread now costs her Rs, 2 A

¥

income of 3 10

Fe

- 2 : ]
potatocs cost her Rs. 20 a sack, "lll"sf"'-ll'l'l:n

_ w chanced, when w
preferences haven't changed as she bey,

Explain.

Sahiba and Sharad work in a fast food restauray, :
gets Rs. 40 an hour for the first 40 hours she .
and Rs. 60 an hour for every hour worked bey,
hours a week. Sharad gets Rs. 5‘!3': O matter. hoy .
hours he works. Each has 80 hours E-Wﬂﬁk to alk

between work and leisure. Neither has any income:

sources other than labour. Each.has the fﬂﬁnwing:

function : U = CR. where C’is consumption and|
leisure. Each can choose the number of hours 1%

Price of consumption is |

(@) Write and draw tIﬁ: budget line for Sahibd

Sharad in Ieisur&cnnsumptinn space.

(P} How many hours will Sharad choose to W

(¢) How many hours wil Sahiba choose 0 W
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L B 1%

(eh Does Sahiba work overtime

() Whose job is more preferred and why 2 312
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Ahmed works as an executive in BMC lne. His

in the first year is @, = Rs. 2,00,000 and in the

0, = Rs. 2,00,000. Assume that the interest



(1) R

0% His time horizon is limited 1o these two vears,
sppese his utility function s 1'”1- l:~1:'|' “n L‘I P

In [f:

(@) Does the optimal consumption involye saving or

pomowing 7
(P Find the optimal amount of savings/borrowing,
Danny s

a nisk averter who tries to maximize the

cipected value of |, where ¢ is his wealth, He has

RS. 50.000 in a safe fixed deposit and owns a house

in the hilly area of Dharanchal. This Place is susceptible

o forest fires, If 5 forest fire occurs, the probability

of which ig only 0.01, the remains of his house and

the plot on which it is built would be Wﬁ!‘th.ﬂl'l!}'

Rs. 40,000, 1r nothing happens, the house is worth

Rs. 2,00,000 -
(a)

Calculate the expecteq utility if Danny does not’

buy fire insurance,

P.T.O.
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() Caleulate the certainty equivalent ang risk .
E:

of the lottery he faces in part (o)

() Suppose Danny can buy fire insurance s,
of Rs. | for every Rs. 100 of damage, jr,
an insurance policy that covers the full i,
of damage, how much will be his weay, in

two states of nature 7
() Find the value of insurance. Depict gragh'icau:,. o

o -H"I-Q‘?.ﬁ 4 TF TR o
T w1 v o e A o - o
e qsﬁ T ﬁ'.m;_. - 200,000, T [k
Wﬁmﬂrqnﬂ%%p mwﬁiﬁﬂ

SR B U(C, Cp) = In C, + I8
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) TSR R e ufer gm il
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Part-B/9TT-5

Suppose the production function for Produyg;

microwaves is given by ¢ = K — 0.8 _ gy

where g represents the number of microwaves producs:
in @ year, k represents annual capital input and
represents annual labour input. Let v and w be the prices

per unit paid to & and |/ respectively

(@) What kind of returns to scale is exhibited by the
above production function 9
(h)

Find the returns 1o labour | as capital is held

constant,



(i)

(0)

(W) Compute the elasticity of substitution between

I and &,

() Find the short-run cost function.
e} Find the long-run cost function.

“The marginal productivity of any input depends only
on the ratio of capital .m labour, not on the absolute

levels of these inputs.” Is this statement correct?

Discuss. 1045

A1 iy fF meeee SO @ fan s
wed fefafes go & mn & .

g = K - 0.8k - 027

W&, ¢ T a6 EEEE SR # gen =)
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(0)  Suppose the total cost for a firm is given by

C = qw!-"lj v]ﬂ



e

TR T

T

=

mbhrre o0 o e peaal matpa. = i the wage rafe p_“d
te the lahomyr et 1 oand v i the rental cost of

oapetal A

i) Use Shephard™s | emma 1o compute the contingent

\constant output) demand function for inputs L

and N

Use the result from part (a) to calculate th;-
underiving production function for g.

Consider a CES production function given by
g = (& = FYP where g is the output and & and /
are the capital and labour inputs eamning rent v and

waze w respectively

(2} Set up the cost-minimization’ problem using

Lagrangian.

R (wY
{h) Show that cost minimization requires E‘LT]

where o is the elasticity of substitution.

(c) Explain how capital-labour ratio responds to
changes in the wage-rental ratio as the dearee of

substitutability varies between the two inputs, 69

P.TO.
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The Central State University (C5U) organizes a waeek-'

long ICT workshop for college teachers. The number

of teachers who can be trained per week is given by

g = 10 min (k, O

where k is the number of computers rented per week

al COSt v per unit. [ is the number of workers hired _

by the university per week on a remuneration of w per

unit and v is a parameter indicating the returns to scale

P.T.O.



(if)

(e

a colleg

(20 ) |

Ci ; : tunction. P is the prica
in this production Price chy,

¢ teacher for the workshop -

(@) Explain why developing a pmﬂt'ma“imi!ing

(h)

(d)

P

requires 0 < v < I

Suppose y = -0.5. calculate CSU’s tora)

profit function. .

If v = 1000, w = 500 and P = 600, }.wi

teachers are trained and what are the pmﬁzsé

=

by CSU from the workshop ?

I.f the college teachers are willing to pay P=
by how much will the profits change ?
G’;EF"“ CSU’s supply curve for teachers It
‘thrm.ig.h thé workshop and the change in

obtained above in part (d).

Suppose that a competitive firm’s marginal cost fur

is given E’-‘?" MClg) = 4 + ag, where a ~ 0 &

L

- market price is 16 :



(A

e
suppose the firm's producer surplus at its profit-
marimizing level of output is 36. What is the value
of “a” in the firm's marginal cost function 7
(P} Suppose now that the average variable cost of

the firm is given 'b';; AVC(g) = 4 + g and that

the firm’s fixed costs. are known to be 8

Write an expression for. the firm’s total cost

function C(g). RRCY

aﬁmmﬁﬁﬁﬁmcm?ﬂﬁﬁﬁaﬁ%
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%imﬁWmﬁT&ﬁﬁ?ﬁmcﬁm

min (kO SR T M ¥1 W&k FoRd W
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(b) mmﬁ\ﬁqﬁﬁﬁﬂﬁﬁ A T
T AVC(Q) = 4 + g B D T & ?ﬂﬂﬂﬁ
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WE R 7S s
ﬂvﬂﬂﬁﬁm%wijﬁﬁr

(@) (7 How does the slope of IS and [\ :
M oy,
the impact of monetary and figey Pf’“c}-
[

and rate of interest ?

(i) Which of these policies wi be mor g
when investment is completely ingep,.

changes in the rate of interest ?

(&) (0 In a closed economy, explain the Phenomey
‘crowding out™, with the help of IE'-I—LM frame.
(i) Are there any circumskta;ces under which
government can avoid it completely 7 Mentio
wo ?
e () - What is money neutrality ? Explain using A¥
diagrams,
{i}  What are the dynamic effects of a fiscal contr
On output and interest rate in the short-run’

: i
medium-run ?
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L (a) Suggest the required policy mix for an economy at full

employment (using the 1S-LM diagram), if the goal of

the government is to simultaneously change the

PT.O.
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i

(M) With the help of the Okun's I'““. "IrH[q
] .
ADY relation. show how a fall in Nomiy,

LT
|I,'|.'.I

economy  ?

(¢} () What is sacrifice ratip 9

(i) Consider an economy  with the

fml-[.

characteristics [

The coefficient of the deviatjop of outpy, o

 from normal growth rate = (5

Normal Rate of Growth of Outpyt = 3,

Sacrifice Ratjo e



985
VY Suppose the govermment wants to reduce inflation by
N noone year. What will be the corresponding
merease in-unemployment (g ) 7
(2}

Given Okun’s Law and your answer in part |,
calculate the rate of growth of output in the

present time period 1, needed to reduce inflation

by &% in one year. 255
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3 (@) (i) Discuss reasons that brought mutations in |

turve over time,



( 7 ) URS

() What is wage indexation 7 How does it impact
relationship hetween imflation and

unemplovment 7 345

Analyze the impact of Monetary tightening on Economic

growth rate and inflation rate in short-run and Medium

e 15

) Explain characteristics of rational expectations. What are

their limitations 7 453

w) ) wE ® e fefaw o # e 9

() TR e E fAEEme @ sren wifed |
gl F;=nE2
(@) (i) Assume that there is perfect mobility of capital,

how does imposition of tariff affect Exchange rate,

output and current account.

PT.O.
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(i Under what l‘i"ﬂmml-tm
1 ll.l.
a real devaluation Whey - e

Lxplain using an EXamp, :

1 () How does a policy of Cha
1 '“

work ? ",

(i What is a wage-price SPira|
ili]lr

devaluation start one °
(¢} Given perfect capital mobility and f, ;
X
Priey
the effectiveness of a fiscal policy in ﬂﬂ

exchange rate rv:glme

(31) (i) Wﬁ?ﬁqﬁ;@m%
T B, I 7 fafy g,
LT T e )
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@ﬁﬁ:@ﬂﬂmummmm
e & for faf Q smen § gawm
ffa A wwyEviem WowE wifa)

(0 Explain covered interest arbitrage margin with the

help of example.

(i) What could be the reasons for presence of

significant covered interest arbitrage margins in real

world ? 23

") Discuss Assef_ -market approach to the Ealgnce of

payments and exchange rate determination. 15
¢)  ‘Differences in fhe size and quickpﬁﬂs of stock
adjﬁstmem in financial assets as opposed to adjustment
in trade flows have very important i.mpli-:atiu-ns for the |

dynamics of exchange rate changes”, Explain, with the

help of exchange rate overshooting model. - 75

(#) () T F TwEHD ¥ FIE AW A
AIH F HHGEL |

(in, - AR FOR § el w9 W W
Wﬁﬁqﬁqﬁ%hﬁwmﬁr
wF ¥?

PT.O.
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| This question paper contains 7 printed pages|

Roll No,

S, No. of Question Paper - o0Rg

Umique Paper Code C 227300 H

Namc of the Paper Economic History of India, 1857-1947

Name of the Course B.A. (Hons.) Economics

Semesier |

Duration : 3 Hours ; Maximum Marks : 75

(Wrie vour Roll No. on the fop immediately .on receipt af this question paper, )

[nm-nﬁﬁaﬁﬂwﬁmﬂqﬁuﬁﬂmwmwﬁmﬁfm )

Note .—  Answers may be written either in English or in Hindi:

but the same medium should be ﬁsad throughout the

ﬁmﬁ:_mm—ﬁaﬂmaiﬁmﬁaﬁ%ﬁww
ﬁﬁm;ﬁﬁaﬂvﬁaﬂﬁmwwtﬂﬁm
e |

This question paper is divided into two Parts A and B."Each

question in Part A carries 15 marks and each question in

Part B carries 20 marks, Attempt only one question from

Part A and answer any three questions from Part B,
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|
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Part-A/M¥TT-37

“Iny SPfIE' of the fact that skill and k"“W]E{IgE

the Indian artisans and merchants were far ¢log,
T

of their counterparts in Europe in the early "F“Hh‘-mh

i+
F

Indian artisans and merchants did not grow becayg, -

of state support.” How far do you agree with i i
Explain. |
T EEE F aeR f st wd o g
Wt forerE R s % T o @
T FNIE ¥ FW g ek w o
Frmr iR = a9 werd F 4§
T T W 9 o g wag § AR

¢ 7 =men i)
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1

.,

“Explanations for paar cconomic performance in colonial India
3

5
'

that tocus on colonialism are misconceived, the economic

decline in the 19(h and carly 201h century was a result of

Poor resource endowments of India.” In the light of the above
statement discuss and contrast the “externalist” and “internalist’
Views on the causes of slow economic growth during the

British rule in India.

STERE R § wyw onfde Wy & fom
WEFN F SRR W e S wo LG
& S o sl v § e froe W
%mﬁﬁmaﬁﬁnvﬁmml”mﬂaﬁw%
s F w F fafw W @ e T @
Aiw Wofs B woh W wwen W
BT Al ok sidhe fremt st qor ife
David Washbrook has expressed the opinion that the final
I;adux thrown up by ‘economic’ history of ‘British India’
wst be a doubt that the purposes of British epire in India

re ever principally economic in intent. Discuss.

P.T.O.
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Part-Bd9TT-4

é What chanzes, if any, were witnessed in the growth
of India’s “ationzl Income over the period 1860-1947 5 F',FE
discuss the relative contribution of the various secigy m.E;
economy (primary, secondary, tertiary) in bringing aboy i
change.
1860 @ 1947 F1 A3 F A YA F TEA
# oofy m d o A A W B, Tmm
q 7 @ AT & AR B Aderd #F fahe
i (mafeE, A, wE) & AR wmoaw

4 7R Fifaw
. FExamine the process of commercialization of agriculture during

the colonial period. Why did the wealth created b}
commercialization not help 1o reduce indebtedness and pover

of small farmers and labourers 7

id



R

W FA B R FM R s
iy _ RESIR G I =
*q- &1 e Fifau AT ML W e

“aﬂﬁaﬁﬁmﬁiaﬂtw@aﬂmmmaﬁxnﬂ;ﬁ
@ 79 FH W oWz w3y o

paric! Thormer was of the opinion that India would have been,
perheps. less industrialized in 1950 than what it was, if it had
pot fallen under British rule. Examine this statement in the
L gt of the limited growth of

industry in India under the
b golonial rule.

wmﬁmmﬁ%wﬁmm
P EET F OAHH T W od W we wmd wm
R S gen A R 1950 F wem o wmw

5 ® ANHEREE T ® ed g osEm @ diftm P
o ® WY A ™ owER W oW s

Prasannan Parthasarthi is of the opinion that there were many
i Gimensions to deindustrialization in nineteenth century India,
w Many of them have been neglected and the debate on

o deindustrialization has adopted too narrow a focus. Do you
| agree ? Explain.

* PTO.
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g‘a‘.:-[ﬂ' m?ﬁ‘W-‘Fﬁ aﬂ I® ™ E f"'ﬁ :r--_-]"'l':r;!'.ﬁ L

Tpal,
frafeinfeTm & FE APTH A M -

ad W
< e #t & ol PrsteniET EY gy "n.
#Ifﬁ'ﬁ wmhwamﬂmi }"T‘T;-n.
in light of India's «mall scale industrialization €Xperien, e
the British rule critically examine Tirthankar Hoy's aser.
that “at different times and places - eighteenth century Fur,
rwentieth-century east Asia and colonial India — 4 form, .
ndustrialization occurred that was based on utilizing 1,
more productively, rather than on replacing labgy, .
machinery,” In this context also briefly discuss the issye
rapid decline in the wornen participation in industrial workforc:
Fafowr TTEA ® ORF WRE # B TR & e
F oA & wed A A W@ & T F A=
Them Ffaw fF Coem-sem T 3R WE T
soed W g, dd v o g o
Sfafes wRg 3 s T ww A R
S fF gm @ @H W Wi B wEm # g
gn # wfuF TeF IEm W e @ F
ded & oefiE s d el @ e
& @ firEe # Ame W o == s
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:_'i’}

wtand by the term drain theory.? In this

unde
¢ for the fact that during the

what do You
how do you accoun

aritish rule. bul (or short periods, India’s balance

xi.

ignh.‘
of trade

sed to be positive but its balance continued to be

pegative ON the current account 7
Wihﬁlﬁﬁﬁaﬂﬁﬂ'-ﬂ@ﬁ% ?Wﬂﬁﬁ
s o @ weE 9w BF w01 fofew W
; 4w, 98 sy # o g WA A
& YR 39 SAEF T afEd SR g

q 7



This auestion paper contains 1643 printed pages + 12 tables)

Roll Nn,

¢ No.of Question Paper 987

Uinigue Paper Code r 227304 H
name of the Paper . Introductory Econometrics
name of the Course . BA.(Hon u.urs} - Economics
»
Semester S (|

Duration : 3 Hours Maximum Marks : 75

Write vour Roll No. on the top immediately on re:eeipr of this guesiion paper

Note :—  Answers may be written either in Engiis_h or in Hindi;
but the same medium should be used throughout the
paper. - : |

fewut ;28 yo1-13 = I s @ et et v T
7 df; afF it T # mem TF @
fen |

The question paper consists of 7 questions. Attempt any §
i
questions. All questions catry equal marks, :

Use of simple non-programmable calculator is allowed.

Statistical tables are attached for your reference.

PT)
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. Sy
ot o by SO A gy

| State whether the following statements are trye ,, fﬁi—se ;
iy

reasons or proofs : 5_‘]#'5

(@) In the presence of autocorrelation, the Qg mi%

- obtained are Bést Linear Unbiased Estimators {HLUEL

(B) If a pattern is observed on plotting residyals dgaing
time, it shows presence of heteroscedasticity

(c) Cﬂﬂiich_r the model : Y'F = Bl -+ B: X?I + Bj x!ﬁ t K

Given that Xy =10 + 3X,, we can uniquely estim

all the parameters of the model,

(@) If Jarque-Bera ;ztaiistic is computed for a large sampk

a5 7378, it provides evidence in favour of normalty

of the error term at 5% level of significance.

te)  Consider the regression model

I"'i lb.l' + b‘.,Xr - bJ'D{-I- b..p ﬁjﬂf} +'E‘.
Where,

R Yt and xi are quantitative varjables and 0, *



(M

(c)

(d)

ofy sEfTe msldualsyaﬁwa%mﬂﬁﬁﬁ'
?ﬁﬂﬁ'ﬂﬁﬁq{;ﬂﬂtmﬂ Wmﬁfﬂ'ﬁ'
T R (heteroscadasticity) Ty T 4
TEH Y. = B, + B,X; + BX,, +pmﬁﬁna¢’rﬁs’fqt
e X, =10 + 5Ky, & e
*mﬁﬁmmﬁmﬁm
€l |

qf% T T2 'ﬂﬁﬁ'ﬁ%ﬂ AR m.ﬂarq'ue—'

Bera statistic) T V] ?R':'f T HE I?.}?E e

T
BT, W T s mew W (significance level)

™ .
e .'qq H (normality) =1 AT
em %

BET.O.
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(e}

{ 4

amygm WeEw W fasn T:Iﬁﬁm

Y =8, + b X + b,D + b, r’:‘i’.ﬂf}- * i,

sl ¥; a X, HATHF = (quantitative Variah),
&)

g g D TH BHl = (dummy variable) 3, %

b, b, Al =fma iR Wﬁmaﬂq # e
SRE S i ?ﬁﬁm?ﬁmm
F1 gHat HHIEAY (concurrent rt:gr-:ssmn] EH?;[ Ty
el

Using quarterly data for 1965. Q1 to 1933 04
(76 abservation) for an economy, the ﬁ}llcmmn mode]

" of cunsurnpnﬂn Fum:rmn was esnmatecf

PCE, = B, + B.PDI. + B,INTRATE. + u -
S 1 P I 3 1 i

whe:l'e

PCE :  Personal consumption expenditures in billions
" of dollars

PDI :  Persopal diposable income in billions of dollars

INTRATE : Prinie interest rate- charged by banks in

percent

The table below has estimates of the coefficients and

their ¢ ratips -
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Variables Istimates of coelficients | t-ratios
CONSTANT 10,96 =323
(Rl 0.4931 249 (1
INTRATF 209 -3.09

W) Imerpret the slope coefficients;

(hY Perform an Appropriate test ar 5% level of
significance, 1o check if marginal pmpe;ﬁsity to
consume is statistically significantly different from
I. State the null and alternative hypatheses clearly.

(¢}

(1)

Show that the coefficient of determination

It personal disposable income and personal

consumption expenditures are measured
of dollars

in millions
instead of billions of dollars, what
be the new

will
numerical value of the coefficient of
PDI and its teratip © What will be the impact
on k9 3+443=10

rz. in-a simple

regression.

V=B 4 B.X. '+ U is obtained using the formula -
] + s

B b D
S
Ly;

where, b, is the ordinary least squares (OLS) estimator

of B.. and X, and ¥, denote the deviations of X and

Y observations from their respective means, :

PTO.
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pw selEma #1905 01 &,

f
M

sefy ® hafew WEwI 76 Ro) o
Y

3 M WEA W ElGlEite g %

¥

a

T,
fwm ‘-'T";T. : ‘
PCE, = B, + B,PDI, « BINTRATE +
el

tmg; safmd 9T T, T W
PDI - a:faanaiuﬁm A, Al W
INTRATE : 31 210 A S ACA T o

%L (Prime interest rate), yfaya &

T &% HAHed A9 9 TR taﬁqm laliiices
wroit # few ToE

= | T ® R A | e
CONSTANT | - 10.96 |-333
PDI RILE | 24906
INTRATE | - 2.00 ] -3.4}9—

@ @ T e Hifau|
&) T I F o e wieEe O
W{*Iﬁmﬂ%,'ﬁ;mﬂ‘qﬁﬂhﬁﬁ
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%ﬁﬂﬁWﬂﬁwﬁﬁﬂfnﬂT?th
T HIA |
afe =T WAed S F AT 9
e § W W A p0IF PE A THE

Gy <EET R o wER TSR Y. = B, + BX. + u

® T w2 Frefafes @@ @ we fear
W wHd
bizx?
? = w0

W b, Bmwwaﬁw%ﬂm

3y, xavﬁﬂﬁ%aﬁmmﬁi%ﬁﬂrﬁi
?ﬁiﬂiﬁ%[ '

(7} Briefly discuss. the

consequences of Multicnllinéarity, 6
Consider the following regression results of wages of 100
workers |

I & factory, the parentheses contain the p-values
WAGE; = 5587 -8 FEMALE + 5572 EDUC,

+4.141 EXPER
(p) = (0.005) (. 026) (8.0049) (0.0021)
| R% = 0.4899
WAGE :

+ Hourly wage ip rupees

EDUC : Years of education

Ty



IXPER : Years of working
FRMALE  : Dumnty variable taking valye | I-rl.mm”':
0 otherwise ;
(@) Write the regressign equations for male g, ey
workgs separately. "
(b s the wage difference S‘Mif‘“falr?lﬁigniﬁmn, 3
males and females at 5% significance |eyg) . S,
' - the null and alrernative hypotheses clearly, L
(¢} Interpret EDUC and EXPER .cnetﬁciems. |
(d) What additional variables sh_uuld.be taken iy g,
madel to take into account possible interagy,,
between (1) gender and experience (2) education i

e;pcﬁeﬂcc ? 24342424

() e (Multicollinearity) F IO FI feify,

i) T FEEE B 100 HEE F AN 8 T
Froferfam e wfomE ® R Fin)
(- T Frew § U Fw R): L-

WAGE; = 55,87 - 2.81 FEMALE + 5572 EDUC, * 4.4} EXPER

(p) = (0.005)  (0.026) (0.0049) (0.0021)
RZ = (4899

WAGE :ﬁmnﬁqﬂwﬁ

EDUC ﬁﬁﬂﬁfﬂf :

EXPER  : FFIYE & .

FEMALE : BHT = (1 3R =feen, o #991)

@ o9 Hieen it g srem- s g
T fafen) '

=

.
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n#n AfEEeR A el B e weeht o

o, MAFM W W nifemn 'Y ﬂmﬂ?
)

() EDUC F EXPER % T} &) same =4
W Efefen =l % we wt e JTE]

(interaction) W &= Tﬁlel & Hfzw A FY

e = A e s = Yy fom g
FEEYT (2) foer 5 HEAYE ?
() A study is undertaken to find the impact of average income

of the households (INCOME, in rupees) and price of LCD
television (PRICE, in rupn:e;s.') on household demand for LCD

televisions (DEMAND., in *000 units) for 23 states of Indja.

The OLS regression gives the i‘n\‘mwing-raw!m with p-values
given in parentheses and LN denotes natural log :

DEMAND 1 =387.56-58973 LN _PRICE +64.125 LN INCGME

(P} = (0.015) (0. 007) (0.0017)

R* =0.6478

of price and income on -
- demand for LCD televisions ? .

(a)  What is the (Partial) impact

(B)  Test the averall significant® of the mode|

at 5% level
of signifi

cance State the nul| and uiternatwe
‘hypotheses ctear!:,r

2H=6"
ET.O.



e |
( I ) -
(i Compare the consequences of including an irrﬁll':"'-'ﬂnr
varizble in the model and excluding a relevant varigh, oy
the maodel. -1
i) Consider 1hi regression model that pestulates refa1iuﬂ5hin
between monthly demand for burgers (Y) and Monh,
household income (HH_INC, In rupees), .
YA B HHINC + 1,
The repression was run for a cross-section of 4
observations. Suspecting heteroscedasticity, ﬁ? White'
test for heteroscedasticity was chosen and following ih
results were obtained :
e = - 6219 +229.35 HH_INC, + 0.00054 HH_INC?
| R =0.148
Test for heteroscedasticity at 5% level of si gﬂiﬁunﬂcet.ﬂwlé
the null and aiterﬁa:e 'h:.'j:uthes.es clearly. | 3
() VKA ® 23 T I (INCOME, ¥941 ), LD
| el % qE (PRICE, T H) # Wi LCD
e & W {Dﬁmnmpﬂmﬁfsﬁi-ﬁ} IR
TR F0 8 F A oLS TEH
§ Frefofan TROTR W9 7T (oA FeE

W™ ) |
DEMAND, = 387.56~ 58.973 LN_PRICE, +64.125 LN_INCOME
(p) = (0.007) (0,0017)



=

aR7

Waae = gen m selifaom oA

-

q (anfErw) wumE w7
EF F HHN (overall) FEEA R Svp HISE
'_Ip TRl £ L e A T L
. = ® TF Tﬂm“‘l_,?{‘éﬂfﬂﬁﬂﬂﬁiﬂﬁmﬁ
yn*'“'“ﬂﬁ um.watmﬁwm%ﬂﬁﬁwﬁr
o B
: ’-!."T"" fammm &1 WA IR ¥ 41 WA AR T
@I, Y - A+ B HH NG, +u, F OLS fafyre
- wEm & fr=fefea wfom e fee o
g T2 a7 wEm )
¢F =~ 5219 = 22025 HH_INC, + 0.00034 11H_INC

R* =0.1148
e T wER faema WA ¥? s WEE
=R N THENT wiAw a9 ¥ (nulh) El-Eaieen
e B weE: fataer

In studving the mavernent ir labour’s share in value added

(@

{Altermale )

n the meta! industry for an 2conomy, based on ainual

data for 1980-2000. the following linear trend model was

considered- Y. = B+ Ezf oAk
where ¥ : Labor's share i vaiue added

1 : time
PT.O.

[LXrLaie.



[he following regression resyly ” |
Er'ﬂ 5
fily
|

parentheses .
l

Y, = 04529 - 0.004] 1

(1) = (2.535)( -3.9608)

R? = 0.5284, Durbin Watson'
- ; T
{H} Lse the D‘J.I:Fb:il‘l Wﬂhl’]n d‘sll‘lt“ﬂl{

there is autocorrelation in the .

and alternate hyvpotheses clearl,

_(h) Give any three reasons Ihm*
i
(it Consider the regression model, ¥ B, .ai

autocorrelation.

can the problem of Autocorrelation be ren..

assumed to be | {p = 1) and it is aisumed.-!

term follows the AR (1) scheme, that is,

#o= P TS, -l=zpsl I
(i) . In the régressfuh'uf consumption e.s;pencq
disposable income (Y ) and Wealth (W)
results were abtained (the parentheses ::m:rail'lr

G, = 24.7747 + 0.9415Y, - 0.0424W,
()= (3.669) (1.0442) (-0.5261). K=t

(@) Is there any evidence of P

Multicollinearity 7 Why/ why ot ”

-




i-' e any e wavs in which the problem of

multieellmeanty can be remedied T4 Y=y

| SECRERET| %ﬁ wef RIG Eﬁ'ﬁlﬂ 4 =
89 (value added) -E[ Hﬁqﬁ % '34-51 ﬁ. |h'1{n|
piation) T 1980-2000 Tt 75y % arfirs HrFe]

§ R RSO S ¥ e v
7 W =R fem e
¥ = B, +IHEI 2l
R - S
1: HHY |
T T §): ;_....-/jﬁ
¥, =0.4529 - 0.004] |
(1) = (2.535) ( -3.9608)
RY = 05284, EfdT -t w7 4 - 0.8252
i) %—Wﬁmﬁmﬁﬁﬂﬁﬁq
L -1 I S — ?
A EEEETE # 3 wmm gifem )
T ga-= wfzwm Yi=A+BX +
o Sy iR 4 we AR(1) e
T, sy

ulqﬁ"ﬁ”ﬂfﬁ
'EFIGITHTUTEH?IT

PT.O.




T,

(i)

{if)

i L".”|F'g, 'IEI;”J-"_l
ra‘raﬁmvmmﬁ;
E{Tm%}

S S R ey APy 3,

TN H ety o o

T I 3.

C,=. ??4?+{l94l5‘1’ m}q}m

(1) =(3.669) (1 ﬂ-‘H"J {“ﬂjjﬁEjE{

(@) HWWDLS#%
{Murm:ﬂlhnearfry] 1 TR Ep e

) AT TG IF g gs
FE T T feafa |

for a two variable modsl
"!’]-=A+E!..‘A:i+ui,
rﬂ““wi"g are the Fegression resylts of EXpE

(EXPORTS, in takhs of fupees) over
199].

time (1]

2015 {Standurd eITors are mentioned in I

EX ﬁ&fsi =~ 3.3890 + 0.00843

(se) < (0.002) (0.0001)



0y

el the .,‘mhl.l]q_';ﬂ “Hﬂﬂlg.ﬂhﬂ' ol 'ﬁll'l[‘t‘ {1}[‘I'ﬂ{'1fn1
[

1 &% level of significance

Compute the instantaneous rate of growth in exports

|,‘||. L1 ] i':f'.;r.

. Can compound rate of growth be computed 7 If yes.

g
how 7 . J2+1=b

cuppose the true model is : Model A : ¥ = B+ By,
. pX, +u, The regression results for the model for
-45 are given below. The figures in parentheses .dermle
the standard errors.
Model A+ T, = 263.6416 - 0.0112 X, ~ 44632 Xy,
se = (9.9932)  (0.0027) (0299

| R? = 0.7897

When }:H is regressed on I?i, the results 6btainﬂd are

as follows :

X = 475971 +0.00512 X,
(se) = (0.5553)  (0QO1L)  RP=0.072)
If a researcher und&rfu;:l;yludal by omiting X,, and

runs Model B e

What shall be value of the coeflicient le in Model B 74
() U EfE- HEw Y, =A+BX, +u ¥ T F T4

=1 w0 = fafu =1 faE=m =i
PT.O.
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(i)

A # ot (EXPOpy, |

b B S

(1 T 1991-2015 g Wy

¥y

¢ (T e %Tﬁm
EXPORTS, - 3389y, ;

(s¢) = (0.007, 0
) I W F il | &l 'lrﬁi'gnir],;Er

Ll N
(instantancous rage ¢ SrOWth) 3,

(¢) =1 W % ST [E{Iﬂ'liilﬂuﬂdra_
T RETUE ST
T |

i A "riz |3.I + [}E}{EI: +j'_‘r33='ifl!|l+uI
W%%ﬂn—tﬁaﬁwﬁw

TR iy % (Frmi 4
%ﬂ:ﬁq

2636416 _ g, 12 X,, - 44

€ = (9,593 (0.0027) (0]

E.’



I §i - i Im-ﬁ

. ’}:jﬁ X, W Wﬂﬁﬁﬁw’ﬁmtﬁhmmﬁn

'#ru ma g o
’-*.‘3 47 'ﬂhl-nmwh
(se) = (1 5551 ml‘HHH R =0.072]

*tﬂ?ﬁﬂ'ﬁﬁ. Hﬁ'@ﬁgéﬂrﬁaﬁmﬁﬂ Y =
.*_J.T\ + ¥ ﬁmfﬁﬁm%ﬁﬁm
ix F TF F AN =y T 7
Gorzider the Cobh Douglas production
: Q= ¢ K?L‘{ g

function -

where. ) denotes outpyt, K denotes capital input and ¢

*‘F{:’[Eﬁ labour input and ¢ = 2.71828.
v} Formulate a model that can be used 10 estimate the

Parameters-a, (¥ and y using ordinary least squares,

- . .
{7 Show that this model implies a constant partial elasticiry
P of output with respect to labour bui a variable marsina|

effect of labour on autput, Tl
The relationship hetween eross domestic product (GDPY
in fakhs of rupees and the expenditure on infrastructure

(INFRA] in lakhs of rupees for 40 countries for the fiscal

year 2611-12 is postulated by the following two alternate
models :

Model A: GDP“ ok o {:inHFth T,
Model B: GDP = g, + B,INFRA BINFRA® 4 v

PTO.
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s = ) jﬂwﬂ%ﬁ—u'aﬁ 201112 ¥
g 11 FeffEn @ dwfos el =1 am
L

€ A GOP = o + a,INFRA + 1t

e B : GDP = 6, + BINFRA, + SINFRAZ+ v
(4R & (FIET A) = 04813 791 R? (HEH B)=0.7813,
A 5w wew g7 b
I 5% WAFT W F IT Hif | =
§ =ioeE SEweemsl # wWew: fatgn

7 T ® ¢ TY = 2220, TX = 3400, IXY = 411000,
- D = 644000, TY? = 264200, n = 10 | HZ vi=ﬁ

lTEKi-i-ui %DLSWhLH b, T FHifer |
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e

Write vour Roll No. on 15e 10p immediately on receipt of this question paper.

Al questions are compuisory.

All guestions camry equal marks.

Angwers mzy be writer either in English or Hindi; but the same medium shogld be used

IhroughGut the paper.

Asnswer any two parts:

(s) (i)

(i)

(it

j How can aotomatic stabilizing fcnlu__r.:s of modern government budgets, help

dampen the fluctuations in GDP? Explaim. |, - 2.5

Explain the difference between full employment budger surplus and acnal
budget surplus 2.5 . Ll 08 l

Explain the derivation of LM curve??.5 .

B} {1} Explain the effect on output due to increase in money supply in i ECONORY,
35
(i} Nonmally it is expected that g rase of inierest g0 dov, it will ha}
- : i fi -
pesitive effect on geanomic activities; however, despile lowering 0F 11 m
rate such effects are ot observed in the post financial melidown {Ivllﬁ'*'i{l :
Explain, o i
i . o 75
" Suppose you are yiven cconomy with the following informatia: '
C=C+eyp %

1=1

G=(
TR=TR=py



s
9

i

4

Ausover gy TR pans;

r
Using AS-AD framework, analyze the mmpact of ay erease f)y EOVErImEn
Wl ’ T T
expenditure (one time) on ouipat and price level both i SOty gy
medium-rin, 40
m Mo ;Iﬂ'!-';‘T’IE a hiﬂ.'ﬂEF Wages more than the l'tSEn..mia” Pt ould i
, beneficial o the finms? In this content explain the efficiency Vage thegr,,
33
®) Nouare given a wage setting equation; Wepe (| -y, 15
Where W s nominal wages, Pe is expected price leﬁ! B u iz '-iﬂ'-‘«mi:llng.-mm il
Alsa given is that the finns charge 5 Wark-up of 10% over tha Wages,
b Caloulate the real wage implieg by the price setting retaginy
G Determine the natueal rate of bnemploymeyy
Gill I mark-up increases 10 208, show tlye Impait a0 real wases ang Bt rge
of umemployment,
1 Explain the mpact af

curve,

-’-.nw.trany'mu-mt:;:

@ W

Lif)

L Y

L)

ST

i

wipa

Mionary matietary Policy on Aggregate. demang (AD)

135

Yo are given The Tollowing information:
Ukun' 5 fow: alay=4 8= 3%)
Fhiiliip‘s Curve: n)qp = ~(nl-394)

Mate of B of noming) mimey supply i the medinm run = 4%

Derive the valyes of HiEmployment rate, wrovth mie of cutgut and infation
o i he el 1y '

Explain the heory of raignal expectsiions wid enderhying agsumprions
therain,

15
Do v ngres thay Milicng| expectations reles cul the possibiliey of mn:i;E-
SYHEMBLE prrpggn LT P —————
Exphain e Sticagt o erifies o i Tl wraditlonal Fhillips Curve
fppraach,

1.4

ith ational

What i the bygig o chygpn by Fischer and Taglar that even wit
i

. 4
" intess
“xpettations, disinflasyg may ot be phintess]
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Attempt any three questions in Part A.
Attempt any fwo questions in Part B,

Simple calculator may be used.

P.T.O.

P.T.O.



ol g \

.'.'_

o @ fth A0 T B S Ay

o p @ @ T % IR g
Part A

Joan likes chocolate cake and ice-cream but il

having 10 slices of cake, eating more cake maye, |

less happy. Joan always wanlts more ice-cream fg |,

Draw and explain the shape of the indifference ¢,

depicting her preferences. Take ice-r:'rea_m on i
horizontal axis.

A consumer always purchases at least 4 units of goo
X. He pays a price p up till 17 units of X. IFh
purchases more than 17 units, then he -musi pay 10?

more on each additional unit, Taking the other 0%

as the numeraire -

a)  Set up the equation of the hudgﬂ cunﬂirﬂm['

(&) Graphically show the budget set.
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(1)

(i)

050

What are the properies of well helinve indifference

cives T Cheek which properties

e violated in the
following indifference curves for wa poods X and Y 7

W Good X is a neotral oo

(MY Goods X and Y are perfect complements,

416+515
ﬁﬁﬁmﬁﬁfmﬁnﬁﬁﬁilm
FTHE R 10 IFT WA B AR, SR ofwm aw

mﬁﬁ@mq&ﬁ@ﬁ%usﬂqaﬁaﬂ
F g A afuw smmEsm Wl ¥ T

TH IR WA FH ¥ HE X g AR

mmm%|ﬂmﬁﬁlfﬁﬁm'

® 17 A o TR wlEw ¥ A oS owl
sffer g W0 Woww s yTn Fwon

TEW ¥ W OEg W TR ety
{a}mmﬂmﬁliﬁll

by w9z ¥ F fox g wwiEC

P.T.O.

P,
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(1)

(i)

\ a7 fagsg  (well hehaved) '{mm—;rm 1}1

TE N

Wmﬂ'ﬂm‘ikﬁ?y%m‘
w7
x o froed B

[1]1

® (@R oy T TF B

Check if the law of demand holds for good ¥ g

of the following utility function :

u(x, X)) =% %2

Jaya's consumption bundle consists of two good:
and y. Prices of these goods are Rupees 3 and 10 pe
unit respectivel}f.. Her income increases from Rupees I
per month to Rupees 200 per month. Derive her ined
cally, if shi

consumption curve and represent it graphi

has the following utility functions :
(@) Ulx, y) = 2x +

(6) Ufx, ¥) = min (2x, 3y).



(i Over a three month period.

following consumption behavior

Price of Good Price of Goog X

X ¥
lonth | 6 6 14
lonth 2 8 4 12
fonth 3 10 | 2 14

2650

an individual exhibity

12

State the Weak Axiom of Revealed Preference and

check if the above behavior is consistent wifh this

Axiom.

H5+5=15

() wrE wifw A = e wem = fafy

¥ g x @ fom H‘iﬂ_.‘qw’lﬁ'q'qﬁl‘lﬁ%_i.

w(x), X3) = Jx; + x;-

(i) S % 394 asa A ) g=d x T v ¥
I W HHAT HAW: 5 FTIF g 10 T4 Hf
THE ¥ THE! AT 100 TYY WA AE W AR

PTO.

t‘!l'u'



(iif)

month |

Month 2

Month 3
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v oconsumer s endowed with 300 and 100 units of
goods Noand Y respectively. His utility  function is
given by x, ) = 2 (v ¢ 3). The prices of per unit
of these goods are Rupees 10 each initially. and then
the price of each unit of good X rises to Rupees 15
thereafter. Calculate the change in the optimum
consumption of good X due to substitution effect,
ordinary income effect and endowment income effect,

using Slutsky’s decomposition.

A worker’s utility function for leisure (R) and
consumption (Y) is U(R, Y) = R + /¥y . He has 18
hours in a day, which he can spend on work or leisure.
If the price of consumption is. Rupee 1 and wage rate
is w. Derive his labor supﬁly function and check if

labor supply curve is backward bending.

In the context of intertemporal choice, analyze the
impact of a rise in interest rate for a person who is
initially a lender, with respect to his optimal choice and

welfare. 6+5+4=15

P.T.O.



(if)

(i)

.Waﬁ-ﬂaﬁﬁﬂl

mﬁaﬁ!ﬁ‘ﬁéﬂfﬂ]ﬂmw
}=R+r%l




(i

(iif)

P 92 ) 2650

Faplain how a risk averse individual can benefit through

risk sharing.

Amar. initially, has a wealth (W) equal to 2000 and will

lose 1200 if his investment in a risky bond is
unsuccessful and will gain 1200 if it is successful. The
probability that the investment is successful is 0.75 and

\ .
his utility function is given by U(W) = w3,
(@) Is this bond a fair bond ?

(f) What is Amar’s expected utility ?

(¢) Suppose, there is a secured non-risky gold bond.
How much return should this gold bond offer, so

that Amar chooses the gold bond instead of the

risky bond.

Suppose for a consumer, consumption when it is
sunny and consumption when there is a hurricane are
perfect complements. Using a suitable graph, explain

why this implies infinite risk aversion. 4+6+5=15

P.T.O.
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Part B

A computer institute teaches students to create

software programs. The number of students that

the institute can teach per week js given by

Q = 10.min(K.L) where K is the number of computers

the institute rents per week and L is the number of
teachers hired per week. Assume K = K* in short-run,

Will the firm's total cost function be different in the

short-run and long-run ?

For each of the following production function, find if
retrns to labor (L) are increasing, decreasing or

constant as capital (K) is held constant :
(@) Q= [aKP + (] - a)LI""  where 0 < g < |

(h) Q=KL - 0.8K - 0.2L.

The total cost function for a firm is given by

| i

1 &
Cz_ P] i5
g+

Where v and w are the prices of capital and labor

respectively and ¢ represents the ‘quantity of output

produced in this firm,
P.T.O.
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(@) Use Shepherd's Lemma 1o compyy th
:
¥

vy

]

Flj

mput demand functions: for the lahy,
F

and capital input (K).

(h) Use the results to calculate the ung
Ea

production function for g.

$4y.,
(i Wﬁﬁﬂﬂﬁmﬁmﬁﬁﬁmﬁh?%m
feam &1 0F WAE q W fyp,
wqmﬁaﬁﬁﬁn0=rmmmumnﬁ
%rﬁﬁ*r#ﬁTmﬂﬁﬁMqumw
WﬂﬂTﬁ?ﬁmH”Uﬂﬁlmwﬁmn
foemi 8 "em 31 WA eifan o o
K=K & 71 % H 59w o
FEd 3 e § fy=m dm o

iy TEfafes o v & fou @m
M (L) F WAFA ad, w2 W wo § .
TS (K) F e @ s

(@ Q= [aK’ + (1 - g)LPPP @ 0 <a<!|

() Q=KL-08K-021 ° '
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I_f_aﬁwﬂﬂﬁﬁmtﬁﬂ?

llll

gmfdmﬂm%:ﬁﬁrﬁ‘wm:{?ﬁﬂ

CERCINC AL IR L PR IR 0 - J—
F TR ¥

;amwmmwmmmm
3l o ) B fau s s
A wEH §E Fifen

(b) T U W g & fon fife s wem
W FH & fom swEm i
()  (a) What are the necessary and sufficient conditions

to ensure that a well behaved production function

is characterized by a diminishing rate of technical
substitution ?

(b) If a production function is given as :
{f{L. l{} - L'.r'z + K”}.

check if the rate of technical substitution is
diminishing. If yes. then check if diminishing
marginal productivities of labor and capital

constitute a sufficient condition for diminishing

rate of technical substitution.

PTO.
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Find the long-1in - oSt fumetign.
ﬁrh.l

substitution for the I'nlhm-'inp F"“]””i{ Fli,
(@) ¢ K. L) © 2K + L, .
b g = Ak LJ=K+L+2 (KL
@ ¢ =A% L) = 0.5K% (L + 3)
where K and L are inputs available -
‘' respectively. |
() (0 @mﬁﬁﬁaﬁmﬁw
F gifad @ F foau shm
yavF 9 3| § 7
b) T TF IOEA T
g(L, K} = LA ¥ [{]H"
fon &, & wfe W fE o
= # W N W E AW
U R R



(i)

()

(i)

(iii)

( 15 ) 2650

fafafan 3TRA e # fan ddsrin o
v ol & odm s #dfan .

@ g = AK, L) = 2K + L
M g=AK. LY=K +L +2 “..;_H'rﬁ
(@ g = AK, L) = 0.5K2 (L + 3),

SEOKF LU EW: v F e WEd W
A

Explain why a producer is unable to minimize total

costs in the short-run while he can do so in the long-
run 7

A firm has the following production function :
g(L, K) = 05 K323

where L and K are the inputs used to produce g.

Prices of g, L and K are p, w and v respectively.

(@) Find the firm’s long-run unconditional demand for
labor and capital,

(b) Find the firm’s long-run profit maximizing output
as a .function of L.

A competitive firm has the following short-run cost
function :

C=0Q -8Q" +130Q +5,
Find the firm’s shut down price and the minimum

efficiem scale of production. S+6+4 = 13

P.TO.
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(i) TF qfqgrm ®H =1 aﬁmﬁﬁ?ﬁm#
frefifan & . |
C=0Q -8Q2 +30Q + 5

mﬁﬁm'waﬁnﬁaw%ﬁ“
mm%ﬁl



o

i PEperT CONEIns 16+ 3 |1r|n||_1| |‘“E1'-“~|

Roll No. r;_{_;{{ [ ] i 1 l

5

e Question Paper : 2651

il aper Code 12271302 _ HC

Ist- “the Paper © Intermediate Matme;:unumi-l:s-l

ﬁﬂ’ the Course 0 BAL(H) Ecnnumirﬁ—CBC_S

i:::r M|

lin'- - 3 Hours e Maximum Marks-: 75

L wr Roll No. on the rop immediately on receipt of this question paper.)
w5 $ fo=y @ Iw ey o faifE wm W osm wTEws A )
.. Answers may be written either in English or in Hindi: -

but the same medium should be used thmughﬂ_i.it the

paper.
~Eﬂw—ﬁmmmm%ﬁﬁﬁ¥ﬁﬁw

ERiELT SifeFa |t sl 1 HEAH EFE & B
e |
Attempt any rwo parts from each question.
Each part carries 7.5 marks.
All the-nnmlmns have their standard interpretation.
worE weq A e & W G IW il
. wEm WM & 7.5 #F
quft v H e SAfed 3
with fixed prices, discuss the impact

(g)  Givén an economy
effectiveness of Fiscal

of the following factors on the

Policy and Monetary Policy



(7]

(i)

(1)

(i)

degree of sensitivity of Mo,

interest (h)
marginal propensity 1o CONS UM,

The government ol g Country Waing
i i

I

w

the composition of outpu aWay fro, §
L

and in favour of investmen, Withoy

L

aggregate output. Discuss. any gpe B
iy
which can be used for this objective, 5

prices are fixed. ).

Using AS"~ AD and IS - LM diagrams, ¢

the concept of supply side crowding out *

Let there pe 4N economy where investment &

Fesponsive 4 the rage of

(i) Whay would be e shape of AD curve :
i) “Conomy o Explain
(#) I thig . ’
s snlu:ﬂiuu. let the gﬂﬂrnmﬂn
il1'|-'UHII1'L1:I1I! &

interest °

' i lﬁ"’
Subsidy i, order to increase "



Wt
and outpit With the '|'Iurl|1 of AS and Al
ﬂmgrmrﬂ. choow the etlect of this pnhn. on price
and owtpant 1n the short-run and the medinm-run

Aveume that the economy starts al natural level

of output n the medivm run and P .

2455
(%) for Frd oAl @ e # TR A
Stx S ® owwEm W et FwE
% yyE @ f@aa &t
(i) gmﬁﬂhaﬁmﬂ%qﬁﬁmﬂﬂ
F: = (h)
iy IAEm Fw HE i (© |
(=) (i) w&maﬁwmmﬂmﬁaﬁﬁ
mﬁgqmﬁmﬁnmﬁmmm
oy w1 HY W A € g fae
@ﬁfﬂ—ﬁﬁmaﬂﬁ%ﬂ?mﬁm

PTO.

P.T.O.
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v A busmess analvtics company  advertises. saving
We offer the best paid jobs in the industry.” But
why should any company want to pay more than

the minimum wages required to retain the

employees 7

(1) There is a consensus among the OPEC countries

to cut production and f;n.cl the current global glut
in oil. Use the wage setting and price setting
(WS — PS) diagrams, to show the impact of this
on unemployment ratc and r;aa] wages. Also, show
with the help of diagram, how the AS curve would

be affected. | 2.5+5

The government Ppasses labour reforms making
unionisation more difficult. Using the WS - ps and

AS - AD diagrams, trace the impact of these reforms

on output and prices in the short-run and medium-run.

(Assume that the economy is originally n medium-run
P.T.O.

2 TO).
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() Consider the following imaginary quoges “The ;

Bank's decision to allow for higher Money 3
the main factor behind the decline !'n interest Tt
the short run”; and “Higher money groyy,
eventually lead to higher inflation and higher it

rates”. Can the two statements given aboye ;

reconciled ? Provide full explanation for your answer.

(&) () TF =AEEaE fyewm oA 1
i Tt & Y v A
3 At Al 23§ A w7
A H wA Ty ¥y e A
WA A s e @ s A

i) 0 % T Wy sufir 7 T
2?3!
1

@ W T g g W OPEC
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# wa wEEEly o ¥ memH b

a wma-fafm (wsops) =% Y mwerm @
S WiEEY Atsmd =T w =patas
TEEH W OB G w1 wuizn Tod
TRTHEEY AS 9% W UEY w9 wum =
W Yafas # wem A wewsmso,

() fEelt T +1 wER wm gEd = e e
& s uftomrssy Hﬁmqﬁaﬁaﬂm'
dr fas Wt A ST ¥ WS-PS T ASAD
TE=A W wEE ¥ T ged @ wftomreey
IR T FAEA W AR F St § wed
A FUET HT TR (W e BE steereaTen
T H A9 el wrergesn # S qen

SR YA WiEfaw WR W e "E off °e
ofifse fF @it & WR A weremt s

(adaptive) ¥ 1)

P.T.O.
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(3) fafafaa st JRTET ay

(a)

{ 8 )
™o
ﬁwﬂqﬂwﬁﬁmﬁﬁﬁm;%’

T T H I oy .

i,

You are given the following information for an
e
AD:M +V =
r ‘fj Fr + ‘r’r
ASIY. =¥ i i
=Y B{Pr + F'*I )

Money supply rule - M, = aY e
Y !

(All iti i
dhantities are in natural logs and all tems |

stan | "
Standard Interpretations. € is a random variable

that E{EF“I-—I} =0,)

(1} Deri :
rive an €Xpression for the equilibrium value
Fic |
Price and output assuming Rational Expectal
What ; :
'S the policy significance of these ™
(i) Use AS _

AD curyes to show the above "

d‘ag"ﬁfﬂmaﬁcally. '
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| The eovernmemt ol eomye couniry wants to reduce the

mflmion rate from 20 %% 10 4 % It can achieve this

cither through a gradual reduction of inflation over 10

vears. or a drastic reduction in next | year

1 Would the sacrifice ratio in the two cases be
different according to the traditional approach to
disinflation ? Explain.

(47)

Discuss the eriticism of the traditional approach

to disinflation given by Lucas on one rand; and

Taylor on the other. | 3.5+4

le}  Use the following equation of Phillips curve to answer

the following questions ¢

m - TIH —. —-{Hr =3%)+p

(Al symbols have usual interpretations,)

(/) Derive an expression for the natural rate of

unemployment in terms of H. In this context explain

why s it called NAIRU.

I ™
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You are given the following l'"ﬁ'rmaﬁnn
.
& |

cconomy where capital is perfectly Mobilg, Bri
t-

fived and exchange rate is flexible. The B
: . My

decides to increase the output through fi

Explain how such a policy would impact the ¢,

rate. trade balance and output. Also, explaip
happens to the rate of interest and- the compositio

output.

Assume an economy where capital is not mabile, 2
prices are flexible and exchange rate is fixed. Let

be an exogenous decline in exports. Assuming 1

cconomy was initially in internal and external bl

how It
would the exterpq and internal balance be affe

.1

by
Suggggt one pﬂllf}' wh|.|‘_"h can caﬂ‘"

this Change
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bt the imbalances -.in'uﬂtnnmmh,,_ Explain anyv one

reason why the policy sugpesied by you may not he

etfective in restoring external halance. F

Show that. following 2 monetary ¢

xpansion. exchange
rate. i the short-run, overshoots its new medium-run
equilibrium value.

It is said that overshooting of
exchange rate results from the difference in the speed
of adjustments in the financial

455¢ls as opposed to
adjustments in trade flows in response 1o monetary

€xpansion. Do you agree 7 Explain

% I & Y
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¢ ) (1 Pxplain using monetary approach to the Balance
of Payvments, that under a fixed exchange rate
system. an economy has no control over its money
supply.

(/) Suppose a country has real GDP of 2 billiqn, Price
level is 400, Velocity of money is 4. and Value
of money multiplier is 5. Now, suppose that the
real GDP increases to 2.5 billion. Also. at the same
time, the monetary authorities undertake an open

market purchase of government securities worth 5

billion. What will happen to international

b

if component of monetary base according to

b monetary approach 7 {Aﬁsume that exchange rate
3 is fixed). 4+3.5
(b)  Derive and explain the concept of covered interest
arbitrage pafity. What does a positive Covered Interest

Arbitrage Margin (CIAM) inaicate about the direction

of capital flows ? With the help of a diagram, explain

the tendencies, which lead the CIAM to diminish

overtime. 15

P.T.O.
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Spot Rate (Rupee per dollar) = a0, The doll,
I

q

forward premium of 5% per annum,

(/) Explain the foreign exchange risj Faceg

(i)

b
importer who has to pay 1000 dollars i

months. Calculate the cost incurred by g, iy
if he hedges the risk with the help of t

aforementioned forward contract, but the actuy

spot rate after three months turns out to be 59
In this context, discuss a better method which e

be used for hedging the risk ?

Instead, if there was an exporter who expects

receive 2000 dollars in three months, discus’

Tae . fhe
Situation where he/she may want to enef

ol
forward Contract in order to hedge fore®

29
exchanoe ricl ki
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SECTION 1
Q.1 is compulsory. Do any one gy of g,
O,
1. (a) The heights of five players ip a fﬂ”*han I
mean of 76 inches, a median of 78 fnck, Iy
of 11 inches. e

(1) If the tallest of these Players i
+ ¥ I
substitute who is two incheg talley
three measures change? [f yeg h'; 1!
] W

(if) If the tallest player is replaceg by
who is four inches shorter, Which of
values (mean, median, and range) o
determine? What would their new vaug)

(b) Show that for any three events A, B and|
P(C) >0, '

P (AUBIC) = PA/C) + P(B/C) - P(ARBIC) | ‘

/
2. II
(a) Tlhﬂ marks of 21 students in a 50 marks mﬂhﬁl*
given below -

18 20 25 23 39 35 36 38 39 40°

TR 28 85 50 |
c |
m sleulate a 10% trimmed mean for the dat? g

2N



B

2

Lf

3

Qq If A and B are independent events prove that A

W,

b

f]}th‘;

(complement of A) and B' (complement of B) would
likewise be independent.

‘(¢) An infrastructure company has launched two projects,

(8) A factory employs

Ba

30
$ m;“

9150

o’

(b) The marks distribution (in

one in Mumbai and the other in Delhi, Suppose that the
probability of success of the Mumbai project is {}..E and
the probability of success of the Delhi project is 0.3
and that the success of anyone project is independent
of the other. If the Delhi project is unsuccessful, what
is the probability that the Mumbai one is also unsuccessful?
Explain your answer. Given that at least one of the

two
projects is successful, what is the probability that only
the Mumbai project is successful? (4+3+3)

10 workers in the production

in the packaging department and
delivery department. Out of

department, 8 workers
7 workers in the

these
workers 5 are to be randomly selected for g training
Programme. What is the probability that at Jeast one of

the departments will be y

nrepresented among the
selected workers?

%) of students of a class
Results revealed that 259%
Or more while one-fourth of
or less. Determine the mean
Also, find the 10% trimmed

was found to be Symmetric,
of the students scored 789,
these students scored 309%
8core of thege students,
mean, if possible,

P.T.O.
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) Let A be the event thRt & andomy Seleg '
(¢ e vanilla flavour, B be the even; | :1"'.
individual likes strawberry ﬂﬂ‘-’nul 1,

2652

selected o :
event that 2 randomly selected Individy, li )

E I
flavour. Suppose that .
P{A} = ﬂﬁj P[B:l = ().55 P{C] hn.} |

pAuB)=08  P(BNC)=03 PlAup,,
[ A

(i) What is the probability that the indi,
both the vanilla and the strawberry g,

(ii) If it is known that the individual djq i
vanilla, what now is the pmhahililt:.rs
individual liked at least one of thé
flavours? My

SECTION -1I1
Do any two out of Q.4, Q.5 and Q.6.

(#) The probability distribution for the number of ™
that might brea down in a day has been determ™] (

a mach; ;

achine shop, The probabilities for 0.7

bre
akdowns gre respectively 0.3, 0.6 and 0.l

(i) Fi o b
n:lndbthe Mean and standard dﬂ"’iﬂnﬂna
oo daily breakdowns.



ih

]

%, 52 )
: ; a
thé v Daily repatl costs, K, found 1n rupecs 1
e ’ X is the
Jh calculated as R=300+% 200X?, where d
: e expecte
1‘!{- ~umber of breakdowns. Calculate the exp
daily repair cost.

! makes initial contact with the putﬂntial

"MA galesman
er o assess whether the customers

\§, customers in ord
would like to purchase the product if offered some

l%\ jucrative discounts. His survey suggests tha 40% of
7"5\ the customers would purchase the product if offered a
 giscount. If he contacts 100 customers, then what 1s
|:L the approximate probability that between 45 and 50
E'!' customers would actually purchase the product?
kc) The amount of time, in minutes, that a person must wait
for a bus is uniformly distributed between 0 and 15
minutes, inclusive. What is the probability that a person
waits fewer than 12.5 minutes? What is his expected

waiting time? (4+3+3)

oY

b= Y

(8) The time taken (in hours) by a transport company to
deliver a consignment of apples from an orchard in

Himachal is a continuous random variable with pdf given
by :

P.T.O.
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=

0 for x-::ﬂm-x;m

(i) What is the probability that the th (e
deliver the consignment is at the Moy

(i) Compute Expected time taken anq yj,
deviation of the delivery time,

(b) On a statistics examination, grades arey
distributed with the mean grade being 7!
standard deviation was 9. The top 10% of the
are to receive A’s. What is the minimum grade:
must get in order to receive an A?

(c) What is the probability of getting a 9 exactly uj [
throws with a pair of fair dice? ' i

8. (a) Suppose that 10% of the probability fgrﬂ
distribution that is normal with mean K and e l
1!
s below 60 and that 5% is above 90. L
values of M and g9



7

)) Let X be the time between two successive landings of

plznes at an airport in a certain city. If X has an
exponential distribution with j=|, compute the expected
time between two successive landings. Also calculate

the standard deviation of X. What is the valuye of
{1<X<2)?

YLzt X have the following pdf

1 <
{l’x}=-f for0=X <1

0 otherwise
whick is 2 uniform distribution on [0, I)

s (1-X it 0<X<1/2
BX) is given max(X1-X)=7
Bl Gl ks o i 125X <1

Find the expected value of h(X) (4+3+3)

SECTION 111
Do any twe oyt of Q.7, Q.8 and 0.9. )

(r.y) 1m.n:u O | 00| a1y 2.0 (2,1)

e

P"::;yjlirlﬁ N8 | ans | 3ng | 618 | 1118

P(x,y) is cqual 10 0 clsewhere.

P.T.0»

L]
]
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(i) Find the marginal thﬂbilitym ’:
X and Y. By ¢
hr

Ehl'r:l.l
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(i) Find the conditional mean of y

(b) A production process is composed of e
II and III. The time taken at each Slage i:!
distributed with mean equal to 15, 30 g4 ![.l
The standard deviation of time taken at egqy
5 and 1.5 seconds respectively. Assume iy,
each stage is independent of time taken by ot

(i) What is the probability that it will take=
{ minute to complete a randomly chosen 42

(ii) For a randomly chosen process whj
probability that time taken in stage &

seconds? |

(c) Let X be a normally distributed random ‘“”“'1
mean 16 and variance 9. A random sample am,ﬂl"l
:

chosen from this distribution. Let X be the '

to be
The standard deviation of X is found l*;
is the sample size n?
=123 f':

8. (a) If f{x,}r}={x+y}fk for x=1,2 and ¥ hah‘]ﬂ
value of k for f(x,y) to be a valid .l[:'lnt pre ‘f:"
function, What is the value of E(X) &%



he same sample of 16
pipes
g "
% (1) Describe the distribution of (X-7)
Ity mi oo
! () Find P(-1<(X- 3)< 1) (5+5)
g
ipd@) If two cards are randomly drawn (without replacement)
from an ordinary deck of 52 playing cards, Z is the
1l number of aceg obtained in the first draw, and W is the
total number of aces obtained in both draws find
(i) The joint Probability distribution of Z and w
ot (i) The margina] dlstributmn of 7
fo
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SECTION [v !
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Do any two out of Q.10, Q.1 i

10. (a) Varun Publications obtained z randon,
books to determine their average. Tp, Ens;
assumed to be normally distributed, If the g,
is Rs. 23.56 and sample standard ::lewatmﬂ
find

"-\.
| .

(i) 98% confidence interval for the cqy,,

(i) How can Varun Publication’s make 1]
more reliable? Is there any loss assoc
it?

(b) What is Mean Squared error (MSE) of an estin
Show that MSE (#) = Variance (8) + (Biss|

(c) Consider a random sample (X, X Xy X
population from a probability distribution funct

f(x; 0) = 3(1 +x*9). Where —2515%

(i) Show that § = (sample mean/ 16) is ¥l

estimator for @,

. IE‘
() If a sample size is 3 and the sample’
give point estimate for 0.

¢



2 11

(a) For each of the following confidence intervals drawn
from normally distributed populations, find the confidence

level, width and mention the distribution associated with
the statistic used :

aofe wu B ,5LJ
@) (x L4, X+2.0 =

(if) [i = 2.059:?__, 3T:+z+sm%] B e 2
n I

) Consider a random sample (x,, x,, X;.
probability mass function

pP(x;0) = 2x /0 (B+1). Where x = gl T -

..X,) from a

(1) Find an estimator for 8 using method of
moments.

(1) If sample size is 3 and sample is (1, 3,5) give
point estimate for theta.

Let (x,, X,......X ) be a random sample from a population

with mean p and standard deviation o. Show that

51 - Z:.u("‘{ -_i.)z

— 18 unbiased estimator of population

rariance, denoted by o2, (4+3+3)

P.T.O.
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50 houses showy

f
s sample © , My,
' andard deviaij "
454,16 ppm and st oty

Q) Find the 92% confidence imﬂrwi
iy

(a)

levels.

(i) Suppose that the population g,
is 175 ppm, what must be Eamplﬂaia:_
size of error to be 25 ppm only g 95%: :_L

level? b

(b) Suppose that true average marks of Sect,
Section B of Economics (Hons) are equy

equal to p. The variance in marks for Smtiuni
whereas it is 4a? for Section B. Let A dﬂﬂtﬂtf
marks from a sample of size M from Sectio ),

B denote average marks from a sample of siz|

Section B. Let the estimator for p be i=ad+

(i) Under what conditions is [i unbiased

(i) What value of & will minimize variam
estimator?

(¢} Consider a random sample (X, X,, )
probability distribution function
f{x; [—}J = @y (0+1)

e » Where (<  Find 8 0
likelihoog esti A5

mator for g
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The question paper consists of 7 questions,
Question No. 1 is compulsary. It carries 25 marks.
b Answer any five questions from Q. Nos, 2 to 7.

Each carries 10 marks,
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Atempt anY five parts
ool s gt & IW IS

identify the type. Of T
o brackets. Justify your answ

Eﬂrﬂh StUd_‘f' from the

(a)
mentioned in th

(i _Descriﬁing pfnhlems faced by immi

{ﬂbjectfvé:s].
;;r':} Studying the r_e!aiim;ship between ady
campaign and sale of a pr_uduct. .{Dhjea:ﬁ
(ii) Developing and refining research ™

(Application).
(iv) Study undertai::en to decide if it is worth
out a detailed investigation {ﬂhjﬂﬂti“i}'
o ot I

(v} Exploring why do pﬁ:-pi‘e migrate

(Objectives).
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A resezrcher uses the ‘afier-only experimental design’

w study the impact of immunization programme on child

heaith :

(i) How can the baseline information/*before’

ohaervation be obtained 7

P.T.0.



(i) Has the researcher chosey the
r“.r

design 7 11 not, what study desj,
I

recommend

vw A EAE W gy
Ece L A N (G I L (T
gy W S T B ‘
I L L o I B ST

g # oo wwdl § 7
gy w0 el A wEl s wey ’#HI
v e wdf, wmosm W s

wl s 7

() A student decldey 1o |ruuli:rlm'm i research propd
Feonomics for wawessmont at undergradunte ®
She sturts reviewlng lioraure without o
orenemch problom or finalizing o spectiv i
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A researcher wants to examine the effectiveness of a
policy variable, X, on another variable, Y. During the
course u.f examining this causﬁ[ mlﬁtiul;tship, Eile finds
that variables X,, X, and X4 also. effect Y. Another
variable X. provides the link t_ha't completes the
relationship between X, and Y, Identify the independent,

dependent, extraneous and intervening variables. Provide

definitions for egch of them.

PTO.
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(&) (1) - Identify the' type of h_;ypﬂlhesis. in each of th

following cases. Justify your answer :

o  There is no significant difference in 1400
force partlclpatmn rate ﬁ.‘ll‘ males and femsls

e Labour force pﬂrtfmpannn rate 18 lower

e Labour force pﬂ.r'[ii:ipﬂ[_i{'rﬂ

twice that for females.

(4) [jfﬁﬂﬂ the fwo LYpes of errors that can e

the testing of hypothesis.
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p Which approach to information gathe,;.

"

choices mentioned in the parentheses ~woulg
Ay

Youy

h of the following situations -

ead
n a Juillh

ANSWET -+
() The studv population is illiterate .,
I-_tl.hl'-

schedule or questi onnaire).

(i) Annual income (open-ended question or i

question ).
(i) To study the Jife of a tribe in a remote s

(participant observation or mnon-particips
observation).
(v) To record a person’s personal experienc

(Narratives or Oral hI'SIEF}’.]

(v) To have complete freedom in terms of struci

i r o
content, wording of the questions and ond¢

§ . . e M
asking questions (structured intervie

unstructured interview).
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(i) EMHE T (gen = wg mm)

(ifﬂﬁW*ﬁﬁﬂﬁﬁ]ﬁﬁ%ﬁﬁ?
T A W o (R s
A R-wfavei ﬂﬂﬁiﬁ'-l} .

() T =fF & =afsm aﬁﬂﬁi a1 Tt
mﬁ%m(ﬁmmmﬂrﬁmsﬁm)l

0) W FH G, Wﬁmmqﬁﬁ%
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- A7 wifE W) |

A questionnaire -seeks to collect information related to

- Yarlous aspects of a canteen. It comprises of 5

Statements, each of which has five possible responses. .

P.T.O.
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. ancitive statement’, the corres :
For a ‘posiive ta ' Eﬁpnllclmg

numerical scale is as follows : n,‘

strongly Agree 5, Agree 4; Uncertain 3: Diﬁagrﬂ”
Statements 1. 2 and 3 are “positive statemengy

-

4 and § are ‘negative statements’, ' 1

The responses ll:l the statements by two fndividual
b

A and B are mentluned below. Calculate the atmudmﬂ
scale using Likert scale and  find out "'"Tlth'

individual has a more ‘positive’ attitude towards g,

canteen.

Individual A . Individual ]i__h
Statement no. Il 2 3| 4] 5 1L 2] 3|4 5:
Strongly hgfee- v ' 1
Agree V| . - ' y
Uncertain W ; | y
Disagree X 3 3
Strongly disagree v P e

L ”Eil%iﬁﬁ?ﬂ‘_ﬁﬁmw‘gﬁﬁﬁa
Wmmmﬁl T s F b

~

.

ol
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5 (@) Give any three points of distingtion ety
[l

th:li

approach and Quantitative approach of ¢
e
th

(b)  ‘Although the control design helps yoy |, q“&m’
impact that l‘:ﬂl'.l be attributed to extraneqy, b
it does not separate out other effets Discyg,

‘other’ effects. Propose a study design that ¢, be
to separate out these. effects.
(c)  Write any three ethical considerations that a reg,
should keep in mind. ' 1
(@ TENT B OIS SR A gfqm-q
by ‘TER WEY FrEE Al WD AW H
FA F HEZ. WA ¢ W & A A3
SO TE FAAT' = quE Hw oAU FH
W AEl F) e w B o s T
F wefag i |

© T F ey A A d e
F feafan

s .Whm- are the three phases of the research prﬂﬁfﬁ?

~ List the Operational steps, as per the eight-step modéh

‘ El
undertaken in the research journey.
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(o)
. (@)
(b)

(c)

(a)
(b)

()

( 13 2879 .
How does a variable differ from a concept 7 Substantiate
vour answer by describing the process of converting
the concept of ‘poor’ intp g variable, 4

List any six contents of a research pfupasal.

3
Discuss the steps involved in

nnn_ductjng_ literature
review. 4
“Construction of a hypothesis is essential for a research
study.” Do you agree with the statement

? Justify your
answer. '
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(a)

(0)

. called and briefly describe this Process

s i T R ST

i

(14

‘The formulation of a resear, -
M i,

: U
part of the research joumney 4 » ty

q“ﬂFiﬁ, :
q
N,

of your research projecy St
=
¥

4
atjp,
a|'|

problem.
“The first step in prﬂcﬁsﬁing your data
)

that the data is ‘clean’. What is -
: L

H’éﬁ‘iﬂfm%ﬁﬁﬁ[qqﬁmﬁ:
LM i e L U L

T FEe & qm wi A7 T



( 14 ) ‘

vphe formulation ol a research Py
T

™

1 fl,

part of the research jourmey ag gh. q
]

'I"ltfl
d al:.l

of your research project €ntjrg)
¥

!
it.* Describe the steps in f"urnmlg.,-
In

problem.
(5) ‘The first step in processing your g4, .
called and briefly describe this pn;cesg_
@ T TR T s
sy e & i Wi i ¢
Hﬂr'ﬁmﬁm_sﬁ _mﬁﬁ;ﬁ W R 5
TR T w PR W T
7 iy Hw E
T B o § yam ww Wl
g
LR X ot ¢
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. priefly discuss the various ways by which you can
@

communicate/display your research findings 7 3

&) Describe four considerations that must be kept in mind

while constructing a hypothesis.

4
(@ How is a research design different from the study
design ? 3

@ AW A BfE R e ogw e e
TR YA W Freed ¥ vl iR
U Hife )

¢ T RET B fe § oem W RcU

(c) ﬁ_ﬁammmﬁmmw

(@)  Briefly explain the fﬂllnwing‘types of validity relevant

to quantitative -reséarch :

-

Face and content validity

* Concurrent and predictive validity

+r

*  Construct: validity. 6

How is simple random sampling different from stratified

(b)

it

- fandom sampling ? Briefly describe any two common

methods of drawing a random sample. 4

P.T.O.
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Atiempt any five questions: -

All questions carry equal marks, 15 marks each.
=l W v ® e @
w3 aﬁﬁmﬁ 2
I‘The period of 2003-04 to iuia-aq may be divi-dr:d into two

m
TOTE or less pqyg) phases the first, a period of high growth

PTO.



with low inflation and the secong, One

Of I

"
] l?r-.l

high inflation.’ Explain the factors "esponiy

€ fi, ”

Reversal'. Also discuss the policy imf““ﬁ‘mig

iy
L

revive growth.

ad 2003-04 R 2013-14 F g ?
W-@[fg@ﬁﬂammﬁ,@ﬁ

Or/( 3197

The overall Macroeconomiq Picture in India has nt®

roeconomic

in India. Discuss the policy 3gond e Ih- ﬂwﬂ;
€ recovery

| trajectory,
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:#1 ow the developments in India's trade ﬂvf:r the last d;zztade
; : -a-vis global trends and analyse the changing direction and
gomposition ‘of India’s exports and .imports. Di;cuss the
wrarcgic steps that can Cﬂnlt‘ibl;’l.e to correcting “the growing
ade imbalance. o . : 1045

mﬁﬁmwﬁﬁﬁmﬁﬂmﬂ%
' aﬂ\tmaﬁaﬁﬁ!ﬁwﬂ.ﬁmﬁﬁw
.mtmwwﬁmwmm
Lwm w e w

Or37914)

. "With outbreak of the global financial crisis in 2008 the debate

~ has reached a flashpoint prompting the academics and

P.T.O.
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akers 10 question the wisdom of fet,
jcymanets
polic)

' In light of this statement, Proyi

Eluhalizalinn. e

1,

lysis of India’s pattern and experienc, =
analys |

glnhaliz:aﬁﬂ“

zmaﬁa’mﬁ?ﬁqmm%aﬁ'“
@%mﬁﬁaﬁamwﬁﬁw
st st fadta spreeia #t g
ﬁﬁ%m R TR

A foi el & @ o s @ s
faveram Fife ) -

‘It 1s ironic that in a country with nearly 470 million wen

all evidence indicates eXtreme ang eyen increasing reluct

of Indian entrepreneurs 1 employ, unskilled workers.” Criti!

examine the role of Compley labgyy, laws in context O
absence of iﬂrge-ﬂcuic'ﬁrms . '
i the | _ i

abour-jntensive sec!

India. Suggest some reformg thay
d

o
: e ”rgenﬂy needed
labour legislations,






Discuss the dynamics and sources o Prodye,. g,
Rr.'
Indian Agriculture. What policies should pe ““W i-.
lf:

ally and EIZ'DI‘IIDHTIEH"}' susta:na
an ecologically ble , gr'ﬂuit,t

W?ﬁﬁmmﬁ"ﬁﬁﬁ
aﬁqﬁmlmﬁ?%ﬁhm%
ﬁqﬁmmﬁﬁﬁﬁﬁﬂﬁﬁw%$
e 7

“The objective of _mn&em anti-trust is to prevent market p,,

from restricting competition in ways that are harmfy| ,

efficiency and consumer welfare.” [p light of this stateme:

provide a critical analysis of “The Competition Act, 202

discussing jts strengths ang limitations, .
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sia's experience of the recent trends and patierns
w Indid
Revie®

foreign direct investment (FDI) and foreign portfolio
vesment (FPI) flows. Has India been able to harness their
development potential fully 7 Justify your answer. 15
v fA FRM (UERE) s feh e
fm (TFASTE) YA A we @ = e s
mﬁm%mﬁﬁﬁﬁmaﬁmlww
1 o S % oo § G § e
AR 2 W IW oW sifem fag Wit
"Services have been a critical part of the overall economic

reform and liberalization process in India.’ Discuss the trends

in growth, employment, trade and capital flows in India’s

Service sector in recent years. Examine the case for further

liberalization of the service sector to yield sector-specific and
cconomy-wide gains in terms of growth expor, efficiency and

COmpetitivengss. 1045

PTO.
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but the same medium should be used throughout the
paper. '
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This paper consists of 8 questions, |

Answer any five questions,

each question are written alongside the

The marks of questions,
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F rah I e H i I
(a) [Examine the view thai there i \

income and life expectancy am
n

countries of the world,

mmﬁﬁhﬂﬁﬁqﬁ;mél
: '
gy T T

(h) Discuss the significance of the Humgp Dy

Index as a measure of wellbeing,

FET H TH AT F T H AT o
% Wed ® ered Hife|

Describe the main features of economic reforms in Indu

China. Explain why India has Ei]‘ed to achieve labour inie

mdustrializminn unlike Ching

L]
= -



B9

cqow prediction of unconditional convergence doe
0 5 not

mpirically. Does the weaker hypothesis of conditional

ok’

cnce help to prove that the poorer countries tend t
0

conVeTE
gow 3 higher rate of growth as predicted by Solow ? 78

= v et SEn R oA 3 ufeememh =5 o 9

(a) Outline an endogenous model of  deliberate technical

progress assuming a fixed supply of human capital,

bringing out how it is an endogenous model. 75

W@ﬁﬁﬁﬁﬁﬂﬂﬁﬁﬂﬁﬁﬁﬁm.

o % TF faengEs Aed FoEWen ¥
i < <uiEy f a6 T s Hea R

T ?

() Explain a mechanism t0 quantify technical progress as

tion and examine its

1 in the Efﬂwth equa
7.5

a residua

drawbacks. :
' PTO.
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..t}_:a-}# wﬁ ﬁ :*111“-;-“3 m_ﬂ ﬁ
LR

¥ = #if 3R s i
y

b

¥ 34|

The avonomny of Ginisen has en people and twy _
madioong’ and modem). In the vear 1995, three Pevpe
™ D¢ moadem seeror and eamn § 2000 per mong, T
ine m e maditional sector and eam S 1000 PEr mond
3 resul of pew investments in the modemn sector durry
0005, o people moved out of the traditional sector by
2015 10 w@he up new Jjobs in the modern sector :

(gl Calculate the Gini coefficient (GC) and coeflicic

VANAlion 7 . .
(CV) of the Income distributions in 1993

2013 respecti ¥
pectively. Withoy, drawing the Lorenz ¢

5 Would depict.
()  Suppose the poveny )iy is §|
300 Per month. mmp@

the poverty gap ratig before and o y i
0 alter the chang®
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fﬁq&mﬁmﬁﬁﬁnaﬁt'&l&?ﬂtm
fir

& ) ¥ 1005 § A @m smyfrm A H
ﬁﬁﬁmmszuuuwﬁ%lmﬁﬂﬂw

Qgﬂrzﬂﬁaﬂiﬁﬁmﬁimunm%l:ﬂm%

& omgf &9 T PRl & wfomEs 2018

| e 4% R 9 W Few WA § o smyfr

& § dwt FA oW ¥ .

@ 1995 32015 & o e faor it fr o
d fm & TiE TR &I wR
ﬁﬁmaﬁrﬁ,mﬁmﬁqaﬂt@ﬁﬁm
i # AR # wd Afm W A T
9l B | , |

(b) =M e 6 et ey § 1500 @1 SRAE
ﬁﬁﬁ&fﬂﬂﬁﬁﬁaﬂﬂﬂmaﬁ
T it |

& (@) “Measuring poverty at the local level is straightforward,

""I'E' *’.- P --'-'-:'.'

=

at the national level it is hard but manageable, but at

the level of the world as a whole, it is extremely
difficult.” Discuss. B

P.T.O.

F, 1.
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(h) Discuss the dynamics of 1-~-f¢=:ali:h-a'|-p::.;|uﬂ“,F &

and the US in the 20th century.

209w F T AR TEAF F wfy g
#1 Tfawl ®1 G Hifaw|

_‘?. Neither the state nor the market is uniformly success
enabling individuals to sustain long-term, productive it

natural resource systems. Discuss using examples from &

theory.,
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Fyplain how the linkage effects of different primary
‘ﬂmm“d“m can both stimulate growth as well as cause

15

miserisation.
sren #fen fF SRR yer fafe wefe e
éﬁ%ﬁﬁ?‘ﬂﬁﬁ’ﬂﬂﬂﬁﬂﬁﬁﬁ%mﬂ—Mﬂ

| pureE Hgfe H OERM a § 2
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Yhw BBl Vo
g e Papen 9% "
e ade + 127501
o’ Tablic F comamics
#.f o ' RAL (Mone ) Fennombes
' ¥
- Y honrs Mavimum Marks + 78§

Wate vour Roll No.on the top immiediately
an recept of this guestion paper. )

anowers may be writen either in English or i
Hindi but the same medium should be wsed
throughout the paper.

Juer i five questions in all, selecting three questions
. jor Scction A and two questions from Section 3.
Fach question carry 15 marks.
o #7 T mve 7§ & 99 g g e v
5 7wt AT ¥AE T 1S 3F FE

SECTION A

L () How is the efficiency condition for the provision
of public goods different from that of private
poods?

2 ”ﬁﬁﬁaﬁaﬂ%mﬂmﬂwiﬁ.fﬂ

ﬂﬁfﬁammaﬁ@ﬂaﬂﬂﬂﬁtmm{ﬁr—a

¥

{b) Why does the government provide the Eﬂﬂdﬁl
which are not pure public goods? What 1w the

P 1.0.
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2.

2
different mecthods of rationing by
ment? ﬁtﬂ-,

e wwe W wg ardatis
o w4l 3T et ¥ 7 “‘”"T;n?ﬁ!
1 i

wYq @ faf=1 ol i

s¢ markel price o diverg,
inefficient allocay,

solve this pry

"Hﬂurnlliticl cinu
socinl cost, bringing about an

resOUrces.” Examinc. How can we
with government intervention?

qugran W TROT ATATT HHHA site arnfas @ i
s o B, fore@ HarHl S g
1 ya waa @ ot w9 T T i

mmmnﬂlmtﬂmmi?

{I

axation meas

itution effect|
madil

(n) How is the efficiency loss with I
Why do income effect and subst
tax reinforce each other for taxes 0N com

with the help of indifference curve analysis’
wI ¥ e Y qrd gwar §1d F AT
fﬂ?ﬂ”ﬂrﬁiﬂﬂmﬂtmﬂﬁmﬁ
ﬂfll"m:ﬁ Hfﬂ;:m; Wy e s 47 ad
" A1 wEh 19¥ ey ﬂ I '
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whal is optimal  tax  structure? Compare

l-('i gressive and  proportional income tax

«chedules which have same effect on utility. Is tax

i revenue higher with proportional tax for a given
jass of ulilil)r'?

4 pa & WET T oA 37 amfan W0
Y g YW e A wifieiter ud anquifass
g S #®ogEm #ife el &
gEaaR AFEE W a1 &t fofa o
w1 U9 AfEs g R ?

) Explain the role of elasticity of demand and
supply in determining the incidence of taxation on
commodity.

sl W R & Afdsw s & frafor # A
# gfd & = F it &t faEs Fg 9.6

il ﬂ-‘ -

W'rite short notes on the following:

(2) Positive externality
(b) Fiscal functions of the government.

frefatas w feouit Fifag
(a) FATHS gdl :
(b) WER & UIHEE FH | T2, 7112

. Secnion B

.L Discuss the rationale behind the proposed tax reform

!0 India in recent years, with special reference to

1..-' %da and Services Tax (GST) over the existing
y El,l indirect tay Sysiem,

aﬁmmﬂaﬂm%aﬁaﬁﬁﬂmm
P.T.O.

o —



. Distinguish between fiscal deficit, revenue def

4

t’ﬂ#@“?ﬁﬂ} 3 ﬂﬂ‘-’ i \ITe o

w':"“i'.'[ 3
st & wef ®if ) 'y

\

What is the difference between vergjg,,
fiscal imbalance? What are the maip rec

of 13th Finance Commission with spegiy, rcrg::q
vertical and horizontal devolution, 'y

sl wd dfed A argaa ¥ Ay gy
¢ v @ A T F g
aram & & s fawifo § 2

LhT h”r,
OMmme )

ity
monctized deficit. Analyze the impact of fisca] 4

an saving, investment and growth in the light of pg
debt in India,

T GR, U 12 UE g o ¥ dea
e Fifwe ) g F uefafis oww §F owes

TED W ¥ awa AW @ ggfg W wE
faveem sifay | 7]

Write short notes o the following:
(a) Direct Tax Code

(b) Componentg of

|
| revenue and capital budf®
India,
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o Roll ho on the tap immediately on receipt of this question paper )

p —  Answers may be written either in English or in Hindi:
hut the same medium should be used throughout the
paper. ;
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=1 |

Attempt any ﬁv._ﬁ: questions.

- Use of non-programmable scientific calculator is allowed.

Suppose a firm hiring for a new job knows that there - are

WO groups of applicants of roughly equal proportions. One

Efoup has a productivity of 2 and the other of 1. Further

E Supp.““_ that the Productivity levels are immutable and the
tl' 1

PTGk



g E - .I 7
employers cannot readily disting

which group. Employer
at least

2 and that thos€

ﬂ

nish which applicay,
Ty

come to believe that Ml
i

. _weation are the ones with
o* years of educationt £ Prodyy,

: - than e* years are |
with less than Y N the |,

productivity group.

(@)

(b)

(c)

If additional schooling does not enhance Prodyg;
a

der what condition would requiring the signy
under ]

help distinguish betweedn. the two group
(< :

applicants 7

What is the impact of education being costles

Discuss specifically the role that psychic coss

education play in enhancing the usefulness of |
signaling model.
Assume that each year of eduaction costs C for I

with lower productivity levels and C/2 for those !

higher productivity levels, Using an appropriate diag

explain very briefly {he choices of the years of educd

that bot :
i h El0ups will makg b},. [ﬂkil'lg into ﬂCCﬂ'Um ih

lifetime Eami“gs.
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wal USINE any vears of education ¢' = ¢* as
[ L : ;
f 0

quired genal cannot be socially optimum. 5

i fFoTE OWH U R PEG & fem o
C ¢ owp wEA v R STAOR W SR SO
. gieEl @ R TR TR ¥ UH W E IEEa
I=a¢§ﬂﬁq§ﬁ3ﬂml%l'ﬂﬁ?ﬁﬁﬁﬁ_
——57 & T ufEdam ® oaw fEEE s
i T W TR R oI omew g ow @
a7 % ) frimmst W favam ¥ B RW o
T e F O FW A W oo T S
:%Wﬁ?ﬁ'ﬁmiﬁﬁg;ﬁm%ﬁ-ﬁ
T A W A oem 1

(by  wra-ife

PTO,
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ai @ foan T oc ¥ g Sy 1
a al # fau cn ?rtra;%
g Fd Y, SET-W g qf-qu[ﬁ
Wﬁmﬂﬁﬁmm%
= F O A ST #ifim,

@ m#aﬂwﬁﬁﬁﬁmﬁ%
TR R o> et B I Fy gy
SRR @ ww

(a) - Consider two households A and B- with the foll

information

Household A Household §

Total Income Rs. 10,000 Rs. 5000

Household Size

10 .

Which householgd 5 Ficher compared  to the ol

household ? Eluci :
Elucidate Your aswer sivine th econo™

iving the
theories., '
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S %)

l sccording to Deaton and Dréze (2009), are the
what- = -

M
casons o the decline in per capita calorie intake in

'|Ii"|l.']-|:.'1-lzI |1
l"1ﬂqﬁaﬂf}ﬁmﬂéﬁﬁﬁm e s
A T ¥

l
SER A TfEm B

_—

@ 4 Rs.10000 | Rs. 5000

TR HSER | 10 5

'%?ﬂﬁmmﬁ@'ﬂﬁ_mmaﬂﬁm-

() EEA R IH (2009) F W.Wﬁﬁﬁlmﬁﬂ
Fad w A W e & fau s own

€7
'r}- Suppose there is a population of individuals whose number
is normalized to one. Let 1 € [0,1] be the fraction of individiials
i who are immunized. The probability of contracting an infections
i

disease is given DY pln)=pyfl -n)?, where p, is the probability

Y T

PT.O.



of contracting the discase when none j,
Il'h:.l

Tis
1]
i

immunized. Assume that the vaccinatjg,

1
I I"Ilr'r'.'||

effective. Individuals are identical jn 4) -
; g |,

of illness is assumed to be the same Acrog

all g,

and is equal to one. The marginal cog of
&
Is a constant C

(a) = Derive the private and social marginal benefy, i
; y

the relationship between the two 2

(5)  Show diﬂgl‘ﬂlﬂmﬂtim"}" the private optimum ang

social optimum.

(k' What are the possible reasons that make govern:

pfaltcy makers pursye full immunization ?
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@mﬁﬁ“ﬁf%lmmﬂq&ﬁﬁw
s g A W OAE W sl A v
f.ﬁqlﬁmﬁlﬁﬂﬂmaﬁmmc%
4 f& fer ¥ |
o et SR T e e frefm s
A F A owEy R
» @ g B gem s st T
TR s _
o wEAR feaet @ ol demon swn $
F' ﬁﬂﬁﬁww%f |

e e i

F (@) Consider a life-saving drug X to control the spread of

. | malaria. The government is the sole supplier of this drug
|

and pmwdes X, amount of this drug at price Py The

T

linear demand function for the drug. XisD(X)= d (P).

To in.EEﬂthriR the - public to consume more of drug X,

he government gives a subsidy of S rupees on this
the

drug. Let the price after subsidy be P,

PT.0.
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(1) Discuss the effect of ;. sl
L R, l|‘|,||I:|III
. 1I|-I rh

for immunization for malar;
£ EL

.Lllllht'n 'l.
i

function is as given aboye

(i) How will your answer change i
: UE'?"'I{.

drug X is prevalence elastic 9 Discug, i
-' TR oy

effect of subsidized preventive actiop
. o

government.

(b)) What are the effects of varying quality of medicy .

services on the demand for these services 7

(¢)  Calculate the Index of Dissimilarity of males and fems
given the information below :
Occupation Males Females
A | 40 X
B . 40 2
C A ]
. T
Total 100 | il
__——"'.....‘“
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51
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(@)

(&)

()

B 40
s! N
T 100

Comment on the causal links between® heal®”

e Human Development Index (HDI) v,

Calculat
following data : Life expectancy (years): 793

yearé of schooling : 7.9, Expected years of schy

13.8, Gmss_Naﬁana! Income: (2011, PPP §) It

[Hint : In.(75000) = 11.23; In (100) =4

n (16509 = 9.71; 0.4539=0.7685]

While creating the-dimension index for a decent stand
of living, why is the natural logarithm of income ¢

used 7

education, both from intra-generational and 1

generatianal perspectives.
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Bk B s s - ]

pfefian SRS W WM A W o
gaF® B AN . SFE wemm (o
#): 795, TSN R W we g, wEh
fen & SMaferm avl: 138 www U2y
A4 2 (Q01L PPP'$) 16,509 {FFE: 1n (75000) = 11.23:

In (100) = 4.61; 1n (16509) = 9.71; 0.4539=0.7685

!

(0 STEO-HET AR SR-feE F afhes # e
R foen # dre wRoLwE oA # feomh
e | -

(@)  Ashok, age 41],_ is suffering 1:mm cancer and hence he
values his life at 0.5 Inf_ a i]E_Elth}'I}'ﬂﬂT. He has two
choices :
. Choice 1: Don't g0 for any treatment. '

Ehﬂi'ce 5. Go for a treatment whir.:hlwil'l 'pmvide him

full health with probability 0.7, but mié;,ht result in his

death with probability 0.3.
P.T.O.



(k)

(a)

G)

He is expected to live up to g y
Crs, Wy
i,

probability that would leave hip indify
_ Creny

choice 1 and choice 2. 7 |

Explain briefly the three methods useq for
: Vg,

benefits of health pfnjccts.

Y, T 40 aﬁ,a’:‘mﬁﬁ]ﬁﬁ%m.

foFer 1: fegt s IR W T A

W W Wi o ® g 3% I T
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R, 40 050 for left-handed workers,
5 ik LY i
1 ek ha

v the number of lefi-handed workers and MRP,
thn::,ﬁ;..md n rupees per hour. The going wage for
efi-handed workers is Rs. 20 per hour, but employer
4 disciminates against these workers and has a

discrimination coefficient, D, of Rs. 10 per hour, Graph
the MRP, curve and show how many left-handed

er A hires. How much profit has
emplover A lost by

workers emp'iu}f

discriminating 9 6
Give reasons why it ig suspected that the estimated

rates of return op investments i educatiun‘_might be
upward biased.

framework of the Cobweb Model
of laboyr market adjustment. What happens

to the error
N adjustmeny when agents follow ratinnﬁl_

expectations
instead of purely myopic SXpectations? [Hint

: Enginﬁenng
is a four-year Program ) >
TTF'I wifom fip T T A w3y A srfigery
% fo MRPy = 40 - 051, g L =
T T
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(c)

(a)

ﬁﬁéﬂ%ﬁmﬁaﬁmﬁﬁmmf
HEWB:FW%;

A W % i dw o
F W W e R g wn AR
T i i af w
?ﬁmwﬁ%mﬁ.mﬁF
5 Eﬁfﬁwﬁwﬁﬁﬂﬂi

I"{“a h,
rale jn close 1o achieving universal enro)’
fegen f
|

ot Primary ang

S¢con, .
low, Critiea) “ondary schooling levels are ’
ey Ang |y,
Ve,
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Fplain wih present-oriented people are less likely 1o

pvewt a0 oducation than forward-looking people (ceteris

b —

paribus) 7 5
ST 1 B i B T - = B L R i R e o e =
s oW R oW osnowen ¥, fen AR sea
T WEES AR "t e S-S s ie®
ﬁmﬁﬂﬁﬁﬂwmm%.m
oo =i o | -
R e L S
¥ wiEEosepEm e foan ® ww BEwm
O Em 2 (st et = om0

o
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The Distribution of marks is given with the question.
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() What is the 'Residency Criterion recommended in Third
Working Group Financial At.;rg.regales ? 2
(5) Explain how money multiplier can be made mvanam 10
chang;s in CRR ? 3
(c) Differentiate between Exogenous, and Endogenous
money supply Curves. What impact will -a rise in
monetary base have on these curves 7 6
(dy Discuss the Banking System determinants of money

supply- 4

PT.O.
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P’ ( 3 ) s

jeposils 88 Currency. Calculate the total stock of money

in the economy.

i Central Bank sells INR 100,000 worth of securities

h'f through open market operations, what will be the change

g
;

in money stock, deposits and currency holdings 7 5

= = O W ospl gEm F wwm
7 favem =ifs@ @ w=d #, swwfim
{as}mmerﬁc}w?ﬁmﬁﬁﬁﬂmm
T aen fafay il = e

) U@ FF 350,000 T T s SER SAT
Tad £\ SE1 ¥ AT SIS (deposits) F 20% ;
#AGIah Al (required reserves) & _‘iTI'{ IR
@, sfEd %) Ak $% AT el W 5%
At amferE (excess r;ﬁewes] F AR W &
% a4l EFF:H E-'ﬂ:ﬁ ?I':lTEFﬁ T 25% THhe (currency) |
%mﬁr@ﬁ%,ﬁ!éﬁmmﬁ@ﬂ

@ =fF Fa A
qﬁﬁqﬁmmnﬂmaaﬁuﬁwﬁaﬁ
_qamﬁa-ﬂm t,ﬁl'ﬂi‘[%ﬁﬁ{munw

a'q‘{aﬁ (deposits) T Sl % bl
holdings) ® qﬁqﬁq

{al

2 |
| PTO.
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(1)

()

(@)

(b)

()

(£)

What are the vanous Catewirips

fif ﬁ"lr-ln-

L

Further assess the phenomengy, of
i‘l'ﬁ'ﬁﬁg _

P

as a financial innovation.

What factors cause financial crigie in Fi .

Does it provide a rationale for BOVermme,
s

of financial markets ?

fanfta FATERT (financial innovations) 5 ,_ﬁ
afrl F-F ¥2 oftmey Tt

securitization) %1 ¥ H ety gy «

T FTT Fifo |

fodta o & fadty e (financial criss
FE B T IO A R Ao
TR % Fﬁﬂ'ﬁ EREE] {guvemmem regulane
Ay (rationale) wETH WA &7

"T} Ty
¢ preferred “hapjgg hypothesis combines &

lfeaturey

5CEImM
smented Markety h}'Pﬂthems L

As
suming 1he mtere] "
fate in 2016 on a one ¥
on g twiy Year C

CD is L3

i!i 5'.J=u,
. }
D is 4% and on a thre*



(y Comment on the shape of the yield curve.

() Use expectations hypothesis to determine market's

forecast of one year rate, i year 2017

(3) What 1s market forecast of one year rate

in 2018, 5
@) s ERIEIE ERETE) (preferred habitat

hypothesis) FCIRM Riicaan '{exﬁﬂctmiﬁns hypothesis)
9 9T ISR 9w (segmented markets
hypothesis) % &I Wemi &1 wafwm w317
W H W from w9
(k) F& W T T zmaﬁ‘sﬁa&aﬁcan{
S W % T, A T8 F CD W 4% § am
= ad F D W 8% T :
(1) e TF (yield curve) i MHfa W feogfp
S e
) weamn wREe F TEEW ¥ FWR gW
2017 B .TH T W R F yHwlm A
(forecast) F T A

" arer g0 2018 # T T W R H e
K |



with reference 1o the capitg) re

l_f-':l
discuss how Basel 111 jq
over Eﬂﬁfl II
nlain the recent development ,
() Explam P S mng i
Treasury Bills Market n. brief. g

(a) T\ﬂ? FI HAETIFA T mﬁwq
requirement norms) % oY W e m?;
Basel 11l fFH ¥R Basel Il ¥ dgm 3,

(5) TEET f& (Treasury Bills) 99K H g % -
T 3 GER W WS H W
(a)  Discuss the Assets Classification and provisioning nom,

of a bank in the context Inf NPAs 1

() Describe the various functions/roles performed by Bl

n Indian Banking and Financial System. i

(@) ST Sl (veas) @ w4 #



(¥ 995

p e importance of Liquidity Adjustment Facility

]
st oy
¥ £y s a0 nstrument of Liquidity Management in the
I.'I
|
l:"':l.‘ln‘-““:"l' 5

pramine e lags observed in the operation of monetary

R

1-.3!11.1 5

a Describe the Multiple Indicator Approach used h}r RBI

for monetary pi:ﬂi.ﬂ}f formulation. g
gioen B e Y BT S R
ﬁﬁmwﬁmgﬁm(mﬁaﬁm
w1 fade F | |

(@l

() A AT & 'Fi'ﬁ'ﬁ:’ﬁ [nperalmn] q W fﬁﬁﬁﬁ

() RBI BW A Afq Fmi ¥ ST fFu T
ag TEaE g (Multiple Indicator Approach)

F G oG |
% Write short notes on & ¢ of the following : - 15

{:’} Eutures Cﬂn“aﬂﬁ s [}pﬁﬂ[’li Contracts in terms of
I uture :

© hedging risks

PT.O.



v Simple dum Monetary Aggregates "
lllll y . |
It

Monetan Aggregales in respect ui'[.'nn;u-up“mhwq '
Operat ipnalization.
i) Interest Rate I Mnncmr:f Stock as ap
targel in monetary pn!icy.
frofefen & ® 5l @ W, W@ g,
forEe I
o fEm ¥ 9@ (hedging) B T F -
S8 (Futures Contracts) FTH fasheg. e

(Options Contracts)

() AFHMTUT  (Conceptualization) &  JIW
(Operationalization) = Y H Oy e
-;ﬁf;m qHqY ['Elmple Sum Mﬂne[ar}.' Aggmgatﬁ} W
vitd Az way (Weighted Monetary Agggregit®

i) AT A F v ey 2 e o
Hmﬁr&mml
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1. Do you think the Nehruvian Era [195&54]
able to meet the med1ate challenges bﬂ;faﬁ
the Indian economy in 1947 ? Analyze st
the perceived cﬂﬁc@sqm ﬂ.f the Nehru-Mah E'lnuh?f
strategy of industrialization. - 8472) ;
;T oTyEr T © [ AE@ Ued. 1947

- areferawy 11{31[930-64} Eﬁaﬁ'(ff NEIRIGE Tt
N QEAT 5H_d ! 2 5
YeaTERIag I B BE-HAT ST
F fasawer FeE 1 |
Critically evaluate the economic and politicg]
narrative of the two broad periods of Indiap
economy- (1) 1950-1980 and (2) 1980-2015, Is
it correct tq say that divergence across state’s
per capita GDP were much stronger in the post
economic reforms period than in the era of
Hindu growth rate ? 10+5<15
S I & & s N3 el ok

TSI O W ST
1950-1980 #T_(2) Iggn_z_ﬂlsmg o

g e m 3 I ot qurd &
E;ﬁﬁéﬁ* ﬁ_aﬁﬁ%ﬁ

3. A very significant outcom :
savings and iﬂ?estmenifg? th? trend_s in
economy is that Indian ec Ennm?s in Indian

- been financed predomingp),, « 8'0Wth has
savings. Analyze. How far Wﬂu:ir g t{'}’ ‘domestic
to assert that economic r&fﬂrma 11t be correct
a reduction in poverty ? gy}, 5 9 bring apout
answer with facts. i late your

8+?=15

3103
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iven that Health is a major determinant of
. tlfl}?am: npfpurtu.niﬁes, how do you account
Inequities in access to health care
lengst different socio economic groups in
dia ? What are the possible factors that

explain. 10+5=15

T WY gu 5 wmrem JOTIR B StEed w1 OF
Dt Fraten 3, o wrc § R R
gﬁ%ﬁﬁ%ﬁaﬁﬁ%ﬁmﬂ;*ﬂ : 'E"Gﬁ%
L ST e £ IS ggi

¥ soreas - @ & 7 Qe Ao ot

P.T.Q.



ﬂ

e with the view that T
e e
: educatl still very unsatisfact,
Elxnflz;jmg%y do you think that female laboyr ft?r’cg
articipation became 01c of the many factors s

3103

| I o
g ST b L L, ey
LIEG)

qﬁ;m-%ﬁfzﬁrﬂvﬂmezmizﬁﬂﬂﬁ'ﬁ ﬁ'Q$?EH%§
® 7 |

7. How far wc:uld-ynu agree that the rate of
poverty reduction has increased in the post-
reform period, compared to the previous
30-year period ? Explain. What do you observe
about India’s inequality by CDFJEEﬁ.ﬂ g the period
of 1990s with the earlier period ? 9+6=13
Y 39 =i § o geag € & guv & 30 9
@ﬂmﬁwﬁ@ﬁ%%%mn
& B BF P AT gfs g3 © ¢ aoi FHid

£ ST 31 GO § qu] St STy 1990 % ¥

7 A P ST B Ry F erger a4 AW

8. {‘:Dmpa{ing the growth pEl‘fﬂrmé_ncg of India
and China essentially understanding different
patierns and Institutions of these economies.

Comment, Why is it import :
with itself alsg ? poriantto compare India

AT =9 # Ry o
%&ﬁ%mﬁ? i ;e?ﬁ;"ﬂa‘r?rﬂ‘ﬁ
%:ﬁmﬁaﬁﬁ%mﬁ;%m%ﬁ‘fﬂﬂrmmﬁ
AT I AEGE & 7 W9 F ger
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| s of each question
Hlﬂi‘]gﬁltiﬁ‘ the questions. T
i 99T B 9T o e
(5) The use of Lon-programmable b §,
Ea[wl

IS permittcd. ;
(6] Answers May be written either i y
or Hindi but the same sl
followed thrqughﬂut the ﬁapér shoyj
aner & i afee a4t Al
B_T:r[ ET%C{ | &

(4] The mark

1. Wha
Devetlﬂil};ili :n#ﬂmmﬂd e
o e < List the structural characten
rin ping countries. Do you thy
g countries can be studied

homo

genous .

answ group in thi T

er. is context ? Explai!
5|5

AT STl |
H1 TS ﬁ%m T 8 7 Fraprad
A @ g B

3mw

¥

{HEY | 7 Félm

AT ;ﬂ‘:;& q g T Zorf @t gﬁﬁ‘ﬂ"!
| i 1€ﬁlﬂ':ﬂ1‘ﬂzﬁﬂ|-‘
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_omy Of Lorenzgini has 10 people and 2

r:: [tmdjtinnal and modern). In 1990 three
'*"H-h;:;-‘ii”f in the modern sector, earning $2000
| '“f‘pm.;.nth- The rest live in the traditional
_::Lm earning $1000 per month. In 2000 two
" e move out of the traditional sector into
. modern sector, though per capita incomes
¢hin each sector remain unchanged during
g e 1990s. ' _ w e T

i T awgfas) B 1990 § dm arw
7E &% 7 Ted e, "9 WiE 2000 AT HAh
S g gaE & ° 9§, 9fa 318 1000 et
FE T B 2000 F & AT groufiE 8= @
g 2= F oTi @ed Ei@ils U ax 7 ufy
%mlggn%m%éﬁmamﬁaﬁaxﬁr

'4) Graph the Lorenz curves for 1990 and 2000.
3

1990 sfr 2000 & ferT FLT adh S |

b) Calculate the Gini coefficient and

G p income
coefficient of variation of the

; 9,9
distributions in 1990 and 2000
reeer & fafquar @

=5 o arefergrer Ry 1{]611%? a?rr 2 éﬁ
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(c)

5. (a]

(b} Elab
orate on the link between cc-rrllF“'

[’]l-.,.;huh'-. what (he L“fftjrﬂnt ;
n

casures {1 e. from the L'}TEI‘I
Ury

Ery,

in

Gin
.ation) indicate, regarding th |
€ th.

vark
quality between 1990 and 2000, .

i cocfficient, and the coeff;
ICie
i

ﬂf iﬂE
ol pruvide Slmilaf EH'ESE'-LTEI'
5 'EJ{pl 1
y aln i,

don
quﬁfﬁﬂﬁﬂﬁfﬁ{%ﬂm
%, ﬁrﬁwﬁﬁﬁrww} 1990 =
2000 & = STHHEC 3 uftadd @ T
Fami| e 9 gHE 3T T A E A
AT |

Comment on Sen’s view of poverty !

[

capability deprivation.
g 1 Ak
oo Fifs |

and dtveigpmeh i




t'p:;'h_'-'. R

pr{'ﬂl.-'

ternately in the direction of ri

Tising or
" rinking inequality . Comment on tpi
: statement by Piketty and -Sacz_. ._; , 15
S T O Faive afvgy o qm:f:rgs e 2
& Qﬁ#ﬁﬂmﬁﬁﬁ‘ﬁf%?ﬂﬁrﬁﬁmﬁq@—a
ﬁwﬁwﬂﬁﬁawﬁaiﬁﬁqa;mm%%r”

Llonventional polities like government

as @ regulation or Privatization o

=

# solution to governing common property

¢

‘tsources. Discuss some alternative strategies
that can provide a solution to this problem 7

15
TR ffet S weerd R A R
TR o ey dorgEr 1 dafid e 5y
(. S o faea wd B 55 Ysfegs
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3 fh AT amr g s -~

¢
g @ omd Aol w fagy
shad  fas N

el o G OIS F g

L

Sy oma @ J ¥R g
1090-2020 arafy @ R sty .
:};1aﬂﬁaﬁlﬁ'“?_ﬁﬁ§ﬁ%ﬁﬂﬁq
(1) All countries converge to some co.
level of income by 2020.

zuzuamnﬂﬁﬂmmm%mmmﬁ%

in 2020 no country stays in the «
category from which it started. '

Eﬂﬂﬂﬁaﬁéﬂﬂaﬂraﬂaﬂﬁﬁaﬁﬁﬂ?
T qu Y& B

(11]

Explain the concept of acﬂﬂvﬂrgencf’ i

‘conditional Eﬂ“‘-"ﬂrgencg‘ diffﬂrﬂnlf ;

‘unconditional cony

trgence’ ?
men fasra TTES g
g1 vpe &4 Uy

i"ﬂ‘# ¥ aifsrerer A
Mo gy g e

?] -\.1.1 |;.1ll rl f.‘ iy
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" aumber ol prnf,}h' Iwing on less than
pnc dollar pri day m a given country (1.e.
e poot’) can be caleulated using the
country’s per capital income expressed in
jollars cither at the market exchange rate
or purchasing power exchange rate. Which
of the two conversion methods would resylt
in a bigger set of ‘poor’ people 7 Explain
why ? o " U g
Rl 3 A oRY RS @ Stew @ o ow oy
mﬁﬁﬁﬁﬂm(ﬁﬁﬂ)ﬁwaﬂﬁ
o ST M W B F g 2w o
I B e i e o P e —
WA IR 9T B/ A YA | A qehEt §
& @H-d F oftm e A oA o g2l
e B 7 ohEEy |

ihsﬂume that there are three relative
ncome categories : less than half the world
average income, between half and twice the
world average income and more than twice
the world average income. Describe
mobility matrices for the period 1990-2020,
tonsistent with the following :

1

3 P10,
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8.

have made rapid progress,,
ades, yet certain ﬂtruﬂth
bottlenecks need to be removed if g,
countries expect to keep: growing u17113t111m“3.,].F
Discuss this assertion, dlSEUS%lngt
structural weaknessSes faced by the,

India and China
the past three dec

CDUII'[FIES

Waﬂrfﬂﬂ%fﬁr@@fﬁﬁa’aﬁﬁﬁﬁﬁﬁ%
&5 g, mg&%&ﬁm‘ramfﬁﬁaﬁwﬁaﬁ‘
?ﬁrajﬁqﬁﬁrﬂfﬁmﬁaﬁgmqﬁ ;
3| g9 29t & GHA AXTARHS Al T
FTd BU, 39 &4 9T T HL |




n¥

4

el W Ay qgh AR Yead @ oA
HINT | I seferaen @ 9 TR g1
faran ?



a;ﬁﬁ]‘;? T fevetn e

5. With reference (o Mughal architectyy, %
in how in the 17th century visual cyjgy,, Diy
Wiy

expla e
itical and cultural neegs

o fulfil imperial pol

culture) &l

e @1 qfd % ferd foa T

Discuss the political, social and ideological backgn

to the rise of Marathas under Shivajl.

ates challenged the previk

7. How have the recent deb 3
half of the |

notion of ‘Dark Age’ for the first
century in Indian history?

f
mﬁaﬁiﬁﬂmmﬁm%“@ﬁ’
adg gfaerE & fEd gy v 3 gafad ¥
&1 A R 7 . o

g. Describe the Indian D‘Cﬁnn i ” ]’ﬂ,l
e network In

century. How did it impag o
lan ﬂcﬂﬂﬂmjr?



YhidH| WA, 1=he muiy vrAap-n Sy S wly

Waﬁﬁﬁmlamﬂﬁﬁmﬁmﬁ?? I:

Or ( 39E1)

With reference to Braj or Mangal Kavya, discuss t
significance of vernacular literary traditions for ti
study of Indian history in the 17th and 18th centuries.

S WA HE e & wed ¥ waEsl ud HIWE
m%w_ma:mma;mmﬁ
aifefas qommet ¥ wew & e Hife |

2. Discuss the trends of orthodoxy and syncretism mu
India in the first half of the 17th century. How far ¢
it influence Mughal state policies? pe

maﬁmﬁmﬁl%mﬁfﬁﬁﬁﬁ#
mEmaﬂ-ﬁfaﬁﬁﬁnmﬁww
Hifqef =1 fa #g o wifaa fean?

'I

3. Was the ‘War of Succession’ (AD 1658) an outcomeifg
conflict of ideology?

T ‘sefEER F faw 48’ @ 1658) feramarastt
qadet F1 afomd o? o
st

4. Analyse various aspects of the crisis that developec
the Mughal Empire lowards the end of the 1

century.
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(a) Explain the links between income and

; L he
the epidemiological transitions, "‘“h,df

(b) Explain the rellati{:-nship between economic o,

school quality? ™

(¢) What is the Human Development Indey and y,
[
calculated?

(%) Ter FwR 1 RO 3 T, A SR a4
T |

(@) wffs wRomh s wpe & UET F @9 96

(1) wra e qowE w9 @ St TEE T B R

2. Analyse the effects of income, price and health st
demand for health care by using appropriate diagras

(5§

I el w1 v R e Feww A W W I
AR R R R E——

3. (a) Describe the healty i . -
government may ing. € market situation

X . ﬂ:l
Mention the relevang ffi Cne tg improve effict¥

show how they improy, Ef:‘nf.‘-}r improving p.}!iﬂiﬂi
Eiﬂn ey, f i

s
Ry

(b) In the case of market Paj

which . mle. of the Gove "-lr re
rmh,: lateq to merit Soﬂd}

giving direction, do you nt,
Dl‘gf El\u"
* g Ing mfurmﬂ“”ﬂ

|
L£E0d? M "y 4|
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ﬁwmﬁﬁhﬁﬁfnaﬂqﬂaﬁwm
iﬁﬂﬁqmﬂmﬁ'ﬂiimgmﬁﬁﬂﬁﬁ
o3 ® TG W sk R fF ¥ 3 T A TUR F@
i

ﬁa@ﬁ’%ﬁﬁﬁmﬁm%mﬂ%m
o A TR F@ g FRRE A ¥ R
= W & & IR w7

Explain the Cost Effectiveness Analysis used in
evzluating healthcare projects. (6)

An influenza inoculation program is being contemplated
by the department of public health. Vaccinations would
be administered to 100,000 persons aged 65 and older
the next year by public health nurses in existing clinics
and health centers. It is estimated that vaccination cost
$3 a piece (medications marginal labour costs and so
forth). The inoculations are expected to prevent 1000
cases of influenza this year and to result in 50 adverse
reactions requiring treatment. The Average Cost of
treatment of influenza is $50 and for the adverse
reactions, it is $300. The discount rate for converting
money and health effects to present value 5%.
Undertake 2 cost effective analysis based on the above
information. (%)

BT M
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WW W‘ﬁ [W?}rm
mﬂmmmﬁmﬁmﬁml
WWWWW-&W%

ﬂ]mmﬁﬁaa % o7 39 & m%ﬁ
mﬁaﬁfﬂﬂ?wmmlm%;
g §3 oy T IR BT AW e

%mnﬂﬂﬁﬁﬁﬁﬁm%ﬁ
5o WRES W 2 ITER B FAGEFT T g
e ® IR A gt @ $50 F
AR @ R, 78 $300 # | 07 IR T P&

(%]

()

(a) With the help of diagrams and equations explait
following statement: “The feedback of prevalenct
demand for care means that the elasticity of de
for care may be much higher than the estimatt

prevalence is fixed”,

(b) What i
Hnm:-:rrdmg to Deaton and Dreze (2009 *"
:xmtmth: Paradox of l'iﬂ-iﬂg per ﬂﬂpitﬂ gﬂﬂﬁ“mpt
India? nd g fall in per cﬂplrtﬂ ﬂﬂIﬂriﬁ fﬂtﬂ.w]
(



S

Mﬁmﬁmammﬁmmr

* ,,ﬁmw%ﬁmﬁmmmﬂﬁﬂﬁﬂ
B o2 R T R R W R A g 3 o B
b aa "

) Yo7 T (2009) B IR wew ¥ ‘ofy i IR
migﬁaﬂtuﬁrﬂrﬁaﬁ!ﬁiﬂ%mﬁﬁm’ﬁ
RAUYE W W HR 7

(2) Explain employer disctimination of male and female
workers under the personal prejudice model of labour
market discrimination. (7)

(b) ‘An employer seeking to hire workers is never
completely sure of actual productivity of the applicant
and in many cases the employer may remain unsure
long after an employee is hired’. What implications does
this have for hiring decisions and labour market

| outcomes? : (8)

| (%) we e @ e SO R S g
i ﬁmmﬁmﬁMWWMﬁn

(@) ‘o H.ﬂqﬁﬁmwﬁﬁ\aﬂrMaﬁm
mﬁﬂ*“ﬁmiﬂﬁmqﬁﬁm%
ﬁﬁmﬁﬁﬁﬂﬂmﬁmﬁzﬁgﬁq}

o @ SRR T R0 oy R

ﬁqﬁ?ﬂ%ﬁ-‘ﬂl‘ﬂ%wﬁﬁmi?
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e W
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_(a) Explain the 0 W model of labour p

! ; f
What happens 10 the error in Ed-i"“mg;ﬁﬂa"l'..
follow A "

expcctatinns?
and training investment b
d wurkir.

(b) ‘Education _
expected returns a.re in ‘the f:urm of higy®
earnings; increased job satisfaction over thejr |,
and greater _ﬂpprﬂﬂiﬂtiﬂﬂ of non market iﬂt:
and interests.” In the light of Fhis statement, ¢,
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 The question paper consists of seven questions. Answer any five questions.
Marks allotted to each question are indicated to the right of the question.

Use of simple 1:;un+pmgrmnmablﬂ calculator is allowed.

Statistical tables are attached for your reference.
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1. State whether the following statements are true or false. iy, Meison. fi
|lr

¥y

(@) There must be more than one endogenous "ﬂri“bml in case of Simujg, i
models. , '3'1‘“11 .I
(# In the k-variable classical linear regression model, ¥y =XB + W, the (}[ﬁ
is an unbiased estimator of 3, 0 fe.n,_‘
(¢y For the three-variable model : Y, = [}, + BZXQJ e ﬁth_ ) u, if -
computed as 0.5, then ri3 = 1 i.e. the coefficient of dmmlinﬂti::pn -
of X, on X, is aq@ to 1. I,

=8 didat ors. If value of , ,
(@ Suppose there are k= 8 can e regress v of Mallow's [jp Criteri, "
as 4.505 for Model A with four regressors and 8.436 for Model B yig, G
ey
then Model B is preferred over Model A.

(1-4) :
% Where A is the rate of decay,

(¢) In the Koyck model, the mean lag =
waiC & fafafaa $99 9 § atgar sg=) I IW 3G 4+

(a) 190 FHIFHTY (simultaneous equation) HSE T Teh J 1 sr o (e
N B EYIFE T

®) = S FAfEEa T s e y = XB + u § oLs 5
B 1 T SAMHTI SHAH (unbiased estimator) BXAT-E1

(€ T T A A Y, = B, + B,X,, + ByXy; + u, § 7R Feaw (100

STt B, A 2 =1 G X, B X, R g § ffor 0 (@
of determination) 1 ® ST Bl ¥ |
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Fﬁmﬁk—ﬂmﬁﬂﬂﬁl‘qﬁ;whﬁc TETE (Mallow's C,

rdmnn}mﬂﬁﬂﬁaﬁmﬁnmﬁ%gmﬁwﬁ@m%am@*aﬁaﬁ

Wﬂggmamﬁﬁrm% A Hew A 3 geEa Wed B F FA A

H

- 1
%Tﬁ % TEd (Koyck model) H T fammam (mean lag) = { EETJ'\. GR|
g 21 (mte of decay) T
4 Consider the two-variable regression model : Y, = f, + ByX,; + u; Let Y and X,

ke values given by the vectors : Y = (2, 4, 5, 6, 8) and X, = (1, 2, 3, 4, 5). Using
maix algebra find 3. :
5 Sppose the true model is Model A : Y, = By + BXy; + ByXq; + 1
od the estimated model is Model B : Y; = o) + 00X, + v,
) If X, and X, are correlated, show that @ i8 a biased estimator of B,. What
is the specification bias 7
(i) From the following results, find the value of the specification bias due to omission
of a relevant variable.
|, limgied Model A ¢ ¥, = 624 + 526Xy + 1042X;,  R2 = 04126
Regession results of s on Xy ' &
%, = 10579 + 128Xy,

_ 54896 p-value of F-statistic = ,0024. C5

B2 = 2851 F-statistic
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er the Keynesian model of income determination :
{onside o

Consumption function C,=Po* PiY,+u g B, .

[ncome ldentity . ‘I?f = C; ¥ I; {=E;}

where C = consumption expenditure; Y = Income; I = investment (assymeq EX0gey,

§ = savings; ¢ = time and u = stochastic disturbance terpy Proye

1;'-._11,'[1]1, H_,.P = 0,

ﬂaﬁmﬁ%&mmﬁﬂ'ﬂfﬁﬁﬁ‘ffﬂ,+]32E2,-+uj¢fﬁiﬂ'.r{¢'tﬁ1zi-
T YA X, & A W Y=(2,4,568dX,=(,2, 34, 58
T ¥ Wi SO (matrix algebra) F TEEEr § B = W iy

mﬁrﬁqﬁﬁﬁﬁfﬁﬁzY;=ﬁ|+|32}fgj+ﬁ3-}{3;-+u,-%
ﬂmﬂqﬁﬁ:l’fﬂﬂi+ﬂzxm+v’-%l

()X, q X, WEHALE (correlated) ¥ @ TWise & &, p, # &
(biased) ST ¥1 Al RERT (specification bias) ¥ T 7

(i) 3 Rowd # e @ YR ST (relevant variable) 3 7

:’{3; S lﬂ.:'t.?'i" + ]_23}{2!

R? = 0285) -
. HH ~ 54,896 F-gfiayiy T pI = 00024,



< <l |
M EEA: G =B -py, - % 0 < B

.";s?‘mm: v = 3@ 1 = fdm {Wﬁwmgﬂwﬁ}m REL %}:
L= T T T e (sochastic disturbance term) i
-‘fE F F cov(Y. u) 2 0.
e iiowing model has been estimated 1o study the relaionship between demand for
oaohiles and per capita income in six states of India over a period of 15 years :
AUTO, = B, + BPCY, - -uﬁ

iaere AUTO = demand for automobiles and PCY = per capita income.

Explain how the Fixed Effect Within-Group (WG) method can be applied to the

shove model. Show that in the process of estimation. the fixed effect pets eliminated

while the cross-section specific intercept can still be obtained. |
hﬂhmﬂmﬁhﬁdﬁﬂmﬁmmmﬂmﬁnmmm

ellows for heterogeneity among the states. 7
" Sapose the desired output (Y") depends on tabour (L) and capital (K) inputs :

Y = aj_{? L™
il Show how the stock adjustment hypothesis reganding Y, can be used w transform

the model into an autoregressive model. Write down the transformed model.

PT.O,
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(i) From the results given below where LY = In(output), LY = Ing L N
1 L = In(labour) what is the estimated coefficient of adjustmeny » Htﬂp”ih / ;
* 0w .
interpret it 7 &
he short dl lasticity of ﬁi
(if) Write the short-run and long-run elasticity of output with re
v P i
labour from the short-run estimates given below : .
| Dependent variable: LY Figeas. i
Method : Least Squares
I
Observations 1965-2014
Coefficient Std. Error f-ratio P-value
Co
onst 3.56151 0.664343 3.3610 . <0.00001 i
LK 0.474168 0.100199 4.7322 0.00002
L 0.519496 0.0979373 5.3033 <0.00001
LY y
| B 0.0167434 0.028531 0.5869 0.56017
—— LY
Mein depend ool [
| "en dependent var 16.93096 S.D. dependent var | 139289 |
SUm squareg resid 3.344742 o ' _-;;;
e .E. of regression 0.26
R-squareg pzee)
0.964815 Adjusted R-squared 0.96252
F(3, 46) _'-?
Sk T -420.4638 P-value. (F) el 19967 |
Log-likeli | i e
glikelibood 3331088 Akaike criterion 14.6621) |
Sthwarz criteri il
B i EHT 22.31027 Hannan-Quinn 17.57400
Rh-. e




AUTO, = By + BPCY,, + 4.

o AUTO = =TS WY =P, Swen pow — oy e

o EE wtEey F Py W (e Effeats) TaR—oh- 3oL OWithin-Group, W)
ﬁﬁmﬁravmﬁamﬁnnwmmt.mmmmﬂﬁ ST
wt =R ¥ Femr wvaren Teyepey mmtmm—mmmmn-
section units) W TR ST OEYE Gotercepty T sy ETE WY

o EWHeE ST meY Theerw  wpaares LSy T =6 wermen a0y

m#ﬁﬁlﬁ[‘
RS w8 ot = we e therero
Lol -

BeEnEityy TR -_i—,!-;“-‘

PR U S e L

1 1. -

k"“'{ﬁl‘ﬁmfm v, W T EETeR wrErareis oS (Mo mdiustenens o
“ﬁmﬁuﬁnmﬁmmﬁmﬁmm—mmm

mutorepressive model) 8 sarofia B own =W %) warmtE ores w5
TP



(i preafefaa WO & SFAR WA i o
Mg LY = In(ER), LK=|H(‘I§DHWLL=M{HR}

fFq TER BT 2

(i) :ﬂ%ﬁqﬂqﬂﬂﬁlﬁﬂwﬁﬂmﬁﬁﬁq ﬂq*%

( 8 )

(short-run) ¥ HEEAGIE] (long-run) GIE ﬁ’rﬁifi!

Ty

."2&.
|%;§

Observations 1965-2014

Dependent variable : LY

Method : Least Squares

_"'-\,__‘_\\.

Coefficient Std Error [-ratio
Const 3.56151 0.664343 5.3610
LK 0474168 0.100199 4.7322
IL 0.519496 0.0979573 5.3033
LY 1 0.0167434 0.028531 0.5869
[ Mean dependent var [ 16.93096
I Sum squared resid [ 3.344742 l
} R-squared | 0.964815 ’
F(3, 46) —— '420A638
Log-likelihood —3.331088
Schwarz criterion [ 2231020
Rho 0.020167

{€)
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ad of O] & :
;ﬂ,lh,: method of OLS, population dtnsity in o country (POP) is regressed on total
a

- of manufactur .
ol output chunng sector i, thay county (Qin millions) for 60 countries

; W013-16. 1
the yeat n order to test for hﬂﬂmﬂcmﬂﬂﬁﬂi‘)’a the Hquare_ﬂ OLS residuals

fie Elﬁf‘"i on the explanatory variab|e .

nk
i
If the stimated value of R2

15 0.7426 £, this auxiliary regression, conduct
B]‘EL‘E“'P&E'EH (BP} 1est. Use 5% |

leve] of significance. Do you find evidence of

nezmscedasticity ? State null ang alternate hypothesis clear] e
thesis clearly, 5

athe regression model y = B, + B
Hon ely=p, 1* + u, suppose covlx, u) # 0. If 2 is an instrumenta]
anable for x, derive the instrum i tiator
- ental variable (IV) estimator of B estimator
_ ; - Show that this esti
1
I consistent.
5
Amesearcher conducts a study where level of activity in the parallel economy (Y, i
, in

ullion dollars) is i I !
) is regressed on index of tax burden (TAX) ang government ex .
“escourage parallel economy (EXP, in million dollars) for 33 developed countries 4

Edﬂ"ﬁ:lnmng countries for the year 2013-14 :

Yf _= ﬂi -+ EIQTA:-‘{, + ﬂ-!.ExP' ¥ Hf

The resestobir tiite & pooled regression and also runs regressions separately for the two
fbsamples of developed and developing countries, Based on the regression results, you

P.T.O.
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arc given the following formation. Use this informatioy

1% level of significance. Wuul-d you choose the pooled el e,
O1S using Pooled OLS for dcvclup_ed_-_-_-;:;:
data ﬂi: 66) countries (N = 33) countries
ESS — 12196 el
RSS B =
B TSS 18660 —
| R | 0.6 0.8

@ oLs fafy # wemar ¥ 60 W ¥ = 2015-16 24 2 * SHEE
(pop) F1 39 2w # fafmm (Q, fafas #) &= § g @ FW W
arafya faar s &1 gagor-fassd {h::temscedasﬁ::iry}ﬁ'ﬁﬁa%ﬂﬂﬂ -
% il ¥ =EETFRT = (explanatory variable) st e 00

= §; + 60, T V; )
amﬂ"

ﬂﬁwmmwﬁgﬂzmamﬁi?rm 0.7426, T T~

(Breusch-Pagan test) 1 HITAT | 5% midEal i (level of signiti ﬂﬂ"‘“ﬂ

Fifeu | a1 9T FE- FersaT T WA e & ?WEW
& wed: fafaal
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ﬂmﬂmﬁgﬁi‘:ﬂu+ﬂﬁ+ﬂﬁm$ﬂmﬁ covix, ) # 01 Afg ,
| s gifd = (instrumental variable) § 3 B, 3 A S IHETH (IV estimator)
3 T S| TlEY i a7 e AT (consistent) T

Iﬁﬁwﬁmmtwnﬁ#ﬂﬂaﬂﬁmﬂ%ﬁﬁg
;ﬁgma-uiﬂmaﬂﬁﬁmﬁw%mw’mmm
ﬂﬂqﬁﬂﬁaﬁ“mamﬁmmaﬁmﬁamgﬂ
gt o (EXP, TR SR &) & qma for sy #

Yi= 0y + 0TAX; + oExp, + 4
Wﬁwﬁwlm}'mmm.%wﬁmmﬂaﬁma%ﬁ
§ W-WIRE T AT-HT W ww ¥ s qhom @
R W o Frefafan gaad 6§ @ gl 9w R e
WIS FHIFA | 19 W TR F1 304 FA) 70 A9 TWEF T
# T 0 ?

‘ A
._'|| OLS (N = 66 | OLS ON=3) oLs N =13 |B
" B 12196 —
x B _ 3415
18§ 18660 R _ \ .
| . - : " L A
\‘ A
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i@} A researcher ;prh!ud{'d a study on determinants of health eXPen.
o / r, )

states in India. She considered three regresSOTSTPETCENage of popyj,

some illness (POP). number of hospitals in the state (HO) and Jire,, -

(LR). The data was collected for ten years for the seven stares Nl

(1 Explain m—ﬂ::ﬁﬂm}mrmnuxﬂﬁmfdﬂmmmam-i_;_

model. What is a major problem in using this estimation Proced,

(#)  Suppose the researcher also estimates a Fixed Effect LSDV mog -
pooled regression and the FELSDV models are 0.567 and (.886 reSpec-
the null hypothesis and conduct an appropriate test to choose hersze -

models. Use 5% level of significance.

(i) Suppose the researcher alsg estimates the Random Effects Model T -
lest statistic gives an estimated chi-square value of 15.66 with thrae =
freedom. State the nu|| hypotheses for the test. Which model shoukd te =

choose for her research 2 Use 5% leve| of significance

()  Let the trye Population regression be -

Y'ﬁ
i _ﬂ+ﬂx‘.+u‘_

Suppose Y} is nof irectl : ' )
i directly observahje, The observed values. Y, differ from &

‘;ﬂimﬂ' ?;.. as ihlli!ﬂ"lrs r

= 'I": + e,
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hr«"' . denotes the measurement error j, ?
ik

 wriethe estimable model and shoy that the (oL S estimators & and I'}an‘: b
il ’ untiased

estimalors.
i What 18 the vanance of the ESﬁH‘lﬂtﬂd 31{!!;]: coefficient 7 Will it he the same

. if th

asin the Em: ST¢ are no errors of Measurement ? Explain by comparing the

1’ﬂ'iﬂlm

7

;ﬁ?ﬂﬂﬂﬁ“ﬁﬁ*mﬂﬁﬁﬁw?ﬂﬂﬁ?ﬁﬂﬁiﬁmﬁm
| I O TmEae] (regressors) W fo=r fFa—fdt =nfly 3 v s
¥ MW (POP), T ¥ STeualell &1 Tedm (HO) 7e 197 # e T (LR) |
#%¢ 79 orm # wfinfom v v ¥ 10 w6 2w few my

i e Y WHR U (panel) HHE F HeEm I Tmfew OLS T 4
e ® SHiA B Tl ¢, RG] T SAHO HRA H Iwm

¥ o e guen #|E 7
li mﬁ[fﬁqﬁuﬁﬁﬁmm{ﬁmﬂfwt}wnvmmﬁ
te &1 afs anfes FHAT 5 FELSDV Higdl # R2 F: 0567 3

Dm%ﬁwﬁawqﬁrﬂmﬁaﬁﬁi@@ﬂamﬁiﬁ
%w’mﬁﬁmﬁmﬂﬂmlﬁ%mmmﬂm

Hifer | & /
: . BIO,
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wing relationship between (h 4 emand for health services and income

he foll

Sy jemand for health services and x = yopey income of the consumer. [t was
Wikl
edthat health insurance which is correlated with money income has been omitted

oun he aBOVE model due to lack of data,

epose the researcher considers two alternative instrumental variables (IV) for income—

jggnce from the health centre (z)) and level of education of the consumer (z,).

§
il Explain instrument exogeneity and instrument relevance in using z, or zy as an IV

for x.

W I Riﬁ = (}.20 and RL} — 0.80 which IV would you choose ? Explain.

li) 1sthe coefficient of determination (R%) as useful in the instrumental variable (IV)

method as it 1s in Ca5€ of OLS estimation 7 Explain,

Mi&ﬁb{: in detail the test procedure 1 mndmit 'ﬁﬁf_'gﬂf causality test for investigal

bitera) causality between GDP arowth rate (RGDP) and gross savings rate (S). What

I fhe significance of the qumber of Jagged terms incleded in the test and how will you
Mike g decision on this ? 8
PTO.
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(@) Wmﬁﬁﬁamﬂmﬁqmﬁ%’“‘%
wife .

y=m+ﬂr+u

mﬂ_;r=mﬁmﬁﬁﬁnﬂx=“ﬁﬁ““ﬁ%m“

wﬁwﬁm.ﬂﬁmmﬂmt'%}
%mwﬁaan‘rsﬁﬁﬂgwmmiﬂeﬂ)%'

mﬁﬁq%ﬁwﬂmagﬁﬂmmﬁﬁm%nmﬁmm&
% ¥ (z)) T U4 Y firey F W (2,) 1

@ :?ﬂfﬁﬁﬂ%ﬁtﬂtz,mﬁ%mﬁ$mﬁﬁ?ﬁ

(instrument SXogeneity) F I YRifireay (instrument relevance) 317

@ AT RZ =020 qep R,

(i) 1 faegiyy T (coeffi

=u.&&,ﬁrmﬂ'~¢mw‘sﬁﬂ?$

cient of determination, R?) Fifss V)
ﬁmﬂaﬁﬁ!ﬁ%ﬁﬂm%msm%ﬂmﬁ“w



v

e following regression mode| ¢ exports of a country (Y, in billion dollars)
C
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L‘L""""i"
i
! o variable [
e
A

mY, = By + Bat + Byr? 4 .
11 model Was estimated for 40 years using QLS and the results obtained are as follows

s A given in parentheses) -
mY: = 873 + 0.057 + 0.00082
() =(1.23) (394) (562) R2=057

() s rate of growth of exports constant over time 7 Explain.

(i) In order to test for model specification error, the. model is re-estimated with

=2 —— s ; . ;
InY; and InY, as additional regressors. This model explains 67% of variation

in dependent variable. Apply Ramsey’s RESET test. Use 5% level of significance.

State the null and alterative hypotheses clearly. Do you find evidence of model
specification error T
' I‘IE"]} the k-variable linear reg:reasiun model : ¥ = xﬂ +u

N ! R i
(i) Write the matrix formulation of the ANOVA table.

-{iﬂ : mﬁnimmﬂydmmﬂ“ﬁmﬂnﬂﬁtmsﬂc fior the mull ypothesis

that B, = By = = T P = 0 using metriX notation, | 5 /
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() Consider the following regression model :
Marks; = f, + D, + B;ATT; + By(DATT P+ U

where  Marks = total marks obtained by a student in Sﬂmegtﬂ_md o

Mirg,
D =1, if student spends more than 1 hour 4 day op Sutiﬂ“'{-
= 0 otherwise
ATT = total number of classes attended in the Semestar
Using cross-section data on 150 students, the regression results arp nhlaimm_-:

(p-values are reported in Parentheses) ;

Marks; = 2045 - 1.25p, 4 0265ATT, 0.05(D,ATT))

®) =024 (.001 (0.0005)

() Using the "eported p-values and 19 | evel of signj ficance, comment on indi
Statisticg] Significanee of estimated B, and By 7 Are the regression equi™

" & . ?
the two Calegories of students ‘coincident’ regressions ¢ Why/why !
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@maﬁ%@mﬁﬁwﬂaﬁﬁﬂﬂmwmwm

‘ ﬁﬁm%(r-wmﬁﬁ“ﬁ} ‘
£
S §.73 + 0.057t + 0.0008:2

@ =(123) (394) (562) R? =057
ﬂﬁﬂﬁﬁﬁﬂﬂw%mﬂﬁm% ? HHFEC

sfew TaFRYA T (model specification error) 1 & FT Wiy, @
oy @ ofife =0 ® IR W i w1 W Ed O eRferd
bt T 31 7% HiEw fadt = # 0 (variation) F 67% THFE €

(i

T 1 RESET THET (Ramsey's RESET test) I | 5% Hrefehel &R 1
Wﬁﬁqtqﬁ@%mﬁﬂﬁqﬁmﬁﬁﬁm fafaw | =0 =

Hew fafeem Afe ® v frea & 2
i 1 Yty s HEd y = XB+uw

il ANOVA Tl & Hfzmg WA (matrix formulation) TafEm)

TEM (normal) €, TH
i) o wea g R o A (distribution)

By =B —ﬂk—uﬁﬁﬁﬂmﬂﬁmﬁmﬂ
T g

uﬁﬁ{ﬂi’&lﬁ?ﬁﬂql |
Wﬁ%’ﬁﬁﬁﬁmm-ﬂgﬁ“wm:

DATTY + u
Mﬂrksl. - E'l + ﬂ;_r_nj + B‘}lﬁlﬂj * ﬂ'}{ IA r] i

PTO.



ATT =ﬂﬂﬁ_ﬁﬁﬂmﬁaﬁﬁamﬁ“ﬁmﬁ%

150 faanf¥Ei & HTTH (cross- -section) 3:"@ &l Helddl q ﬁ'ﬁ{ﬁ:{ﬁg;@]
WWWE@mwﬁﬁmw%

Marks; = 2045 = 1.25D; + 0.265ATT; — 0.05(D;ATT)
(p) = (024) (0.001) (0.0005) . (0.256)
() foenfdd F1 <FH AE ¥ sem-sem gEsEe g

(i) TG T p-TEA 9 19 Wil TR FT erqr § sHferd p, APy
A T feoh AT 1 T P 2 o g
HTt (coincident) g ? H/F T 2 |
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4182

AT13
ATT2

Ag21

| AB61

4883
4918
4538

A974
4581
4987

AT18
ATT8

4864
4896
4920
4940

A855

4066

A975
4882

J1 /9

03 04 05 06 o7 .08 09

0120 0160 .0199 0239 0279 0319 0358
0478 0517 ' 0657 (0506 0636 .0675. .0714 0753
0571 0910 0048 0987 1026 1064 1103 1141
4255 1203 1331 1368 1406 1443 1480 1517
1628 1664 1700 1736 1772 .1808 1844 1879
e85 2019 2054 .2088 - 2123 2157 2190 2224
oap4 2957 2380 2422 2454 2486 2517 2549
bp4p 0673 2704 2734 2764 2794 2029 2852
939 - 2067 2085 .23 3061 9078 3100 3133
apq2 3238 3264 3280 3315 3340 3365 .3389
‘a6t 3485 .3508 3531 3554 a577 .3599 3621
agge G708 3729 3749 .87IO a7e0 3810 3830
ageg 3907 ages 3944 3062 qq80 .3997 4015
6o AGZ. A0 1S it W47 M62 7T
uppp 4206 4251 40E5 4279 4202 4306 4319
357 A3T0 4382 4304 4405 4418 4420 M4

: 4495 4505 4515 4525 4535 4545
‘:;;; ﬁ a5l - A5 4608 4616 4625 4633
Aoke  a6e4  A6T1 4G 4p86 4693 4699 .4T06
o6 4732 AT38 744 ATS0 4756 .4TBI 4767
‘:753 e 4Tos AToR AB03  480€ 4812 4817
' 4534 AGI B2 4816 8K 4854 4857
ﬁ 4871 4875 4878 4881 4884 4887 .4880
toop 4901 4904 506 4909 4911 4913 4916
g2 A Aga7 4828 4931 4932 4034 4036
92 ey 4085 Goap 048 4049 4951 4982
e | agsp Aoe0 Abe1 Ape2  .4%3 4964
4956 '::g 4069 4970 4971 4972 4973 AG74
4961 A grr agrs A9 49T 4380 4981
A976 AT igey agph 4%5 4500 4986 4086
4962 O agsg 4989 %89 4980 4990 4990




F LN
of THE! pISTRIBUTION
pOl
ﬁﬁ‘r’s
=0 g=20
V.-ﬂﬁ} 0.05 for el =
# a8 g0
oMo =0
e 1.1"?5}
I!|-:1 _— e —
_._-—-—'—-_'—r —
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() Attempt any three (3) questi,,,

Section A out of five (5) any ty, g

4+

out of three (3) in part B. Hiey

3 IR 2 aN @S AV H A (3) & 5o

7 :
=

R (2) g B I T
(d) There are no internal choices. All Part, .,
the question attempted is compulsory, )
Tt fageT el &1 BT 91 Osy £ o
T 3 Ia¢ SErd 2
(e) All questions carry equal marks, i.e.13
gl Ul & guF 3 Z, i.e.15.

Section - A
gvE - 3@

Let the world consists of two economies Chinz
and Argentina where only two commoditis

Broccoli and Parsnip 4.0 consumed.Chi®

requires 3 hours of laboy - ¢, produce a unit®

€ - af
2 Ative demand &
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i be given by Demand for Broccoli/
4 for parsnip=Price of Parsnip/Price of
Bnﬂ.ﬂ}i, Both countries are large enough to
Jffect the terms of trade.

o B R & arfengear #M ST artdrr &
ﬂﬁq%ﬁmﬁﬁﬁ%aﬁﬁa@ﬁ,;hﬁmﬁr
mﬁﬁﬂﬂﬂwmﬁﬁﬁlfﬁﬂﬁ@?ﬁﬁﬁ%
@mé%mﬁﬁm%sﬂr@ﬁmqﬁﬁv%
mﬁw%zﬁaﬁtmwaﬁ%aﬁr
ﬁa%mﬁmﬁlznﬂwﬁﬁlgﬁm

S & FEa o

(a) Draw PPFs for both the countries. What will

be the relativ
ce of tra

e prices of Broccoli in the
de in both the countries ?

absen
3+3

3 P.T.O.
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(b)

2. (i)

é\*ﬁﬁﬂﬁ%PPFﬂ!ﬁﬁ?ﬂ:ﬁ%ﬁﬁ
P i@ d SiebIctl Bl ATy %:%
enft ? L
If both countries decide to trade, desey
the pattern of trade between them

qﬁﬁ:ﬁ‘%ﬁraﬂmaﬁrﬁﬂhﬁﬁ%a}m
Sra qe @ G0 B fEaET Y

Briefly explain the gains from trade fo, the

two countries. 4
S 297 & fd @AM A BT A9 & dfg
ot 1 |

"An economy faces trade-off between
consumption today and consumption in
future even in the absence of international
capital movements". Discuss this statement

in the light of Standard trade theory using
suitable diagrams, 8
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arket failures may always be dealt as

sectly @5 possible." Examine this in the

ontext of application of import tariffs. 7
mmﬁ‘ﬁﬁmmaﬁq”laﬂmw
T 3 ST 3 ot § e TR B

i Two ecONOMIES, Ecuador and Aruba are
considering assisting their technical sector
for the production of a specific variant of
microphones. However, both the economies
are aware beforehand that either of them
can make profit if only on€ of them produces
+ and both will have t© incur losses in case
both gets 1nto its prnductinn. Discuss the

production of this comm |
the Brandgr-Spencﬂr theory- Make use ol

the Pﬂ'}fﬂff matﬁj{. to iﬂ‘l.lﬂtl'ﬂtﬂ it in detﬂﬂ.

Are there any limitatinns to the above
e

t ?
e 10

5 P.T.O.
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(ii) Write a short note on Gravity model¢

aaxsia?m,saa@mﬁ-(%
Wm%mﬁ%mmm
@gﬁwéﬁwﬁmmﬁﬁ .
e orfered TR A & o g
a@gwﬁwwm%aﬁﬁw
3 B wH AP SUET B T A 5,
e gt Al gl mgﬂﬁ?%;
sideaaT aF B GeH 7 59 a5 3
mﬁ%ﬁﬁiﬂ%ﬁmw

international trade,

WW%WWWW
feoqott fomg |

Most of the economic theories explain®
the pattern of internatjonal trade assu™
two countries to be different from &
other in some respect or the other fot

beneficial trade to tqy, place betwe€n the?
Paul Krugman, o the other hand whi &

EERIRTAE. I theory of 1mP"3rfr
& ,




8

of etition explains that similar

:;E omies can also have beneficial trade

que
ﬂntﬂfﬂ
mdustry.

Hﬁmﬂ:aﬁfﬁﬁqﬁaqﬁm@m s
m%mﬁmm%ﬁﬁﬁ%ﬂ
Mﬁ,mwﬁﬁﬁﬁwlw
mzﬁgmﬁﬁ%'@%ﬁaﬁ“@ﬁﬁﬁm
@ﬂﬂﬁﬁw,mmgﬁm@
ﬁtﬁiﬁﬁmaﬂ%%ﬁ}aaﬂﬂmmmﬁ
ﬁﬁtﬁaﬁﬂﬂﬁaﬁ“’fu&iﬁrﬁﬁw\aﬁﬁﬁ
aﬂﬁ%qﬁfﬁﬂﬁmﬁﬂﬁ%ﬁﬂmm

e B Gl © |

(a) In light of the above-ment

bring out the long run equilibrium | el
r of firms and price 11

3179

ihe presence of economies of scale
al) and imperiect competition in an

joned theory,
evels of

average cost, pnumbeé h
a closed economy-
rid @ e #H, T €9
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(b) Explain changes in thig i
position, if any, in the evepy nfihhr:
i , g

oo & ol srderEar § i

Refey #, A1 1%, T TGS TRfRefy i
5 e B

(c) Mlustrate the relevance of Intra-ing,

trade in economy. HOw is it different ,

that of inter-industry trade ?

o sforaeqr ® of: - ST @

TrATET F TS HE | g8 STI-3EM
g = 8 7

(i) What do you understand by the concept:
Metzler's Paradox ? i
Azt % flturarg & sraeron @ 90
gazd & 7

( ii) "Internationg| factor mobii ty an d free Uali!
can substitute for ¢q0p other". Dis™®

=




o

ef account of Leontief's paradox.

3179

W%ﬁﬁmﬂmﬁﬁﬂwg,

il

gection - B
Tis - 9

i) 1CICI prudential offers an investment

scheme for its investors offering 10% rate
ofinterest in INR for one year, USA deposits
on the other hand offers a rate interest of
2% in dollar on dollar deposits for on€
}'EHI-$1 can be exchanged for 50 rupees
today and 1s expected to be 55 rupees in
one year. Which one of the two investments
an investor would prefer i his investment
decision is based only on the 1

on the two invﬂstments ?
PEIEIRN R Pl
el T F 10% ==
£ gy LA i3
o & | S

H‘qﬂqtﬁ
A &C S a9TERd

9 P.T.O.
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(i) Discuss the impact of change ;. !n
I

fﬁﬂTﬁTﬂfﬁﬁT%ﬁﬂT%a&q%k

Y

mﬁﬁ%‘raﬂﬁrm,sgm%

é?#ﬂaajqﬁ%rﬁaw%_a'i'
ﬁ#ﬁ%ﬂéﬁaﬁﬂﬁw%ﬁ%}

g7

supply from Federal Reserve B
European Central Bank on Dﬂﬂafﬂi
exchange rate using suitable dfaﬂl’am

Explain the impact of permanent chaig
in monetary policy on exchange rate ofa
economy under perfectly flexible exchatg
rate and perfect capital mobility. ;
qof @resiter R a7 qur qof goft imie

& ST UF orferrer 3 fapmg @ 1

A A T R afeady @ qur a7 R §

G

10



1)

i)

3170

fan economy operates ut fuy employment

evel of output, i it true thyt EXpansionary

qecal policy of permanent nature will leave
the state of economy unchanged where
exchange rate 1s perfectly flexible and
capital 1n perfectly mobile 7 7
ufz o, AL g g’fl e
qr afrefery By o8t B & moqw ak B oy
wrdy sepfey o faeenfrer ardhy sifer ardencea
A1 feafer oy smfrafder wrg 25 ol fafaea
w7 wyeer: aierefter % evar o opfer: oo & 7
Explain using suitable diagram how capital
flights in the context of expectations
relating to devaluation under the fixed

' 0
exchange rate regime. 1
ooy TH A ST ey faest e

iy ST Al
& Frer fRfa 5T A
ﬂ"ﬂ? f"’rr fﬂffﬁ ", Tﬁﬁ it ﬁ}ﬁ A AERELU IR |

11 P.T.O.
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(ii) Briefly explain the concept of Offgy

banking and Offshore currency trag;,
IuJ

Fuadm AT qer SIS HIE amy,
ST T dfere & faee B
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2.

. J
wve ‘o e (5) YA (3) mg g,
'&ﬁﬂ(a)i’fiﬁ?ﬂa(ﬂﬂﬁ%m&l s
mﬁmﬁmﬂﬁifﬁ?ﬁ‘ﬂm%aﬁwmm
a5ty & v 3w E, de. 15,

FeRt 1 e o A B e | |

PART ‘A’
(@mvE ‘&)

Explain how the Ricardian model works and how it i]]ﬂﬂl
the principle of Comparatiye advantage ? Also demoni™

the gam.s from trade and refute the common fallacies a4
international trade

() Trade benefits the fagy
of each country buyy hu
u

r ;

n:p :Elﬁ“ to the export® §
© factor specific ¥

_.l.._.rF'- T i,
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3

ompeting sectors, with ambiguous effects on
mwlﬂﬂ factors. Explain the statement using Specific
abl

w i model with suitable diagrams. 9
fad

ik smic growth is just as likely to worsen a country’s
|

" nsof trade as it is 10 improve them. Why do most
16 ;

«conomists Tegara immiserizing growth, where growth

sctually hurts the growing country, as unlikely in

(6)

prm:tica 7

| v @ P S e Rdw R A
e & A TR WO W IR D WY, JEE

i % g e W gf v 8 | 3| T #
v e R s T SR F T e e

Hifed |

ign direct investment
s aniil fore
Hnnzﬂ

(i) Distinguish ign direct investment. The nature

from vmicﬂl JoEn

mong advanced economies is largely
w8
of FDI fl©

P10,

N
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(if)
(i)
(ii)

4. ()

4

Horizontal in nature and thog, i

. . th
to the developing economies are "‘Hica; ,
E;p]ain these two kinds of FDJ ﬂqu ‘rn L'j"-.,
l

N,
world. L,

The argument for deviating from fre, inii

i © Ity
domestic market failures. Elaborate, '

1

]

mmﬁ%ﬂrﬁ&m%mmm%i
mmlmmﬁﬂmﬁm#%ﬁﬁ
mﬁ%ﬁimﬂﬂmﬁﬁmﬁmi
e 29 & i Feiur 2 el
m‘}mmﬁ%ﬂ%mmmm

A small coyny . B
10 per unit, ]f;':ﬂn ‘mport a good at a world prit’

3 Rl supply curve of the &

¢ demand cypy, s .

b o
In Edditiﬂﬂ, each Unit . + I 5p

s0cial benefjt of 10 Prog |
- u“tig. . Elﬂ
0 yields a méf
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9) calculate the total effect on welfare of a tariff

of § per unit levied on imports.

) Calculate the total effect of a production subsidy
of § per unit.

(c) What would be the optimal production subsidy ?
(3+3+2)

;) Under imperfect competition explain how government
intervention can shift the excess returns from foreign
‘o domestic firms using the Brander — Spencer
Analysis ? What are the pmhiems associated with the

Brander — Spencer Analysis? (7)

(i) ﬁ@a%mnuﬁcﬁi%ﬂﬁwmwaﬁﬂm
F AT B | ﬁ%‘ﬂi‘ﬂﬁﬁﬁ“ﬁﬁﬁi-

S=2ﬂ+lﬂP

D. = 4‘]{]'_5]?

P.T.O.



it
3360 6 ll*

5.

sl yRwa B W T H TR a7y
e - W R & wrowmy 7

(i) Discuss the role of external economies in s
comparative advantages and international trade pat
External economies may lead to disadvantas
patterns of specialization and trade. Explain. [

(a) Gravity Mode]

ﬂJ} Leontief Pﬂrﬂﬂﬂ-x
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PART *B'
(@ 7))

- [eoirel Bank of Japan is pursuing an expansionary
=onetary policy. The expansion of money stock by
‘=z Central Bank of Japan may be of temporary nature
#nd of permanent nature. In both these cases explain
‘ne effects of expansion of money stock on real output
.nd exchange rate in Japan using a suitable model
where exchange rate is perfectly flexible and capital

is perfactly mobile. (10)

¢ in USA has an Euro deposit of 10000

i) An investo : :
ank which offers him an interest

Euros in a French b

i of 8% per annum. {5}

ate the expected dollar rate of return on

(a) Cam;ﬁpaﬂi‘ if Dollar-Euro exchange rate is
the

red 10 move from 1.25 dollar per euro 1o
ec

| 30 dollar per euro.

P.T.O,
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(b) Calculate the expected 'i““antu 1
rate if the current dollar-gyp, E:.;, 1
C
js 125 dollar per curo g4 the "
As
E

tur
dollar rate of return on the dep,,, s ]:
annuim. h

Uy

hy
R

(i) Wﬂmﬁﬁmﬂﬁq%m%#
#'W*ﬁqﬁmﬁﬂﬁmﬁm%
meﬁﬁmi:ﬁﬁwiﬁJ
Hmﬁﬂﬁw#mmmﬂﬁmi
@ W R S o R g
ﬂ@w%ﬁﬁmﬁﬁﬂm%mtl.

1
(i) TVIT % v Fdwe w1 w3 ¥ 10000 T w7
¢ o 3% whrd 8% w1 s e 21 |

{H}@mmwiﬁmﬁﬂmﬂﬂﬁT
S T Al w125 s R T
ey Rafifr B9 o g 21




s the pmhlems faced by an economy in

st

0 - internal and external balance under the
L

2 woods System where exchange rate is
il

) 9)

el depreciation of the Home currency may not
r ediately improve the current account. Explain using

citable diagram. (6)

ﬁﬁwm%mﬂﬂmﬁﬁmﬁwﬁwwﬁ
;ﬁm%mmﬁﬂmﬁmﬁmﬁaﬂ
R R B

5| fg TR W AT aq{ﬁ:rmmi%ﬁﬂﬁﬂﬁﬂﬂ
ﬂﬁﬁaﬁwm%mﬁawﬂmimg'“‘

|

f bank failure and its

fi g ﬂhlﬂm 0
) Describe the PI at are the

ces. Wh
* - mful conseduer
potential har 15 to prevent {he problem of bank

Government safeguar (8)

failure ?
pge raté regime there exists a threat
8

h ' a
© at crisis and Capital Flight.

[“ ed gx

of Balanc® e (7)

Discuss:
P.T.O.
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(i) hmaﬁmwnﬁwﬁagﬁm
Wﬁ:%mmﬁmaﬁm%;
Teia o 8 7 ! '

(ii) Fer fafEw o =rEed & J=Hd YA Sga 5
qoaT & @ad @ar 2| fagu e
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(a) Consider a pollution problem inV0lying
i

1.
iver and a co : Py,
located on & T mmerciy) Sl e

operating on the same river, The fishery .
one of the two locations-upstream (aboye *h._.l

downstream (in the polluted part of the Fivey) P':;
lower profits for the fishery: without Pollutig,
are $300 upstream and $500 downstream: wiy, Fﬂ.l.---
profits are $200 upstream and $100 downstrey,
mill earns $500 in profits, and a technology exjg, :
to build a treatment plant at the site that copy,
eliminates the pollution, but at a cost of $200, -
are two possible assignments of property rights: (i
fishery has a right to clean air and (ii) the mill hy
right to pollute the river. (24

(1) What is the socially efficient outcome’

(i) What are the outcomes under two diff¢"
property rights regime, when there )
possibility of burgaining?



ﬂmﬂﬁmﬁﬁﬁﬁﬁmqﬁmﬂ
offF B T R T8 W e v (P ¥ 752) st
& % PR v (ﬁﬂﬁiﬁ}ﬁrﬂmﬁu@atlw
T D IV T Y v @ TR T B
4@ IR W A aunﬁm%mﬁ%ﬁaﬁﬁ&qm
5nuﬂm%1wﬁﬁaﬁ%mﬁ&mmzuu
ﬁmi&ﬁ?ﬁﬂﬁﬁﬁﬂﬂﬂfﬁtﬁlﬁﬁ&ﬂﬂﬁﬁﬂﬁm
m%mzuﬂmﬁmmmwmm
%Mﬁmmmmmmwm%mﬁ
T I8 W W B G R e W aheR S 3
R W ¥ (%) wodt T 9w wg
Tl (@) B A @ 9 R we w siEw 2

(i) amnforer |em oftom =ar # 7

(i) et e wlrm 2w ¥ 7 9w Rl ¥ D R
i AR W e ® qRum = e 7

(iff) T A T R R o @ ol e ¥
1 (i) I e wew wfaffw g

. o ToFe WR A 3 WER o SR @ e wer
® 37 vE TR R A Y W
Rt P.T.O.



P—'

3361 4

1
il

(a) There are large number of T—
‘tny
use either their car or a bus, Aggyp,. ™,

I"}i
time by bus is increasing wi the

commuters using car (traffic COngey: . f;u_
cammutmg time by bus be B(x)-:% ;
commuting time by car be C(x) =29+ 6 ol

the proportion of commuters taking the;, tt-

'-

(i) What is the proportion of commy,,, e
take their car if everyone is taking hﬂ'h
independently so as to minimiz ,

commuting time?

(i) What is the proportion of car users thaix
the total commuting time? :

(b) Explain the Rat Race problem of externality
(c) Investigate using diagram the effect of increas:
wage rate on labour supply and before ta% incoms!
a standard model of consumer choice where ¢
has @ given set of preferences over consump
leisure with utility function given as :

N 3 Ui thuse ""dnwm\!ﬂt, [ is labour suPFhrﬁ
consumption apnq U 5

-Ex = and —{ﬂ.
al
i



b nodel 10 depict the individual’s equilibrium
: LI'_-.'-I:
o of aumber of hours of labour when there exists

old level of income below which income is

ol

: (hresh

mtaiﬁﬂ? [T}

s.ﬂmi FAT- T O A W W A I FR 9
& A W ww R T ¥ W W Pl
3 ¥ 75 WY @ T A FA- F WO IR Y
- A R FIE N A T (T I ) A
& T 3 FA-TET HE H O B(x)=40+20x @
= ¥ S T T W@ C(x) =20 + 60x ¥ W x FW
3 IF S E A W e 8, 0<xsl
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a Prm | TR Ty R o,

hn.
S
U=U(x,L-1) = U, p

;ﬂL@qmﬁﬁ#.fﬂTﬁihta

EL—F:-IJ L ?Efﬂ
ox al

ﬂmﬂﬂﬂﬁﬁyﬂﬁﬂﬁﬂﬁﬁ‘
wﬂwﬁaﬁmmmﬂmmﬁmr
23 sm ® w A war w8

(a) Compare the tax schedule and the average and ma
tax rates of a proportional and a Progressive {f
income tax. Support your answer with a diagr®

(b) Derive the numerical expression for calculali®’
weight loss associated with commodity taxation et
specifying the various elements involved. |



o) R T ETE ¥ O A & = ¥ et
g e w

¢) How is lump sum tax different from per unit commodity
1ax? Compare between a lump-sum tax and a commodity
tax on a good when the two tax instruments raise the
same level of revenue. Explain your answer in terms of
income effect substitution effect and the deadweight
loss. Use diagram to support your answer. (8)

(b) Explain with diagram how the provision of a public good
takes place. What is the unique feature of such provision

vis-a-vis the provision of a private good? (7

[g}ﬂﬂﬁﬁiﬂﬂﬁﬂﬁﬁﬁﬁﬂi?wwm
mmmmtlmmmmwm
mﬁﬂiﬁﬁmﬁlmﬁwﬁw#m
iy A !

£ weEE ¥ W W R e g

®) ﬁw*“"“ﬂmummﬁ%mﬁmu
=1

P.T.O,
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5. (a) Suppos¢€ the demand curve for moy;, ”
Chey,

price elasticity and the supply curve .
- : i A

elastic. If 1 million tickets are ““frcm]},pm”-'.
Yig,

of §5, approximately oW much tax rey,,
i 1

guvcmmmt generale from a $1 specig;, 1:'{"'
7 P]ﬂt the demand and Eupml !t“__
Y,

ght the genesis of Goods and Services Ty, .
t Das how this new tax:.

(b) Highli
According to Suraji
addresses the issues On state’s autonomy, sy,

tax burden between consumers and producen.

revenue neutral rates.

() e T RATR @ REA A W TE H I
imiﬁﬁﬂﬁﬁ:miﬂﬁaﬁﬁm_ﬁﬂf
W*Fﬂhwilmlﬂmmﬁ
o R - g e e 8 7 i AW EOL
i T3 S e |

=) el S A W & g ey




e

. tes :
yite ghort NOIC (4+4)

(i) Taxation of inelastic factors of production

(i) Taxation of perfectly elastic factors

., according to M. Govinda Rao and Sudhanshy Kumar
shat ails the present Indian tax system? ™

;}MM%&
(i) T ® FARER WEE W R
(i) e EER UTH R

1) ™ AT 1A TE YU IR D ITE A T A
e T s f

1) Explain with the help of an economic model how
i < Sy iobr eaucracy can lead to excessive public

. (7)
expenditure.

tax compliance game with reference to audit
a

(b) Explain the i

l
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| (a) What 18 8 production humhihi} f
(7

attainable and non-attainahe Compy, 4
”:.',:I:

o,
(b) Explain the main features of , Capity;,
are its merits and demerity? %,

fr

Ar-wr 2 ¥ 7 ‘

(@) A g % A, ﬁWmﬁ
wifdt 7 2 7

2. (a) Nustrate with diagrams the differenc: ..
following :

(i) Movement along a supply curve

(i) Shift in supply curve
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F

|
USRI B
e %?mmﬂmﬁﬁw

ﬁ@mﬁﬁﬂﬁmﬁmmﬁmlmmw
& 2% ol o @ 9

 Explain the total outlay method of calculating price
elasticity? Is it true that this method does not provide
exact estimate of price elasticity. Explain.

) Prove that two parallel demand curves have different

glasticities at a given price. (8,7)

7) FE A R A A g =g R W e @ oo
¥ 2 9t a5 ffy FFm W @ whw W T e 2
T |

%) fag ot @ A AW AW FE W R gY S 'R a9
famt B 2

) What is income consumption curve, show

diagramﬂmtiﬂallfr

%) What are the conditions of consumer’s equilibrium under

the indifferen®

diagram.

o curve approach? Explain with a suitable
(8, 7)

BT )
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(%) mmﬂﬁwﬁ,ﬁam%
|

§7 3R R R Y gy, T,

5. (a) Explain and illustrate the law of Variy

ble
What are its assumptions? My,

(b) What is an expansion path? How differe,
scale can be depicted on it. By

(ar) ﬁﬁuaﬁqﬁ%ﬁwﬁﬁﬁwam,ﬁi
87

(@) ‘?ﬂ?ﬁﬁﬁwfﬁﬂﬁ?ﬂmﬂ‘%ﬁﬁ?ﬁ'mﬁa:'
T W 2 7 4

6. Explain and illustrate the following short run cosc

total cost curve, total fi}u:f_:d cost curve, total variaht



r'

ywhy al the firms of an industry will earn only normal

grofit in long run in a competitive environment? Show
diﬂgammaticall}r.

 prove that price is always equal to marginal cost under
perfect competition. (8,7)

7) WRART TR § T I R T e F ww
av & = FivE w2 7 R e e

7) frg =X 9 Tty B A S T TR & W
Bt 2

Write short notes on any two of the following :
1) Market equilibrium

) Internal ecOnoOMmics of scale

) Rel tionship hetween average cost and marginal cost
\ cla

: 7.3,7.5
l) Deadweight loss ( )

iﬁiﬁﬁmfﬁf‘a%ﬁﬁ:

() e T

| P.T.O,
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a) Explain the l.*'u!lmwing Nsing
o 'ir

mlu:;;m”
W , '.I
() dcareity of e b

SOUrceg ang

() Opportunity cogy

) What is a command economy

'E
© EXplaig
prodlems are solved in g co "

mmangd eeq,

T W whwww v 7w B ow @y
0 T W e 2 R o b

]

urve Ween the movements aloag !
d E-btﬂ in dtmﬂnd curve.

(2) Explain
- tht‘ tﬁﬂcgpt f r '
of market equilibrium

il |
measuress .} Of ‘!‘-‘m “lasticity of demd

hay | an 3
£ :'_5 d. Hﬂ‘“ 15 ch_’is Z

E“I“ﬁ'nn
-.A T ™ ™
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Cad

ccplain the total expenditure method of measuring
gl R

r_laﬁii{:it}'*

On the basis of data given below find elasticity at each
 ice using total expenditure method.
i

e

Price (Rs.) Quantity (in 000)
10 2
8 3
6 4
4 5
2 6

(6,5,4)
7| W e A T W E A W H A S
S w 2Y W o 3 7 e W e § 7

7 mﬂﬂﬁwﬂ%ﬁr@mﬁﬁraﬁwﬁl

S AR R Ve FhE W w5 =9 Ry

- T

2

.——-'-""EEEI-.--_ 3

— :

~ ]
L-‘..______,,:-—--—

4 0
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4.

5.

What is Price Consumption Curye? Usm
Curve analysis separate the income and g,
for an inferior good. Why demand curve g,

is downward sloping. ”fcrif._.

8 the
Ubsjy

mwﬂnaﬁwﬁ?mm%ﬁw%h'
T IR aa'fé-‘ I TE T ﬂﬁﬁﬂwmﬁ

27

(a) Explain the cost minimizing equilibrium conditior{

producer.

(b) Explain the properties of an iso-quant. (

(&) &= IeT & fy wrme = e F TR

(@) F-T9E T A RS e w

(a) Explain the shape of short ryp average cosl curt?!
average fixed cost,

(b) What is the ra!atmnshlp between average cost, ave!
variable cost and margip, cost curve?

() Wﬁﬁqu%wmﬁﬂ
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| What are the features of perfect competition?

) [llustrate the 'determination of long run equilibrium
of a perfectly competitive firm. Why in long run all
perfectly competitive firms earn only normal profit?

(5,10)
5) 7 wRARE % i T # 7

1) vF T aREE W & Sl dge fufor S |
w0 S ¥ ot ol wEt v daw aee T
T B 7

Write short notes on any two .
) Price Floor

) Economies of scale

t) Isoquant MaP

ula for measuring elasticity
@) Mid-point FO™
L MiP (7.5,7.5)

P : 5 iy
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pmewer any e of the Following

1!  For each of the following propositions A and | state.

'f"liql
» =ufficrent combiton, or both necesey, andd sy(fie for
" By, 1
""'h.,

1 A Twye numbers v and v are even

B he sum of x and v is even.
o) A x=(—-e)') reW
Br=-—4
i) A: x, v, and r are three different points on a plane.
B: 1. y. and z are three different points on a circle.

(i) A f(c)=0
B: x = c is a point of inflection.
(b) Show graphically the region represented by the set:
((xy):y<-andy2x?)

(c) (i) Solve ﬁ'*m’*'lﬂ{?.l"—z?]’ = 0 forx.
(ii) Find the domain and range of the function f(x) = In{16 - z°).

acfafae 4 @ 58 © @ I Ot
(=) Fefafm 4 @ 0% 3 T fod, f2 gere B @ g B9 @ o O A @ 5
# w oae o & om o g
() AT S x Wy em g
B-roay® oW g

iy Ax=(-64)") reR

B:x=—4
Er.‘h“;“mHMmﬂ,ﬂ!h

E;I.P-“:“F“hmhlr

(i)



o~ u:.:rl:rﬂﬁnndrzr‘}

iMI!’-—I‘I"j’ +1u{3'-:7}==mmmm.

~ In(16 — x?) W TV (domain) v ufte (range) Wi At

mfﬁl‘ﬂfﬂﬂ-fﬂhﬁ’inﬂ: d=d4=16

function of x.

find y"irmqm:m +yit=1 defines y implicitly as a

{

- Find the
7 |, begw the graph of f(x ¥

Wmﬁmﬂtﬁuﬂhﬂfﬁ]=%1’+lf+%:-3.
3x +1.Fmdﬂr}md:hwiu;nphinm=m

1) =x%—

4xd=1f

(W Em_l'_'!.’.’::-:z'
P.T.O.
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4
-1
(i) Irigr;r eyl
i xM 4 gt o
{“_1}”.-““#& X +}' LFH‘I'*“W%
i,,”
wam B

1
(m) & f{ﬂ:%x’+h‘+;x-3 gt 5 W o o,

& are & T |

%) s (convergence) 3 H Hford:

(i) 3w s, = (k/n)amsi £>0

n’
[ii} st E;:-I n-i

§es

3. m'w three of the following:
(a) Given the function f(x) = x” — x5 — x* + 2x + 1, prove that the graph of f
slope equal to 2 somewhere betwesn x = ~1and ¥ =1.
(b) Given the function f(x) = 2%, find its inverse function g (x) and draw the grips:
both f(x) and g(x). Almdﬂtrmimdmdnmlinmdnnpfwburhm&m
(c) Consider functions f(x) = a - bx, g(x) = c — bz, and h(x) = mx (*<%

a.b,c,m € R). Find the elasticity of f(x) and g(x) with respect to x ot the POt

: ]

and B, respectively, where A is the point of intersection of f(x) with B(Z) 3
the point of intersection of g(x) with kix).

(d) Find all asymptotes for;

() y = yp=x



mﬁ#imﬂm

Ix5=15
»
P ﬁﬂsﬂ"ﬂ"ﬂ+h+1ﬂmmrt"1?ﬁx=lﬂhﬁmﬁ

o [(2) = 2% 0 SR W AR W [ (2) 1 g(x) a0 s vt
Fm.mmmmminjﬁm (range) ¥ Fraffin #ifird |

e fix) =a=bx, glx) = ¢ —bx, ™ h(x) = mx w frew #fad (a,b,c,m € W),
= ()0 g(x) B x @ T, g A vd B e wm R, wt A, f(x) o g(x)

| g ofreien BT £ ¥R B, f (x) men h(x) o g

| s 1 T Al (asymplotes) e dhe:

L . Ti48
B

il y=xe ™™

. fmswer any three of the following: Ix5=15
| by Given the function f(x) = x*/%,

i) Find the Taylor polynomial of degree 2 for f(x) about x = 100.

il Using (i), find an spproximate value of (102)/%.

i mewmmﬂﬁxﬂtmﬂmhnwﬂdh&mlhtumn_

obtained in (i)

quch b = ax” + bx?
ihat the graph of the function fix) passes
nmmmin'md b

) Find

point of inflection at x = 4.
(-1, 1) and hos 8
mﬁughihtvﬂ"“t

constant k, if possible, that will make the function

Tx=-2, z51
flx) = xt, x>1

s fior the
{'ﬂJFnﬂr-rﬂ“"'k o

P.T.O.
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continuous everywhere. Also check differentiability o x - | v
bay

() o2 e o [ () = x'* & L,

mwﬁmmﬁ“f“im*mmmﬁ,
el @ €9, (102)/2 T I Tew ww e
e ﬂﬂmﬂﬂ,mﬂﬁﬂﬁmﬁmm%

(i)
@) O
(iii) ot (i) 9 W
(=) <o fr we f(x) = 3 + 3x + 1 71 7% A Il 5= 2

m}ﬁﬂﬂ@ﬁmﬂmmm f[,ﬂ = ax? + bx* Wmﬂii-l,mﬁ‘

x-ﬁmﬁqﬁuﬂﬂﬂq!‘n

m}nﬁw!a‘rm Je @7 W k" e ford R e

f{1}= k_t-zi r>1

ﬁmmﬂmu=1 ﬂamﬂaﬁmﬂ'rumﬁvﬁmk=k‘!|

iz
5. Answer any three of the following: o
about the existence of €7

poini(s) in the interval [3, 6], Classify the extreme point(s) as 1oc! andor

(b) Two managers A and B of a hotel have drimgm:& about the sale of arare Pt

(a) Given the function f(x) =:_—n:5,wha1nunyuu say

sold 17¢%* |

should wait :
hotel 25 years, Bog}y agree, however, that if the painﬁng is
, the
from NOW. revenue rmﬁvﬁd‘ﬂ'uulﬂ be:
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if the interest rate is 10% PET Annum

g + should the Board of Directors support
Manager A or B?

m

| gmine the function defined by y = y2/3 Find the interval(s) over which it is

hstantiste YOur answer with a graph.

. - ‘+1 -
jaasiderthe fumction f(x) = {(I- (x? 1 1) ui I;zﬂ

yihre 2 point on the closed interval (-2, 2 where £ () = g7 Explain

wism A @ 5 dF # ae By

gyt =t At wrdm w0 A ot A,

rrm*ﬂmhﬁﬁm*WWMﬂthﬂmmnm
;ﬁﬂh‘aﬁﬂl*m#!ﬁgﬁﬁﬁﬂlm!ﬂiﬁmﬂnﬂmﬂ|ﬁﬂﬂﬁm

nmﬁm!ﬁEMﬂnﬁtﬂmﬁmhﬁmm!ﬂmmmﬂm:

W(t)=4e", (4>0),
# W w1 wn wwety T 100r% v mf &
il e W) s i we i

fi) uoftr =@ Iﬂ%wﬁﬂtﬁﬁtmﬂmﬂmnmmﬁqum
wifgd ?
Iy = 213 e o it AR 1 A aferee 0O ST AT OE T St € st ot g ey

i - mﬁmqﬁuﬁﬂﬂﬂgmmlmﬁﬁqmﬁ
| g

ol | T TR B G S T B e i
W diford she e 3 YO

<0
241 ..:5: zmmmlmhm[q,:}mﬁi
Y flx) ={ ~(x*+1)

™ By ¢ ot f(x) =0 P.T.O.




G, Answer Part A OR Pan It

Part A

(a) If¥e = ~3y-1 T 4, yo=1

(i) Solve the difference equation.

' q country is 12.5 x 108, The birth
" rale is 004 4,
-‘u

s 0,03, and 21 arrive i1 the country each year. Wil 2,
mwimmreptﬂﬂﬂﬂﬁwnﬁhﬂﬁmnnﬂmlwnm .
5 the populsi iz,
ﬂ'rﬂstﬂd}’smﬁ'?
f=?-f!ﬂdﬂ:—ﬁm

(b) Find th:u'ﬂufthtmgimwldﬂdb}’dlnmw

_-;'::-iallli.l'fz.

ﬂmhﬂﬂ{ﬂﬂﬂmmﬁ:

{'l‘:lﬂﬁ:i':"3:i’:-: 4, yo=1 %
(:}ﬂﬁﬂmﬁ“ﬂﬁi‘"ﬂﬁm
[ii}ﬁ“‘ﬂ”*m“mﬂmm#hﬂﬁ “’"ﬁﬂw
mrli'ﬂﬂm
(@) fzsuﬂﬂuﬂmﬂmﬁﬁmmamﬂl
am B
{mnﬂiﬁ‘mm“ﬁﬂlmlmnﬂ.whﬂﬂl.ﬂitﬁﬁf
ﬂﬁﬂ.ﬂﬂ“ﬂﬁh“m*mhmmﬂﬁwﬂ”ﬁ’
ﬂaﬂmﬂmmw
m"";;

'-‘!'ﬂ'm*
_ ,?.__quﬁx-#{::--lm _;
e x=2pmHRMET
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R |

Explain any o of the following -

.l',jh |
(a)  Prove that balanced budget multiplier is equal

(b)  What are the functions of Money,
(¢)  Explain using diagram the *Paradox of thrift

(@)  What is the difference between Gross Nationa| Incom

and Net National Income ?

frefotan 4 @ fordl @ 3 wmen Wi ;@ |

(@) WWﬁ?ﬁﬁrﬁIﬁmeqﬁ
*W‘ﬁmh'

&) T F - 4 ¥
© Y g o & g b
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aﬂtmaﬂﬁﬁsﬁmmﬁﬁﬂl

Wﬁmﬂmﬁaﬁﬁﬁqﬁ;ﬁmﬁaﬁm
ﬁq-ﬁm!.'l

(@)

(b}

(@)

()

Explain the circular flow of income in four sector
model.

Calculate the national income with the following
information :

GDP at market price = T. 500 crores

Indirect taxes = T 60 crores

Subsidies = ¥ 3{1 crores

Net factor income from ahmad = 3 100 crores

Depreciation = ' 200 crores 105
ﬂﬁ@'ﬂ'ﬂaﬂﬂmﬁaﬁﬁ?aﬁﬁﬂmﬂ

ET.O.



( 4 ) q
1 @ Determine the equilibriym leve|
- of s,

apgregate demand and aggregate o,

put ,

; : P,

the help of a diagram in g 1, ik
0 B

M

(b)  Given
C =100 + 0.8 Y,
| = ¥ 250 Crores
G = ¥ 250 Crores
T = ¥ 100 Crores
() Calculate the equilibrium jevel of GDPp

(if) If the government expenditure increases 1y 3y

what will be the new equilibrium level of GDp

(i) Calculate the tax multiplier. "

@ T R mrmm Y @ g s §

() ﬂimﬂqﬁfﬁ
C"“‘}‘Fu.g?

d

1= ¥ 250wy
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E,tplam he consumption function and savings function.

of diagrams. If
what will be

£xplain their relationship with the help

consumption function is C =30 F 075 Y,

the savings function 7

stment mulupher Given the cnnsumptiun

] Explain inve
the increase in Iew:l

@ T
Wlm{ﬂ]ﬁm

. |
ﬁﬂw ﬁﬂﬁﬁﬁmﬁnmﬂlﬁ

wE
<™
PT.L.
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6. What is net export functjon 2 Exbfain Wit .

: he
the factors responsible f, the shif p

function, e,
W e wem s §) iﬁrﬁqﬁ%
frafa wer %Fﬁ'ﬂmﬂﬁﬁmwf
TR TR

7. Explain how do commercial banks crea, credit

banking systems 9 Suppose there is a fregh deposit g1y

in banks and the legal reserve ratip s 0.5. How mys &

total deposit Creation ?

253
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iiite your Roll No. on the top immediately on receipt of this question paper,;
Attempt five questions in alf
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“Egonomic Development is 3 broader concept than economic

srowth.” Explain. What 2r¢ the factors that determine economic

87

development ?

ET.O.




E

4,

i i (1 ) Y
Discuss the causes of rural unemploymen : | 1
; Ing
|"1- . I
Hy

review the policies taken by the governme
. Nt of |

Nidiy
the problem of rural unemployment LB

mﬁmﬁm%ﬂwﬂﬁwqumf
mmﬁﬁmﬁmmﬁ¢%%
meﬂﬂﬁﬁﬁﬁﬁﬁﬁwwm%

“The relationship between population growth and e
: . o

development is two sided.” Explain the statement in the j,

. . : Ight
of India’s experience. 4 I
“reem gfg W@ ofdE fawm F dm fu
ey 31" yRdg ovE % WREE d W O §
o FAT

Examine the relative importance of internal and external sources
]

of financing five year plans in Indi.a.

g B i demed # fafem @ GO L
am T F wRfeE wem g wEw A0
How is human capital different from human davelupmﬂ“r'l

ccﬂlﬂ['ﬂu"i

How can the process of human capital formation be @
(h

in an underdeveloped economy 7
Y

ArE T W fgg @

| _ A o R o €

aﬁrﬁ'ﬂ.ﬁ:ﬂ e g frfn 9T
| B I P

g
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1991.
8,7

mic reform measures undertaken during

il

i their impac
7. Ly

fwlﬁwﬁﬁﬁmﬁﬁfﬁmniimmh
Mimﬂﬂﬁmquqﬁmqﬁm

A

lain major recommendations

4in the econd
t on Indian economy.

of the Fourteenth Finance

EXP
Commission of Indias 15 |
o § deed fm e w W fmiell &1 Ao

FAT)
Write short notes on any
ftatEn W A ﬁﬁﬁg”i - dfea - oot fate

en urbanization and economic’

two of the :fm\-:rwing .: 75,15 -

(a) Interrelationship betwe
development
g ad AdE
a4

g & ad TER

role of Finance Cummiﬁsinn in India

(c) QOurces of savings in India
A # a9 & 96

of sustainable development.

(b)

M3
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(c} All questions carry Eﬁlu;l mar
af uet B e T el i
thod of measuring
L Eﬁﬂlﬂi:l iialhceﬂ ;:tl:’“;tﬂ;ﬂ the problems facig
ation :
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2. (a) Distinguish between -

oy W Ff .
(i) Gross Domestic Product
National Product, ang Crey,

T Y INE T T
. E'g'ﬁ' e
(i) Gross National Product & N - :
Product Tedng]

(iiij Natonal income at current price ang |
national income at constant prices

g FHT W UG 99 a7 &

FHa W TEE IH
(b) An economy is characterized by the
following data : 6 |

U sEEEEn & [Aeeraa e &
C=%20crore + 0.8Yd Yd=Y-T
ITERT : 2050 +0.8Yd  Yd=FEF
I =% 200 crores

frasr : 7 200 F03

G =¥ 90 crores

U #7190 FS

T = T 80 crores

T : T 80 HlT
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calculate :
Fa BTG
Equilihrium level of income &
consumption
dgfera oF 99 ITERT W &I
(ii) Value of Multiplier

JRIEAC i
What is an investment multiplier ? Explain the
process of multiplier using diagrams.

(i)

15

ﬁ%ﬂgﬂﬁfﬁ&mﬁ%?ﬁﬂm%ﬁaﬁm
# gerewer qur o & S T |

on of equilibrium level
tor Keynesian model.
ur at the full

15

Explain the determinati
of income in a two sec
Does this equilibrium always 0OCC
employment level of output ?

F gy "Ed B0 i

i 1
. the demand for Money:. 5

() '; % @ e i
9 P.T.O.
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6. How do commercial bankg Create
multiple banking system 7 What g, Creg; i
of Credit Creation ? lim

it&ﬁﬁn
amﬁa%aag%mﬁwmf
T8 Al o g oy, b

7. What are the main objectives of mg

policy ? Discuss the main too]g used Ee?hq .
e

Central Bank to achieve thege ”bjﬂﬂtivﬂg

15
e AR S go1 TR W At ) g
% @ A AN A s B

o)
amﬂ%ﬁﬁi

_ | |
8. Write short notes on any two : i

5l & 9T it R ferfen
(a) Balanced Budget Multiplier
qgfora Sere o

(b) Circular flow of Income in a four sector
economy,

Wﬁiﬁﬂaﬁfaﬁmﬁm%mﬁﬂm

(€) Speculative Demand for money.

maﬁ“%ﬁmgﬁrﬁﬁ?m

4 FPatald
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1. Define national income, Briefly ,

. 3 Xbla:
various methods of estimating ngy; Plaip, ,

Onal j, &

m

2. (a) What is meant by marginal prop ensity
consume? Explain briefly the determing;
of propensity to consume. 10

Faig ITET ggfa | oY FT aEem ¥
sosieT sgfey & FfRa ol & 989 4 o
I |
(b) If C = 100 crore + 0.6Y
afr C=100%T$ +0.6 Y
Write |
(i) the corresponding saving function
% orpey god wo B ME
(ii) calculate the value of saving when !
= 800 crore
=Y = 800 FirT —

3. (a) Using Suitable diagrams, explﬂiﬂ thE{
dﬂt'ﬂrmln?{i(}n of Equlllbrlum ].E‘."'El 0
national incop, . in an open ccnﬂﬂﬂl};

5|
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) calculate the equilibrium level of income
| and consumption from the following data :

6
erfafaa ofipsl A g ™ TF ITART
F T SHE Hiog -
¢ =100 crore + 0.8 Yd (Yd = disposable income)
9T = 100 HAS +0.8Yd  (Yd = AT 319
] = 80 crores
fas = 6. 80 HUS
G = 60 crores

e =g = 6. 60 FUE

T = 40 crores
FT =F. 40 HUS

{, Explain the concept of investment multiplier.
How is it related to marginal propensity to
Consume ? Briefly explain the various
leakages in the multiplier process. - 15
o <l ST =1 ZrEAT IR | q6 A FUHIT
Srafet q qeT GaE & 7 QO dhar
e frad =H =TSl it |

o5 the importance of money in g

5. la] Distﬂ
m[}dﬂm
e A tived

s es oldin

(b) Explain e 5
mﬂnﬂféﬁﬂﬂ%ﬁqwaﬁiﬁﬁ[ﬂﬁh
! 3

P.T.0.
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6. Explain the Process
commercial bankg C
create unlimited amo

Erﬂ .
Crp U

g |
i
T,

Policy. Briefly discuss the ing¢, Mu“‘*tar

: Umep, *
Monetary policy used by the Centry E::

i

8. Write short notes on any two : T

B @ 9 Rufrt e -
(a) Quantity theory of Money
T B IR Ry
(b) Net Exports Function
TS Py gy

. . of
(c) Nationg] Income 48 an indicatorl
Ecunnmjc Welfare

T@ﬂm,mﬁmarﬁqmwm
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i Section 1 condidites haye |, Mhey
u Ipl

anly fhie questions which carry 04 Marks g,
iy Section C candidates have 1o atteny
anly one question which carries 15 Marks
g WA H dF WU A, B wE ¢ §
ave A & | g afyerd #
am wedE T 10 enﬁ H B

avep # A firft WS T B 3w A

o T o8 S 7 b

e cd § At Tt W Fw IW A,

(e)

W Y 15 S AT
Section A

(@Ug A)

for a year are given ag -

T
ax Revenye = Rs. 94¢ Million

Non-T.
4% Revenye - Rs. 105 Million

81 = Rs. 20 Million

dgel
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n‘,qinvfil“‘lﬂ“‘ = Rs. 10 Million

pevenue Expenditure = Rs. 1,503 Million

Capital Expenditure = Rs. 160 Million
Calculate :

() Revenue deficit
(if) Fiscal deficit.
() Write short notes on the following :
(i) Cunsul.‘.ﬂ;ated fund of India

(i) Outcome. budget
222

nﬁﬁqﬂ:aﬁaawiiﬁsﬁaﬁﬁﬁﬂm
_%mw'mﬁﬁ“ﬁ?:

(iii) Demand for grants.

(@)

PT.O.



(&)

(b)

(4)
Tl AT
() Wfﬂ'ﬂ
(i) wﬂﬁﬂh'mi
ﬁﬁ%@ﬁﬂﬁwmm:
() WRa w HfEa fify
Gy fomd T
(ﬁﬁ e )

- Write Sﬁm‘t notes on .thﬂ following :

()  Current account deficit

(i)  Invisibles,

(iif)  External commercial borrowings.

Suppose in an economy the transactions with B¢

~ of the world are given as :

Exports = Rs -;Eﬂ Million |

Imports = Rs. 570 Million |
Invisibles (net) = Rs, 75 Million,
External Borrowings = Rs, 40 Million

FDI (net) = Rs, 60 Mf]ll:ﬂn

- portfolio Investment (net) = Rs. 130 Million



(1 - 2507
Calculate :
()  Current account dt;.ﬁ:it
() Change in foreign exchange reserves. 22

o W e oo fofEn

(a)

() T @l Hd

PTO.
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~ Section B

(@ B)
Expl.ail‘l the process of preparation of the Unjg, Bug.
India.
g § =19 T9e &l ﬂ’ﬂTﬁ w1 Wi
Hifoy | |

i
 What do you understand by fiscal federalism in India 7 [ p
g # o g @ e o ¢
Explain the economic classification of the Union Euldgﬂ. F
ﬁﬂmﬁmﬁﬁﬁﬁmﬂﬁm'aﬁﬁm
What do you understand by .JAM-prepal‘edness index ?
e s § i b2
What are thr; key provisions of ‘Paris Agrf_-emg-nt' ? :
‘e SR TS YENA w € 7 !

wWhat steps have been ta.h:nl_in India to counter environmen
degradﬂ.ﬁnn :

Wmﬂﬁqﬁﬁmwﬁaﬂ*
#eq o T ¥ 2

 p— Ly
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(7) 2507
ol e changes in India’s merchandise trade in recent
e ;

,ﬂmﬁmﬁ%aﬁﬁ@m~wﬁqﬁaﬁqﬁ
@ i

what do you understand by ‘skill gap® ? Discuss the initiatives

ken by the Government of India to bridge this gap. 8
s e & o w7 5 e
.qﬁiﬁammﬁmmﬁmﬁﬁﬁﬁ |
FHIfT | . | |

| Seetion C

(@us )

Discuss the trends of health . dicators in India and analyse

in Human Development Indicators in

8,7

 PTO.
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(8)
12 Explain in detail the recommendationg Of fhe
- F’-'HJTL
Finance Commission. N | |
ke fom omm w fawiie 55 foreem o
| | |
3. JAM is helpful in increasing the ,eﬁici;ncy of the 2OVerny,

-~ schemes. Explain how ?
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(c) Attempt any five questions.
fs=dt drar gl @1 g9 ¥

(d) All questions carry equal marks,
g«l geHl & of% Tue ¥

1. What are the different methods of

’ . meaﬂu[in
national income ? How are these Methos d oy
related ? B

ml
?1+?I
g ol
w@qmﬁrﬂmﬁaﬁﬁﬁﬁﬁrﬁﬁw%?ﬁ o
fafear & f5a me @ ey ¥ 2 L (e
2. (a) Discuss the saving-investment approacht

the determination of the equilibrium level

of income,

2 I

2

T B & faior it gea-fe
fafer apr % %%I‘QI |

(b) Let the consumption function be given by

C=200+0.6Y, I=100, where I is investment

and Y is income in Rs crores. Der

Savings function ang find equilibriu™
Income using Savingsg- Investment apprﬂach.

|
"
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o AT B ST BT C=200+0.6Y T
edgr 12100 B TRY 1@ B, Az 97 H)
cad B B A BT qUT FEa Ay
LReBI0T H FETA | TG S Y T H |

fxplain the process of credit creation in a

aultiple banking system. 15

@ﬁ-ﬁ%ﬁﬂaﬁwmaﬁmaﬁ
AIAET |

la) How is rate of interest determined ?

10
mﬁﬁﬁﬂmﬁtﬁﬂﬁ@ﬁ%?

b) Explain the impact on interest rate of a
15

Frefafiga & Aftad & qfromEEaEd AN &%
qy qe+ g JEE o et | AU
(i) change i the price level

£ T # =Eend
Gi) change in the level of national income
11

3 P.T.O.
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5.

(2l

(b

Derive the expression for Bajan,
Multiplier with 2 lump sum 1,

-
-y P
s
-

-
-
g
ol bR
e T

Let the comsumption function be given s,

c=100+0.8Y, T=10, =50, G=30,

Where | is investment, G is governme:-

expenditure, T is tax, and Y, is disposab:

income in Rs CTores. |

Find the equilibrium level of income

Calculate an comparc the levels of ne:
1) W i s by X

equilibrium income (i)when T marea;em_m

crores and (i) G decreases by 2

wl
1=50, G=50 W& = /@ & A
ar #ifm | Prefafas fafod J
() 57 TH 20 w7s #t g o
(i) GH 20 Fhz o fae &

4



v

a) perive the equation for equilibrium output
for an open economy |[four sector model].

2852

p

71
2

o Gl ovderaRe (IR-Ue Hisw) B3 ard
SOIE ¥ THIETET AT I |

(b) Let C =30 + 0.80Y,, T = 50, I = 60, G =50
and NX = 50-0.05Y ; where C-consumption,

[-investment, T-taxes, G-government

expenditure; all in Rs crores.

(i) Find equilibrium level of output and net
export balance at equilibrium level of
output.

(ii) Which has the greater effect up on an

economy’s net export balance : a change

in autonomous domestic spending or a

change ip autonomous net export of the
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g sforg C = 30 + 0.80Y,,T = 50, 1«
- 50 @m NX = 50-0.05Y w&f C

| fRy, T, G W& &g mﬁ

sqar 7

(i) mﬁwmﬂmﬂ%mﬁ-{m
g fafa dges s @i |

(i) srferaen & Faa P dge 5 5
a1 aRtadd eI gHIfed #Rar § s

R T § 9RFdT A1 @Wraa Fraw fafk
g gUET AET B 9REaT ?

F}'I]I .

A,

7. Let the consumption function be given by
C = 1000 + 0.6Y,, T = 400, I = 500, G = 300
where I is investment, G is government
expenditgure, T is tax, and Y 4 1s disposable
income in Rs crores. Show the equality of
leakages and injections by calculating the value ‘

0 f
(a) leakages, and
(b) injections. 7.5,7.5

T S B S e e a4 0.6Y, 8 T

=4E‘D,I=5{}GJG=3{}U L ﬁ
ETH%,TQT{%WYGETI §,G

ﬁﬂﬁU(ﬂ)ﬂ'ﬂTﬂfzﬁ} ﬂmﬂmﬁrwﬁﬂ%
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. Write Short note on any tWo of the following :
7.5,7.5

refataa ¥ & B & g ditre femferdl faie
) Import Multiplifer

FE IO
(b) paradox of Thrift

Taq & AT
(c) Quantity Theory of M
&1 A gireer ST

(a

oeny

7 200
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4.

Distinguish hetween the concepts of econam
e

wecmomie development. Discusas the T Er-.“
) ';"l...11

charscterize an economy as a d“"'“l'ling o
2 4ol

ecONOMY

wits ofy 71 wfis frem P By | g,
by mtniﬂwﬂmﬁfuﬁm 1
» whz w3 ¥ FEEa w2, B o Afm

How does population growth hinder economic deve|,
in India? Discuss the measures that have been unde:;
in India to check population growth?

wra # e ofy s fee w Sa wkE w2
o = & fg v ¥ B e IRl @ s A

Examine the relative importance of internal and exte

sources of financing five year plans in India. (

v ¥ vuadin A & fw seafs vd T A 8
wre W gftwor #ifA |

What were the conditions that warranted the need of Indi

economic reforms of 19917 Discugg (pe rma:o features
the New Economic Policy of 1997 (5,1



3 wchn IS TR W w Ak
thlmmﬁ?l‘?ﬂﬁﬂi Eﬁﬁ%ﬁﬂmﬁ-@rﬂﬁﬁﬁ

(
ihat are the causes of poverty? Why have anti poverty

rogrammes not been able to achieve desired results in
;-imdia? - (Srlﬁ)

R R ¥ 7 W X TR PR e S afe oo
n'mﬁiﬁmaﬁf#ﬂ@\

1k
- j Highlight the Terms of Reference and major recommendations
' of the Fourteenth Finance Commission of India. (15)

N ¥ 1 R i A R R () T R
W yEm

|
nal

|5}
}u the reasons for 10

 India?

TR .
| immﬂuﬁmmmf?mi

. T REm P & =y o ¥ 7
TR 9 p A
afl aotes on any two of following :-

. e short
a gire &
o inable Development

cced as iﬂvﬂﬁtmﬂﬂtﬁ? What are

! nnelis A %
How are savings cha ate of savings and investment in
T
""’ (6,9)

gustd

Y
pdriny P.T.O.

-
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(i) Reasons for low rates of capital formati,,, |

i fy,

- . E . 4 . ‘-t

(1) Relevance of economic planning in Post | {
1

falj,

India

(iv) Deficit financing (%
2::-_'}

Fefea % @ fedl @ W W Ronh #fw .-
(i) urvig fawm
(i) wra ¥ don fefor & ey o & @ o
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questions are compulsory ang ., 4
equal marks. :

Hﬁg&ﬂmngm%%1

) Use of Map stencils is allowed.
C

W@W%Wﬁﬂﬁqﬁ%

Describe in detail Weber’s Theory of Industral
location.

Yerr & AT TaTa Ry @ e |
FITT |

2. Discuss plantation farming with spec
reference to any one of plantation Crop:

T &

jal

E

OR

Hergr 4
Write a geograph; .
imdustry in 1;1'1;1::::'I “l,.gi'lldﬂccﬂunt of petrﬂﬂhﬂmlﬂﬂl

e = Uy
T e i A

2
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piscuss manufacturing regions of the world

e AT SRt # oavtE it

OR

arerar

Discuss commercial grain farming with special
reference to wheat.

ﬂ@%ﬂﬁzﬁﬁmﬂfﬁmﬂfzﬁﬁﬁmaﬁ:

Write a note on the modes of transportation
with special reference to sea and air routes.
T ArgArn 5 ffrse dedf # A H
et ax o |

OR
FHerdrn

uss e patterns of international trade on
DiscC

thEhaSi
aﬁ.mﬂﬁmfﬁﬁaﬁ%aﬂﬂﬁmwﬁ@n

ﬁ'ﬂ% e @ fEaer df

s of regions specified by W.T.O.

3 P.T.O.
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5. Write notes on any two of the fﬂll{]wing |.

Rr=fafag § @ el & 9T Ol s
(a) Factors affecting location of industrieg
ST @ STafeaRy @ THIAT FA AR ey

(b) Components of information apq
communication technology :

(c) Commercial Fishing

AGANAE A8l 9
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(a) Indicators of economic growth
(b) Sources of Capital tormation
(¢) Inequality and poverty
(d) Objectives of fiscal policy in India.
MeferEs & § R @ w e fro T
(a) 3fefs gfg &  GE]
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(c) THAHAr ot e
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(ii)Attempt any five r.]lu!Ht.hum in ol
e arg wed afn |
(iv) All questions carry equal marksg.
gt el & o gHe ¥
¢ Descrfbe the c?c:-minant historiographica] treng
associated with the study of Early Modery,

Europe.

g oyfaE g9 & mwﬁgg;rg@
=f¥Er a@T & Tarel H gu BT |

What do you mean by the term ‘Feudal Crisig’ 9

2!
What were its dominant causes ?
‘TrEE TS W ATIHI T a9 & P FTH Gae B
geq o1 41 g 7

3. Discuss the features of Renaissance in Europe.

How were they represented i1n the art &
culture of the time ? |

g H ST P AT BT ATET DY | AHEHEA
FoSA ud Hephy # T e g e gu !

4. The spread of Renaissance in Europe was rapid
and decisive. Comment.

T & gaeer # FER §g o frofas or-
feooft =% |
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5. DIBEI}EE the various kinds of Reformation

16df g 174 M F oy
: 7 FE gHgHE
Gﬁmﬁﬁ%ﬁﬁﬁmmﬁ%‘ﬂ?ﬁﬁqt

T
What were the motives that were

res !
- ponsible

the early colonial ventures in 15% & 16
century Europe ?

154t ug 1641 srrsdt & g9 & sifrs argfyders

I #i g & -
e o1 -2 & e Prdar

What is meant by the term ‘Price Revolution’ »
Discuss its impact on early modern Europe ?
geg Hitd W o P B 7 e Ty
gig H g6k 9ed & o= HmO?

Explain the shift in the economjc balance of
power from the Mediterranen tg the A

tlantjc
region in the 16" century Eurnpe ? ’
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ant historical views relateq

9. Describe the domin
m to capitalism

to the transition from feudalis
in Europe ?

g § araaE @ e £ o gL THAT 3
<Fer arge & I e ot HL?

10. Write short notes on any two of the following :

(i) Christian Humanism

(i) Counter Reformation

(iii) Martin Luther

(iv) Michelangelo |

rfafga § @ el @ X 93 feoqoft feTRET

(i) @ drFa 9=
(i) wfer gHga
(iii) =T T
(iv) FTEERCTA
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hat are the salient fﬂah_:res of Indu.?triathﬂIicy
1. (8) osolution of 1991 regarding small business’
& P. T. O.

_,.ll-l-l'_:'::

D 1 & .
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1

Ay = & v o Wil iy, My
e (etwad qay @) LT

(b) Write a detaild note on NSIC "
NSIC W fysqa (ool iy |
Or (-9

“Governments in India  have been Promatis :
Entreprencurhsip to  deal with  (he problem ;;
uncmployment.” Elaborate the steps taken by the
Government to boost ‘start-ups’ in order
cotreprencurship.

1

Lo promote

g

“ARd WER VIR H WA H A T F fay
Jaftar W wWadq & W 1" 3wl F owady o
‘start-ups’ & TUT ¥F TR yAEl & i Ffg)

1S

Z Explain the functions of the [ollowing towards
encouragement of small enterprises:

(a) SFC’s

(b) SIDC's.

oy Iufraedl & ada & fag F & GFacd

HHARY;

(a) SFC's

(b) SIDC's. 8+7
 or(zmm)

Write short notes on:



()

3
Gﬂvernment-l’rivatc Sector

|,.-p
Bo3g

8+7

3. Explain - maij '
Exp Mmam - sources of finance for a smay

entrepreneur. Discuss the rol '
e of SI in fi i
the small scale industries. i iy

&

HITT | w7 gaa;ggﬁaﬂ;a;ﬁﬁm%mqsmmaﬁ
AfeeR & aviT F B

i Gr_(m: ﬂl an

Comment on ‘product-and procurement reseryatjop
-policy’ for small scale sector-

g dr & forg 3 AT ST AR 31

| 15
| functions performed by testin
line | E
4. (a) F:;:awﬁes- N
a
-5 W ERIE T - T
! E

functions £
: the Periormed by by-produ
w‘hﬂ‘fﬂ{: ess development Centres? = .
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4 -

R038
1
e 4 8 2 -;
Or (319=)

Discus Various Industrial Policy Resolutions of i,
Government  With special  emphasis
‘Entrepreneurship and Small Business’.

mﬁtaﬂwﬁaﬁﬁfﬂﬁﬁﬁﬁm%
ﬁfﬂﬂaﬂ%ﬁ'ﬁﬁﬁﬁmﬁmaﬁﬁm\u

on

15

5. Write the role, functions and scheme of NISEBUD.

NISEBUD & - e, f‘arqmrﬁ St A &
gui e | 15

Or (&)
Write short notes on the following:

(a) Export Promotion Council
(b) Commodity Boards.

@y feufirl fafee
(a) Prafa Fadd 9REs
(b) FoI AL L
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Write short notes on:
(a) SFC
(b) Commedity Boards.

Wy Rl {&raT:
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1. (a) (1) What are forward rates? Iy :

S - Oke the i |
principle to derive the r“"mula o ﬁfﬂnan.1-‘.
. .

forward rate. How does the Btk 4 On

=g it
justify the use of the Comparisop e

tl}'f

ar
: Bum
pflnﬁip]t? %

(i) E:::pIain the concept of yie|d to maturi (147

(b) What is duration of a portfolio? Yoy are

. i manﬂging
portfolio of $1 million. Your target duration

and you can choose from two bonds: a 2Zerg

bond with maturity of 5 years,
currently yielding 5%.

~Coup
and a PErpetuity, ¢,

(1) How much of each bond will you hold
portfolio?

in yo

(i) How will these fractions change next yﬂarl
target duration is now 9 years? (443

(c) (1) Suppose that you take out a four year loan

10000, The bank requires you to repay the o
evenly over the four

years. Suppose the rate
interest

is 10% a year, Find the annual payme

that is sufficient to repay the loan, What is !
interest paid for the last year? (2542

(i) Give the expectatiq
'S explanation of the ¢
structure,

(2
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Wﬁaﬁﬂﬂlwaﬁmﬁam%qﬁm
e & foR T R @ ogwm @ g
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g 0

i) g & IY9 FEAURTT H AR
; ﬁwﬁﬁa&mwélmﬁﬁﬁmﬁ#m
; 3 srae ety 10 9§ & Fw A9 A

Al ﬁﬁgﬁqﬁiﬂmilﬂlﬁﬁ

=
i‘ﬂmﬁqﬂj Eﬁﬂﬁmﬁi%ﬁqmﬁ'ﬂ%l

=1 a1
AL Ll

T‘ﬁﬂﬂéﬂ}ﬁﬂ

aﬂ%". ﬁyﬁmﬁmmﬂmﬁﬁﬁm

iy

P.T.O.
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2 “” What 15 spol rate 11 set of FAGRT Py h
1 LT
unavailable, show how the spot (u, i thy "
; YR & =
5 u i " Iﬁ
determined from prices of coupon Deating by, "y
Uy

1878 4

{1
(b) What is immunization? Explain the Concep,

reinvestment risk, (42

(c) Calculate the present value of an annuity that beg,
payment one period from the present, paying ay g
A each period for a total of n periods. How does 1

answer change in case of perpetuity? (5.2

i

{a]ﬂtﬁwilwﬁaﬁwmmmmsi
e @& we ® =% N wow @y O D
FuiRe e o e #

(¥) v = 31 iR AR & s w R |

(@) v i o adfoer e e i @ b o o
E A H AR B R W wE o o ® fg v

Al A A W WA W ) o s ® gl ¥
=¥ wReffm v 2

3. (a) (i) In Markowitz Portfolio Optimisation Model, |
efficient frontier of risky asset must necessat
include the *special portfo]jg hay

ing least varan
Elaborate.
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418
(i1)

(b) (1)

(11)

(c) Suppose there are n i
in one, Oor an

Il'El'tlI'Il

are

of

What 1s the notion of an idey| bank? (2.5)

Find the duration D and the modified duration D
M

Pays an amount A at
the beginning of each year, with the first

of a perpetual annuity that

such
payment being 1 year from now. Assume constant

interest rate r compounded yearly.

Consider the cash flow stream (=200, 100, 100, 100)
when the periods are years and the interest rate is
10 percent per annum. Find the future value of the

cash flow stream. (5,2.5)

ncorrelated assets. You may invest
y combination of them. The mean rate of
.« the same for each asset, but the variances
15

. return on ith asset has a variance
different. The

. L I T Find the minimum-variance
d_i fﬂr | l:r g "
1

(7.3)

point.

()

Waﬁﬁﬁmmﬁ.ﬁmqﬁ‘mﬁ%
O am & ‘R FEARD R e e
;mq@qﬂwmmﬁi
} qﬁmﬁﬁaﬁﬁuﬁwwiu

(i

P10
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mﬁqﬁﬂﬁﬂ‘!ﬂmﬂ}wl'@hmqﬁ i

‘Aﬂﬁrmﬂmﬂﬁmﬁr,ﬁmn_

(@) (i)

ﬁwrﬂﬁy%=mﬁ131rﬂﬁrﬁ|

g T 4T (~200, 100, 100, 100) =} R =
=grar <¢ 10 Wi g af 2

ly correlated, it is more difficul
d there may be a lower limit t

ically. (7.9

4. (a) If returns are positive

to reduce variance an

what can be achieved. Show mathemat

(b) (i) Give the investment implications of CAPM?

g? Discuss how the nptimal sel

(ii) What is short sellin
out

differs under short Sﬂlling a8 cﬂmpargd to Wlth

short selling. (2.5,1+4) &

(c) Discuss how CAPM pricing formula resembles the
pricing of a fixed income security like zero coupo”n

bond. (7 5)



-

I:‘."'S 7
{Eﬂ gie HIE““EI AT -ﬂ'mﬁ]‘ﬁ i' T WA 'ﬂ?' T W

g T A T g o @ e @ R wr
o wEHA B T v ¥ fewm

@ (i) CAPM % Pw Bt =t wama

(i) o= R == 21 R =t f5 2 T wE R
I A N e X aew Rl ¥ s B R

(@) fad=T =X & 93 CAPM #irm Wi v fer s i
F FE D GEE B B W I T wie

(a) (i) In the Capital Asset Pricing Model, explain what is
meant by beta coefficient, B, for a security?

(i) Consider a world with only two risky assets, A and
B, and a risk-free asset.

Stock A has 200 shares outstanding, at a price of
300 per share, an expected return of 16% and a
olatility of 30%. Stock B has 300 shares

anding, at 2 price of 400 per share, an expected
- of 10% and a volatility ¢ of 15%. The
tion coefficient pAB = 0.4. Assume CAPM
iculate the following :

Dut 5

retud

holds: Co
(} Expﬂctﬁd return of the market Pﬂrtfﬂlia
1

ﬂlaiilit}r of the market portfolio
v

(i)
P.T.O,
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(iii) the beta of each stock

(iv) the risk-free rate. (1151”“%[)

2878
(b) (i)
(ii)
(c) (i)

(ii)

What is diversification of a portfolio?
Suppose Ravi decides to short 100 shares of s '
of a company. This stock is currently selling f

Rs. 100 per share. Ravi borrows 100 shares fmt
his broker and sells this in the stock market
receiving Rs. 10,000. At the end of 1 year the prige
of the stock dropped to Rs.90 per share.
buys back 100 shares for Rs. 9000 and gives
shares to his broker to repay his original loan. Whal
would be the rate of return for someone wig
purchases the stock at the beginning of the yeal

and sold it at the end? Explain how shorting benefi
Ravi. (2.5,2.5+2.3

What are index funds? How does it serve as Ui

one fund?

The correlation p between assets A and B is 0

and T, =10%, T, =18%, o, =15%, o, =30%. (1) Fif
the proportions @ of A and (1-g) of B that defl
a portfolio of A and B having minimum gtandd
deviation. (II) What is the value of this minim

standard deviation? (III) What is the expfr‘-‘f’:
return of this portfolio?

(3.52
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5 0 CAPM HSa & et i 3 s wwd ¥
Wﬁ.ﬁﬁﬂlwmﬁﬁ%mﬁ

9

=% A ® 200 T B Tt o 300 Wi 3,
S SR 16 S @ sRa o 30 wRe
2l

ﬁﬂﬁmsnuﬂm%ﬁﬂﬁaﬁﬂadnunﬁﬂm,
A wiawe 10 e wo FfdEr o 16 Wi
3, e O 04 #1 W B CAPM FFE 9T

3 @ Rl @ TR R

N T
(%) (i) ﬁﬁﬁmﬂ%ﬂm%mu%ﬂtﬁﬂm
(5) ::ﬂﬁmg.ﬁm#qﬂ?%mnﬁmmﬂmi
Hﬂﬁﬁﬂmﬁﬁﬁmnnnmﬁmm#u

P.T.O.
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Wﬁﬁﬂﬁiﬁﬂﬂaﬁﬂﬂ%ﬁmﬁa
2l

aRamf A @41 B & W FEEEdl p,0.17%

7. =10%, T, =18%, 0, =15%, %% =30%

(1) AR o@wm BF (1) FAIE A R
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qRvifee et B
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Attempt
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\itempt any five parts |

Explain the concepts of

change ip quantig, o
alm:d

and change in demand.

What is the difference between a POsitive ang ,
0T mat;
ve

statement 7

#) Explain why two indifference curves don't i i

other.

wy  Why the economic cost of a firm may be higher .Em

its accounting cost ?

‘) Explain why is a monopolist’s marginal revenue less than

the price of the .good ?

v} Why a firm in a perfectly competitive market faces 2
norizontal demand curve when the market demand cune
5 negatively sloped 7

7 A i % 3w G

o - - e b ﬂ'ﬁ

O HF wen # ofeady qan wm # o
e EFPIfTrrq|
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[
Em
-

rE T WAE ¥ 4w omw E 7

(il

TR T F HFd

 gFdl § 7

) mmﬁwﬁmﬂmmmaq
FH FMa 4 F9 F o T 7

oy Pl T o W A A
¢ wafF SR ® AT 9 AT @S
@mgraﬁ,mﬂiﬂ'ﬂ

()  Why does the society face the trade-off between Elﬁcien:.;}

F-\J

and equality ? Explain. 4

- (i) The market demand and supply curves of a commaodin

¥
are given by Qdﬁ 90 — 6P and Q" = - 20 ~ 4P respectively.
' Find the elasticity of demand and the elasticity of supply
i b
o gquilibrivem: ' 2

PT.O.



(@) * Distinguish between a “substitute” gpg Ao

@

(i)

(£if)

5 ll-‘l

i
II'||1""1'I|'|L'|
1

of a good. What will happen 1o e equility
iy

I-l'{|

and quantity of commodity ‘X' whep both,
L LS r,h
o

of its substitute and the price of jis Complemg,

1-“I
simultancously ? lllustrate all the possible Changges

3 Usip

suitable diagrams. .

wﬁawww%mmm
TR F R T ¥ 7 e i

foreil =g I SR A W Y ww: f =gy
a9 Q° =20 + 4P 3 T 1 T Y sveven iy

- H A A ofd e 9w wite)

I R
‘%mmmﬁmia@x#ﬁw
%wwﬁmwﬁaﬂqmﬁﬁﬁﬂﬂ
ﬁ‘iﬁwmtﬁaﬁsﬁiﬁaﬁﬂﬁww

T W ST @ 3 weEm @ w9

E W gwin
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(i)

(iif)

- T 1

why the members of the Organization of Petroleum
Faporting Countries (OPEC) could successfully increase
the price of oil by reducing its supply in the short-run
put failed to keep it high in the long-run 7 Illustrate

using diagrams. 5

The demand and supply equations for cricket balls are
given by Qd = 500 — 8P and Q" = - 10 + 2P respectively.
Find the cquilibritla-m price and quantity of cricket balls.
Assume that now the government imposes a fax of
Rs. 10 per unit on the buyers of tim crickn;:t- balls. Find
the price pﬁid ‘I:-},r buyers, received by sellerls andithe
quantity sold and purchased in, the market after the tax.

Who is bearing the larger burden of the tax, buyers

or the sellers 7 ]

E:r.i:rlain how the binding price floor affects the market

outcome. 4

0 mmﬁﬁwﬁmm

¥ smee = @ T 6 ?ﬁﬁiwmaﬂ%
E‘Imﬁﬁl

P.T.O.



i
: .
; ( 6 )

.'.rLl
g ate B fO A A YR e,
-

"l
£ gHi ?‘ Q" ~ 500 - 8P TW )

”] | ;|F1|

o T Wi EE W AW AW b g gy
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(i) wammﬁﬁnﬂ_w%q&maﬁﬁgﬂ

g guad HEl § 7

Explain the relationship between size of the tax and the

4 (1

tax revenue using Laffer curve. What happens to deadweight

loss when the size of the tax increases? If the deadweight

loss of taxation becomes equal to total surplus, how

much will be the tax revenue ? b

; ; : : ; arisé
(i) Why the economies and diseconomies of scale may @

2 3
in long-run ?
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) Complete the following table if the AFC at | unit ol
(1
pn:rducliﬂn is Rs, 60. : 6

' ¢ TvC TFC AVC  ARC ATC MC
utpt

I

I % :

, 106

i’ 120

s 138

s 162

7 M

3 264 :

;a}mﬁﬁmﬂmﬁmﬁﬁ
mﬁmaﬁmﬁalﬁﬁﬁ
Wa@ﬁ%fﬁaﬁmﬁﬁﬁﬂ'm%'

i ﬁqﬁﬁﬂ?ﬁﬁﬁﬂlaﬁﬂﬁ.wﬁﬁﬁ
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44"
(fif) ﬁmﬁﬁaﬁmﬁ@ﬁﬁ|mm

Eﬁ :ﬁﬂqﬁ W ISINGH {AF{:J ﬁﬂm %__

( 8 )

ouput ~TC TVC  TFC  AVC  AFC apc M

| a0

2 106

3 17
4 120

5 135

6 162

7 203

8 264

() How does a consumer choose an optimum point o
consumption on his budget line ? If the price of 00
X is Rs. 36 per unit and the marginal rate of substitt®

) ; . (]
(MRS) is 3 then what will be the price of good Y

: ) er
optimum level of consumption for the consu™

| , ol
(Assuming that the quantity of good X is show

- horizontal axis and Y on vertical)
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Assume that initially Rita has to choose between 50 hours
of leisure or Rs. 10,000 of consumption per week. What
is her hourly wage rate ? Show her optimal choice if
she decides to consume Rs. 6,000 per week. Illustrate
using diagrams the change in ﬁ_nur& -':::f leisure and -
consumption_ if her wage rate increases 'hy Rs. 50 per
hour and her 5ubstirﬁtinn effect dominates over the income
effect. 7

What will be the shape of indifference curve when both

the commodities are perfect substitutes to each other 7

Explain, why. 2

o s a9 YA W I W g
p—— A . L
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(i) Wﬁwmﬁmm%,mw
maﬁ?qpﬁmﬁ%wﬁmml

i

(f)  The market price nf' a face cream .is Rs. 50 per upi
At short-run equilibrium in aqcnmpetitive market a firm
is earning an economic profit of Rs. 10,000 by producing
500 units. Find average total cost and the marginal cos:
of the firm. Will the firm continue to earn the same profi
in long-run ? Show the short-run and long run equilibrium:

of the ﬁrﬁ‘: and the market.

(i)  Does a monopolist produce the socially efficient quantit
of output or a deadweight loss is created ? Will perfec
price discrimination prﬁcticed by the mﬂnﬂpﬂm

maximize the social welfare or not ? Explain using suitat!

diagrams,
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R F OFW F AR 50 T w7
¥ ol W AR # o wd s00 g
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What is natural monopoly ? Explain' using examples. Why
a natural monopolist cannot be forced to charge a price

equal to its marginal cost 7 Illustrate using diagrams. 3

Explain and show why the value of marginal product

of labour curve is the demand curve of labour for a

firm 7 5
How is the purchase price of a factor different from its
e of

rental price 7 Explain the change in the rental pric

a factor if the supply of other factor, used in production,

increases, 3

P.TO.



(12 ) oy

my

o T TEIER TR D S A gy o
gﬁmml'@mmﬁ
Wm%waﬁﬂﬁa@%aﬁﬁmw
T8 fea w1 WEM 7 mﬁﬁmﬁ
e Fi

Gy @ w WO W A o gy
TR T TF Th W B A osmowm
T & ?

Gip fEEl WER W wHG wEE B W @ R
ﬁﬂ'm'ﬁﬁﬁ?'qﬁmﬁuﬂaﬁ@ﬁ
EUGE L e I | R O o
fFmd =1 ®iwa | F ufed w7

2734 | 1 " 1000



-y
H‘ o paper contains 7 printed pages|
i : ¥

i qﬂfﬁ

| Rell No.

| of Question paper : 2996

i

" paper Code 12275303 HC

it

< ofthe Paper . Money and Banking
Lin®

o of the Course - GE for Hons. : Economics—CBCS
Lester i

ration : 3 Hours Maximum Marks : 75

| i vour Roll No. on the iop immediately on receipt of this question paper.)

¢mw$haﬁﬁmﬁqmﬁﬂfﬁamﬁﬂmaﬁmﬁﬁ—rm 3]

4 — Answers may be written either in English or in Hindi;
but the same medium should be used- throughout the
paper.

T —2H YY-F 1 SE st ar fesl fRE T e

'ﬁﬂm;ﬁﬁﬁﬂﬁﬁﬁmmmﬁﬁﬁm
afeq)
Attempt any five questions.
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i () What are the l.f'lﬂ]"lgt}g in dE]

i -'|-rI
0%itg. E"'”*‘-Hr_-

and the money stock for

Rs. 1.00.000 ? The required Féserve ragi, « - of
is |

the desired excess reserye ratio js 5 Perp
€
desired currency o deposit ratjqg is

(&)

() the money supply is exogenous, ang

(@) the money supply is endogenous. i

(F) 1,00,000-F9F Ft Gl IR famt fom o
T, HE N T S F ufgdy T T
HATYTF STRIET 9 10 Hﬁ?ﬁ aifea st
ARFe g s wfawra a=n wifoq w3t @ 9
AT 25 ylawa ¥

(@) fod 9% g 73 9 ™ @ SR %9 3
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(a)

(b)

-8 9 2996

How does the "Problem of Lemons' influence the

pnancial structure 7 What are the various tools to solve

this 11['1,‘31'11;:'!“ !

Discuss the major causes of financial crisis in the context

of adverse selection and moral hazard problem. 7.5+7.5

e e fanita wE A 39 gt

F@ T ? W Ul W T w0 ® fou
G T aER E ) |

TrF wd R wfarm v @ ged § ey
T H Y@ HRON H S wifen
Explain the risk and return characteristics of options

when the option price is Rs. 3 and strike price is

Rs. 100 in the fulldwing cases :

(i) In

the case where investor has long a call option.

(if)

In the case where investor has short a put option

Di : obti
fferentiate between an options contract and a futures

Contract,
8+7
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1 (@) What do you mean by financial instruments ? Whay

are the various categories of financial insirumem 0

() Discuss in brief the recent money market reforms in

India. 87

(%) fadfa swweol | o9 wM owWem ¥ 0 fe
STFRLON & faiy= Fifear #=1 § 7

(@) 4Rd § 9 Aifgs TR gui &1 G4 4 @
FIfaT |

o ; d
(a)  Explain briefly the expectation hypothesis. How €0t

- ctation
future interest rate he_Fﬂrecasted using EXpt

hypothesis ?
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Iﬁll quppose the investors prefer one-year bonds to two-
| @

:rl! vear honds and will purchase a two-year bond if they

I expect an additional 4 percent over the return from

holding one-year bond. Currently, one-year bond yield
is § percent but the investors expect the yield to fall

o 4 percent next vear,
() What is the yield on two-year bond 2
(if) fs the vield curve up-ward sloping, flat, or
i sloping ? - 1045
(%) sifem gfweT & wad 7 favofsa wis
srafera ofteea Eﬁ‘d‘tﬁfm Fa gu ufass =19
0 B FY e fEm oW wwa ¥ 2
(m)ﬁmﬁﬁéﬁfﬁ?w—aﬁﬂa‘rﬂgmﬁam
| ufaf wfrEE 1 STAM w1 SaAd W
TFH-E dve 5 gfer U9 T GIE R RIEERES
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FAA T
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H SR T 7
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2 by Discuss the structure of financial systep, in
M,

) i Belwern mone / ]
r1 () Differenlisle hetiwee ctary and Higuidip,

"Ry
of the third working group of Ry o

I I
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7 (a) “There is a conflict between interest rate apg
; m

supply as an intermediate target of achieving obie.
Ulecy

of monetary policy.” Which of IhE_ two, do you ;
mn

is the better and why ?

()  What are policy targets and INstruments of Moneg
policy ? What are the problems associated gy m'

~operation  of monetary policy ?

(%) % A 3 Twr 3 w7 7 2 oy =
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write ot neles onany fwo of the following
1 : |

Operating procedures of monetary policy
pasel 111 nomms for the banking sector

i Financial markets.
7.5t7.5
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Attempt all questions.
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(b)

The consumer monthly income (Y) iS— R!i,_ 1
your demand (Q) is for 10 units of apple. [t Yo
monthly income increases (Y;) to Rs. 2000,
demand increases (Q1) to 18 units of apple. Wy
will be income (YY) elasticity of demand for apple
IudieR WIfEE A (Y) 1000 ®o 3,
(Q) 10 T ¥ Ht 2 | R 9 Wi
TGH (Yy) 2000 Fo & FMG 2, HTH win

(Q1) lamﬁﬁa#ﬁrmﬁénﬁaﬂﬁn
AT A= T4 A ? 7.

Or (g

Find arc elasticity of supply if price of mango rise
from Rs. 10 to Rs. 20 per kg and supply increas
from 7 kg to 10 kg in a month.

afs uw wEA § am F w10 Fo A ag @
%o 9 frell @) W ¥ ek wed 7



T A 71 AT | |
s, when price of Pepsi is 20 Rs. per 1tmlt e
I and for Coke is 40 bottles. If price of

for
Pepsi MSCH to 25 Rs. per bottle, then demand

Coke goes up 10 50 bottles. What will be the cross
i
clasticity of demand for Coke?

o difoe o 9@ Y @ Qw20 ®o S &
maﬁ’iﬁi'ﬁwmﬁﬁﬁﬂﬁlm‘m*
0 & g TG 25 Fo Wa Aaet & AW ¢ A HH
U & gty agEt S0 Wad @ ST € | HIE KA

hj ) M (cross) AT =41 B0 2 75
el

++; How does Slutsky’s approach differ from Hicksian
= approach? Explain diagrammatically. '

5 {5 FEam wew & gfeam 4 fFg yR fas
17 t@fe g wwem | 15
- Or (Agd)

‘What is budget line? What is its slope? Explain

o1 consumer’s equilibrium with the help of indifference
curve
a :

jmmm%?mwmg;mﬁﬁ

Explain the Law
of Vari .
applications. ariahle Prnp:}rlmn and jtsg

15
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(Y | MYTHT,

) Fxplain Social cost. Opportunity cost any
“'1“
ALY

HYHATED |

(8) Eaplain the relationship between AC 449 M
with the help of diagram.

ey # gewal 8 AC U@ MC a“ﬁﬂa{l
HaAET | 74

apnf a #MA, AHL A uA gl gf s, 1

4. Explain short run and long run equilibrium undey
monopoly market.

wﬁnmﬁagmfﬂwﬁémﬂuﬁma
HHATRT | I
Or (3YdT)

Distinguish between perfect and imperfect competi

tion. How are the prices determined in perfec
competition?

@ﬁ@ﬁmﬂmmuwmﬂf
U i &g war far 22 I

>- (a) Define Oligopoly. What are its characteristics?

TSR H afomfyn wifon | geE A
¢



(b) Explain diagrammatically  the concept ol

Economic Rent.
affs @TH S EMIOT A i g
wuensd |

Or (379dT)

(a) What are the causes for the existence of
oligopolistic firm in the market?

Wﬂaﬁﬁ?ﬁﬁmﬁﬂmﬂm%m

gy | 7.5
(b) Explain factor price differentials. What arc its
kinds?

FRF Hed faveHl B WA FHH T
2?2 . -

For Visually Challenged Candidates Only.

Attempt any five questions. Each question
carries equal marks.

1. Explain factors affecting elasticity of demand and
elasticity of supply.

ﬁﬁﬁﬁﬁ?ﬂf{ﬁaﬁﬁﬁaaﬁmaﬁmﬁ
FHE H TAAET |

). (a) What are the properties of indifference curves?
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. What are

fs

E BRI ﬁE‘TJT 1 7

(b) Explain the income ang

Ts
Hl..lhﬁ[il].lti{_'.
the indifference curves. " Ol ith
SR 9% F Wy g AR Aferrogmes g%%‘
HHARY |
15 |

- Explain Price Consumption

Curve (PCC). Deriye l
Demand Curve from PCC. %

T ST R (PO
A= ST

ﬁWIPCCﬁqﬁ%‘

Explain the increasing,
returns to scale.

aﬁ,ﬁmﬁ"{ﬂzﬁgﬁﬂnﬁ%uﬁmﬁ
HIHRT |-

constant and decrﬂasin

isoquants? Explain  the
equilibrium with the help of isoquants.

FAEHIFale 0 2 sgeiTaiz 9 wewa & s 3
HA S THIAET |

producers

Explain the characteristics of the perfect competition
market. Differentiate between the revenue curves
under perfect competition and monopoly.

o St Ao W e @
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|7 What i Monopoly? Explain deadweight loss under

Monopoly.
wapfr @ 2 veifkER % Il gl ur E

! UGS |

K, What is Oligopoly? What are the causcs for the
existence of oligopolistic firm?
sireftiraret @ar 82 sfrefirafeates wd ®t faird
% &0 ¢ 7

9. Write a note on Demand for factor and Supply of

[actor.

m%ﬁunﬁqﬁmaﬁmﬁfﬂﬁw
faf@ay |
9 Write short notes on any [wo of the following:

(a) Product Differentiation
(b) Concept of Excess Capacity
(¢) Shut Down Poinl

(d) Prisoners Dilemma in Oligopoly.

et A @ fedl @ T HEd feoqoil hIfST
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Explain productive and Hlogagis,
T s g |{: Pf .
competilive mode], Fie

DR
Explain :

(2) Non excludable hy rivalroyg Zoods

(b) Public goods and policy Prescription.

Tiﬁ:ﬂﬁﬁﬁ‘ﬁ?ﬁ'rﬂ‘m&hﬁﬁlm
FfoT | "

=E Ehifere
(¥) g frg fYd W

fﬁ}wéaﬁﬁrmﬁaﬁtﬁ’rﬁnﬁﬁfﬁ?ﬁm

2, (a) What is Advance Authorisation Scheme? i

basis of issuing Advance Authorisation on th
self-declared norms and Eligibility Conditions
Advance Authorisation for Annual requireme

(b) What do you mean by Service Exports fT‘_
Scheme (SEIS)? State the Eligibility ad
Categories under Service Exports from [nd:
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() jhﬁﬁﬁﬁfﬁﬂﬂﬂ-ﬁﬁ fafAae

(b) What 2r¢ the different compo

paymeuts? Discuss.

OR

(a) What is foreign
exchange ratc different ir

the causes of the cha

(b) What are
the

In this connection discuss

ghill In the dema

exchange.

() s A9 R
e |

exchange rate? How
om the flexible exc

nd and supply curves

nents of the halance of
(5+10)

ig the fixed

hange rate?

nges in exchange rates?
factors which Jead to @
of foreign

(10+5)
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HIfay |

5. (a) As per the Forcign Exchange Managemen l

claborate the following terms {
(i) Authorized Person ; ]

(i) Capital Account Transaction

(iii) Currency
(iv) Current Account Transaction

(v) Foreign Exchange

(b) Elaborate the Current Account Transactions

Foreign Exchange Management Act, 1999

OR




7861 7

(a) Describe the Capital Accoun I'ransactions

1 under the
Foreign Exchange Mn:mgmm.-.nt Acl

| 960
(b) Discuss the provisions of the Foreign Exchange
respect to
and repatriation of foreign exchange,

Management Act, 1009 with the realization
(10+5)

(=) T o Wy s 1990 2 TR Pl w0
Y T

(i) witgs =
(i) Ui o - B

(ii)
f:v} faedt qar

(@) fReh e ey sffe 1990 @ sl A @ oe @
ﬁ%ﬂﬁ%ﬁﬁﬂrﬂﬁﬁ?ﬂl

T

(%) faddt wer e affaw 1999 & e < W e
Ui I |

. T.0.
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“‘il:

(b) Define Micro, Small and Medium Ent
Erpr

per Micro, Small and Medium Enterprise 1
. 8¢ Dey

Act, 2006. Discuss ‘the salient featur -
€3 of

Act.
‘

OR

(a) State the Power of the Central Government 1 1,
ixe

Industrial Undertaking without Investigatigy
gection (18AA) of Industries DE"-’ElﬁpmgN‘

Regulation Act, 1951,

(h} Give an n.!,‘.rgr'l..l'iﬂ\\-' I:}f the Current lndUSTri.E.l E

. Statement 1991.

() I wRRuRdl = Iwa e foms s sl
st Rfyorr sffETs 1951 UK 18A T W o
I & YU sy FrEw By WO W T L
Ut 1BA (UMD 153)#-‘31’3%31‘[‘&@351%51&?
ff A #i |

(@) gﬂ,é\%aﬂtmaﬂﬁqﬁ,w,ﬁ?\%aﬁ?wm
P 2006 3 FeEw, R A W A
o Fawas # R HikK
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OR

What is Special Eeonomic Zones (SEZs)? What facilities
or incentives are available to SEZ? State the benefits and

disadvantages of SEZs. (15)

() s Wt Ao Bt # 7 e fw S, s afden
sramrEar B fe afie Wit W et & g degar adt
# FuR W Aw bR W0 S & R @ e

ity |

(@) v | dar- T g (SEIS) ¥ oI war awend & 7 MR
¥ F57- FRgla g & SEtE 9T @ s AEl &1 I
Fifog |

ST

Ffe sifde S (SEZs) w1 Bl 8 7 SEZ S @ g
aﬁrﬁwﬁﬁqﬁﬁrﬁﬁr??mﬁ%waﬁ?mﬁﬁraﬂmﬁ
oy |

(a) State the circumstances under which the Centra]
Government may assume Management or Control of an
Industrial Undertaking under Section (18A) of Industries
Development and Regulation Act, 1951. Also discuss

the effect of Noti ; : y
v ified Order Under Section 18A ( Section

o
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